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ITPOAOI'OX

H mtuylaki pou epyacia anoteAet tTnv kKopudwon Twv
oroudwv pou oto T.E.l Zeppwv, TUAMA MnYXovIKWY
MAnpodopLknC Kal amoTeAeL epyaoia Epguvacg , LEAETNC Kall
Kataypadnc mou meplypAdel avaAUTIKA T GALVOEVA TWV
XNUIKWV QTTOTEAECUATWY TOU NAEKTPLKOU PEVHUOTOG LECW TNG
QVATTTUENC EVOC EKTTALOEVUTLKOU TIALKETOU oK oWV oto Matlab.

210 MPWTO KePAAalo SlveTal Lo CUVOTTTIKN TtEpLlypadn yLa ta
XNULKQ ATTOTEAECOTA TOU NAEKTPLKOU PEVMATOC KOOBWC Kal pLo
LOTOPLKI OVOLOKOTILOT YLO TOV NAEKTPLOUO. 210 SeUTEPO
kepaAaLlo Sivetal pia cuvormTikn meplypadn oto reptfailov
Tou Matlab kat mapouvoialovtol avaAuTIKA Kol OL TPELC
aoknoelg. TEAoG, oto Tpito kepaAlato divetal oAOKANPoG o
KWOLKAG TNG EPAPUOYAC TWV EKTIALOEUTIKWY OLOKACEWYV OTO
Matlab.

Oa nBeAa va Toviow ToV XapoKTNpa TNG Epyaciac auThC KoL va
ETILOUUAVW TOV OKOTIO TNC. Zadwe N LEAETN pou otnpixbnke og
ETILOTNHOVLKA KELUEVA, OUWE TO KUPLOTEPO UEPOC TNG Epyaciag
QUTNAC oTNPLXONKe oTNV TPOKTLKA EPOpUOYN KAl OTNV
uAoroinon Twv acknogwv oto neptBailov tou Matlab pe tnv
urootnpLén kat tnv PorBsla tou K.AtootoAou Koulpoukidn.
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EYXAPIXTIEX

H oAokARpwon auThg TNG MTUXLAKAG UAOTIOLONKE e TNV
UTTOOTAPLEN EVOC apLlOBpoU ATOUWY O0TOUG omoioug odeilw va
EKPPAOW TIG OepuoOTEPEC ELXAPLOTIEC poU. MpwTa Ao 0Aoug
Ba nBeAa va euxaplotow tov eriBAEnovra kabnyntn pou, K
AtréoToAo Koulpoukidn mou pou €dwoe tnv eukatpia va
0.0XOANOW LLE TO CUYKEKPLUEVO QVTIKEIEVO KaL yLa TNV
EUMLOTOOUVN KAl TNV adpLlEépwon TMOAUTILOU XPOVOU WOTE Val
oAokAnpwOel n epyacia autn. Ev cuvexeia Ba nBsla va
EUXOPLOTOW TNV OLKOYEVELA LOU YLOL TNV OTAPLEN TOUC UALKNA
KOLL TTVEULOLTLKN YLla TNV SLEKTEpaiwon Twv ortoudwv ou Tou
glxe oav amotéAeopa TNV OAOKARPWON TNG NMTUXLOKAG ALUTAG.
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Ke@aiawo 1

e Baowkr) Oswpla NAsKTPLOUOV

1.1 Iotopikny Avackonmnon
H perétn tov niektpiopon €xer 11¢ pilec tov o€ Ul wopaTHpnon
tov oA} Tov Mufowov (~600 m.X.): 'Eva  wouudtt HAektpov mov
tpifetarl og ENPo VPAGU EAKEL UIKPA KOUUATLO GYLPOU.
H perétn tov payvntiopov apyiler amd v mapatnpnon (dyvooto mote
Y0 TPAOTN EOPA Kot amd TOoV) OTL HEPIKA GUGIKA OpLKTA (HoryvnTitn)
€Akovv 10 Gidomnpo.
Ot dvo KAadoL avarmtvyOnkav Eeympiota péypt to 1820. ToHte Yo mpdTN
eopad évag emothyuovoc [o Hans Christian  Oersted (1777-1851)]
mopatnpnoe  me  oxéon  petad  Toug: €vac NAEKTPOPOPOS
ay®yog emnpedlel o poyvntikn PBedova. H mapatipnon ovt évooe
TOVG OVO KAAOOVG GE Evay VEO, NAEKTPOUAYVNTIGUO.
O «Addoc avtdg avamtuyOnke TéYIOTA TOVG EMOUEVOLS 2 OUMVEG KOl
cvveyilel va avortiooeton kot 6tov 21° audva.
Metalhd TtV KOPLEAI®Y EMOTNUOVOV MOV AoYOANONKaV pHe TOV
niextpopayvntiond Mrav ot Michael Faraday (1791-1867) wou TCéug
Kiepk  Mda&yovel (1833). O  televtaiog  SWOUOPOMOOE  TOVG
vopovg (OnNAad” TIC €EI0MOEI TOV MAEKTPOUAYVNTIOUOV, TOL  &ival
Yvootéc pe v ovouocio eElomcelg Tov Maxwell. Oswpovvial t060
Baoikoi Yo tov Hiektpopayvntiopd, 66o kot gkeivol tov Newton yia
Mnyovikr). Av ko o idog otmpiydnke, @uoikd, ot epyocieg TV
TPONYOVUEV®Y, OUVEBOAE 0 1010 OMOPAGCIOTIKA KOl KUPLOAEKTIKA
Beperiooe to véo (oyetikd) ovtd KAdoo g Duoikne. Extog tov aAlmv,
TO GUUTEPAGLA TOV OTL TO PMGS EIVUL NAEKTPORAYVITIKIG QUG (v Ko
apyotepa  amodsiyOnke 0Tl €yel kol WOOTMTEG  VANG), £EVMOoE
0LGLUOTIKA Ko TV OnTikn 670 "dppa’ Tov NAEKTPOUOYVITIGLLOV.
O e€lomoeic tov Maxwell diémovv ™ Aettovpyio OAOV TV GLGKEVOV -
EPEVPECEMV TOV TEAELTAIOV CIOVOV OV OTOTEAEGAV EQPOPUOYEG TOV
HAextpopayvntiopod wor pe ™ popen ¢ Omtikng:  xuwvnmpec,
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NAEKTPOVIKOL  VTOAOYIOTEG,  PAdOP®VA,  TNAEOPACEIS,  POVTAp,
HUIKPOGKOTL0, TNAECKOTLO, K.G..

BéBow, n avantoén tov HAektpopayvnriopod dev teheimoe pe TOV
Maxwell. Xnuavikny Mrov 1 ovpPorr] tov mopakdto (Kot Oyt
uévo): Oliver Heaviside (1850-1925), H. A. Lorentz (1853-1928), Heinrich
Hertz (1857-1894). O teAevtaiog, ékove T0 €mOUEVO UEYOAO OAUO. LETA
tov  Maxwell:  dnuovpynce 1o mpoOTO Ppoyéa  padlOPOVIKG
NAEKTPOLOYVNTIKG KOpOTA, TTOV ovopdotnkay "kopata Maxwell ™',

H Poaocwn povada pérpnong g ocvuyxvotntog ToV MAEKTPOUOYVITIKOV
Kopdtov (kor Oyt povo) ovopdotnke mpog Twn Ttov Hertz ko
cupPoiriCeton diebvirc pe Hz (1 Hz = 1 s™). Ot eElodoeig Maxwell oyt
uovo cuvveyilovv va epapuoloviot Kot CUEPT Ko GE TTOAAOTAG TPAKTIKA
wpofAnuata, oAAG Kol ypnowwomombnkav oo Pdon o€ po GEPA
EMEKTACELS TOVG, HE TNV 10€a OTL ivan TUUO (oG yevikdtepng Bewplog
TOL VO EVOVEL Kl ALOVS KAA0VS TG DVGIKNG, 16MG Kot OAOVG,.

1.2 HAektpikod Pevua

To Hiektpko pevpo ivol 1 TpoGavaToMoUEVT Kiv|oN NAEKTPIKOV
QOPTIOV N POPEMY NAEKTPIKOD POPTIOV, KOTE UNKOG EVOG NAEKTPOPOPOL
ay®yoV. Eva mapepoepéc @ovopevo givat to peOpd LETATOTIONG,
TocOTNTO, TOV OYETICETAL e TNV OALYT] TOL MAEKTPIKOD TTESTOV.
Metpiétor oe HOVAdES LETPNONG TNG EVTOONG TOV NAEKTPIKOD PEVIATOG
KOl avVTIoTOLYEL € 0TO vl LETARAALOUEVO poryvnTikO Ttedio.

ATO TOV 0pICUO TOV NAEKTPIKOD PEVLOTOC TPOKVTTEL OTL Y10l VO
epeaviotel yperalovion 000 TpoimobEcelc:

o Hdmapén popémv niektpikov goptiov pe erevBepio Kivnong.
o Afl110 Y100 TNV TPOGOAVATOAGUEVT KIVIION TOV QOPE®VY, dNANOT KATO10
NAexTpiKkd medio.

To péyebog mov peTpd To NAEKTPIKO pev U Elval 1) évTacT Tov
NAEKTPLKOV PELNOTOG, TOV OPileTal MC:

I=dQ
dt



https://el.wikipedia.org/wiki/%CE%97%CE%BB%CE%B5%CE%BA%CF%84%CF%81%CE%B9%CE%BA%CF%8C_%CF%80%CE%B5%CE%B4%CE%AF%CE%BF
https://el.wikipedia.org/wiki/%CE%9C%CE%B1%CE%B3%CE%BD%CE%B7%CF%84%CE%B9%CE%BA%CF%8C_%CF%80%CE%B5%CE%B4%CE%AF%CE%BF
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Anhadn évtact Tov NAeKTPKoD pedUATOC eivat 0 puOUOS O1EAEVLONC TOV
NAEKTPIKOV QopTiov amd TN datoun evog aymyov. [To anid, oe
GLYKEKPIUEVO YPOVIKO OACTNO TEPVAEL OO TN SLUTOY] TOV Ay®YoL
niektpikd poptio. H évraon tov niextpucod pedpatog delyvel m0co
QopTio TEPVEA OTN LOVEADIQ TOL YPOVOV.

To péyebog etvar povopeTpo, aALd emmAéov £xel @opa (Stdvooua) amd To
onpeia ynAod dvvoptkov oto onueio yapunio dvvapkot. Metpiétot
070 01EBVEC cvoTNU LoVAdwV 6 Aumep A (Yollkd Ampere) Kot
Oempeiton OepeAidone povaoda.

Yrapyovv dGALot 600 TPOTTOL LE TOVG OTTOTOVS LETPATOL TO AEKTPIKO
PEVLLO, 01 0TTO101 £YOVV GYECT LE TNV KOTOVOT TOV 6T0 Y®po. To
NAEKTPIKO pevUL UTopel va, Stoppéet Evay LoVoOldoTaTo aywyod, Lo
EMPAVELD 1] LLOL TTEPLOYT] TOL YDPOL. LTIV TEPITTWOGCT TOV PEEL EVAV
Ay®YO YPNCUYLOTOLEITOL KAVOVIKA 1] EVTOGT] TOL NAEKTPIKOD PEVLATOG Yo
TN UETPNOT TOV. TNV TEPIMTOOT TNG EMUPAVELNS TO NAEKTPIKO PEVLLOL TN
dlappéet Kotd PETOTO GV ATEPOL LOVOSIAGTATOL OLyMYOL Vo, EXOVV
oLYKevTpmOEel 0 £vag dimha 6TOV AALOV KoL VO £XOVV GYNUOTIGEL LUd
emoeavewn. TOTe ypnoyLomoleiTaL 1 EXPAVELOKN TUKVOTNTA NAEKTPIKOD
PEVUOTOG, £va. dtovuopaTikd péEyefog pe katevbuvon v Katevbuvon tov
HeETOTOV G€ KAOe onueio g empdvelng Kot petpdror o€ A/m.
AvtioToryo 610 YOPO YPNCYLOTOIEITOL 1] TUKVOTNTO NAEKTPIKOD
PEVUOTOG, Kol oVt Elval dtovuopatikd péyebog e katevbovvon v
KOTEVOLVGT] TOV NAEKTPIKOD PEVLOTOC, HETPATOL o8 A/mP.

1.3 0 Nouog tov Qu

O Nopog tov Qpu (ota Ayyiika Ohm's Law) cuvdéer tnv Taon,

Vv Evtaon kot v Avtictoon. Yrdpyovv 600 vopot Tov Qu, 0 VOUOG
TOL QU VOLYTOV KUKAMDUOTOG TTOV OVOPEPETAL GE OLVTIGTATT) KO O VOLLOG
TOL QU KAEIGTOD KUKADUATOC!

Avoyyto Kokiopo:

‘Eoto évag avtiotdtng avtictaong R, otov omoiov epapuoletat dtapopd
dvvapukov V kot o omoiog dwappéetan amd pevua I. H évtaom tov
peoportog I etvarl avédrloyn g 010popdc SLVOLIKOD LE GLVTEAESTN
avoroyiog 1/R. X1 pofnuotikn YAdoso ovth 1 6o YPAQETIL:

=V

R 6mov R o1afepd
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https://el.wikipedia.org/w/index.php?title=%CE%A6%CE%BF%CF%81%CE%AC_(%CE%B4%CE%B9%CE%AC%CE%BD%CF%85%CF%83%CE%BC%CE%B1)&action=edit&redlink=1
https://el.wikipedia.org/wiki/%CE%94%CE%B9%CE%B1%CF%86%CE%BF%CF%81%CE%AC_%CE%B4%CF%85%CE%BD%CE%B1%CE%BC%CE%B9%CE%BA%CE%BF%CF%8D
https://el.wikipedia.org/wiki/%CE%94%CE%B9%CE%B5%CE%B8%CE%BD%CE%AD%CF%82_%CF%83%CF%8D%CF%83%CF%84%CE%B7%CE%BC%CE%B1_%CE%BC%CE%BF%CE%BD%CE%AC%CE%B4%CF%89%CE%BD
https://el.wikipedia.org/wiki/%CE%91%CE%B3%CE%B3%CE%BB%CE%B9%CE%BA%CE%AE_%CE%B3%CE%BB%CF%8E%CF%83%CF%83%CE%B1
https://el.wikipedia.org/wiki/%CE%94%CE%B9%CE%B1%CF%86%CE%BF%CF%81%CE%AC_%CE%B4%CF%85%CE%BD%CE%B1%CE%BC%CE%B9%CE%BA%CE%BF%CF%8D
https://el.wikipedia.org/wiki/%CE%97%CE%BB%CE%B5%CE%BA%CF%84%CF%81%CE%B9%CE%BA%CF%8C_%CF%81%CE%B5%CF%8D%CE%BC%CE%B1
https://el.wikipedia.org/wiki/%CE%97%CE%BB%CE%B5%CE%BA%CF%84%CF%81%CE%B9%CE%BA%CE%AE_%CE%B1%CE%BD%CF%84%CE%AF%CF%83%CF%84%CE%B1%CF%83%CE%B7
https://el.wikipedia.org/wiki/%CE%97%CE%BB%CE%B5%CE%BA%CF%84%CF%81%CE%B9%CE%BA%CF%8C_%CE%BA%CF%8D%CE%BA%CE%BB%CF%89%CE%BC%CE%B1
https://el.wikipedia.org/wiki/%CE%91%CE%BD%CF%84%CE%B9%CF%83%CF%84%CE%AC%CF%84%CE%B5%CF%82

[Ttuxlakn epyacio s Mapiag ABavaciov 2017

O vopog avtdg pmopet vo epOPUOCTEL Kot GE AVOLYTO KOKAMLLOL LLE
TEPLGGOTEPOLS avTIoTATES. OVo100TIKG Be®POoVILE Eva 1GOOVVOO LE TO
APYIKO KOKAMLLO OVTIGTATY) LE avTIoTOoN TETO0, MGTE VoL £XEL TNV 1010
GUUTEPLPOPA. LLE TO OPYIKO KOKAMLAL.

[Tapdderypa epoproyng vopov:

o Eopapuolovpe pia tdon 2V ota akpa piog avtictaong 4€. I1oco stvon
TO PELULA TTOV SLOPPEEL TNV AVTIGTOOT;
I=V/R=>1=2/4=>1=0.5A

e  Mio Aduma wov tvon cuvoedepuévn oe pio pratapio pe téon 6V,
dwppéetor amd pevpo 60mA. I16co givor | avtictaomn g AAunog;
R=V/I=>R=6/0.06=>R=1000

o Mia avtiotaon 1.2KQ dwppéetar and pevpa 0.2A. ITow eivor 1) Tdon
oTO AKPO, TNG;

V=I1*R=>V=0.2%1200 = 240V

Kieiotd Kdxhopa:

Xe autVv TV mepintmon Bempovue OAa o eEaPTHUATA TOV KUKAMUOTOG
uoli pe v myn. 'Eoto 1 cuvolikni avtiotaon 6A®v Tov eEapTnUatmy
(e€apovuévne e myng) R, n ecwtepikn avtictaon g Tnyne t,

N niektpepyeTikn dvvaun e tnyns E kou I n évraon tov niextpicod
peLLOITOC TTOV drappéet To KOKAwUa. ToOTe 1oyveL:

I =E

R+r



https://el.wikipedia.org/wiki/%CE%94%CE%B9%CE%B1%CF%86%CE%BF%CF%81%CE%AC_%CE%B4%CF%85%CE%BD%CE%B1%CE%BC%CE%B9%CE%BA%CE%BF%CF%8D
https://el.wikipedia.org/wiki/%CE%97%CE%BB%CE%B5%CE%BA%CF%84%CF%81%CE%B9%CE%BA%CE%AE_%CE%B1%CE%BD%CF%84%CE%AF%CF%83%CF%84%CE%B1%CF%83%CE%B7
https://el.wikipedia.org/wiki/%CE%97%CE%BB%CE%B5%CE%BA%CF%84%CF%81%CE%B9%CE%BA%CF%8C_%CF%81%CE%B5%CF%8D%CE%BC%CE%B1
https://el.wikipedia.org/wiki/%CE%9C%CF%80%CE%B1%CF%84%CE%B1%CF%81%CE%AF%CE%B1
https://el.wikipedia.org/w/index.php?title=%CE%97%CE%BB%CE%B5%CE%BA%CF%84%CF%81%CE%B9%CE%BA%CE%AE_%CF%80%CE%B7%CE%B3%CE%AE&action=edit&redlink=1
https://el.wikipedia.org/w/index.php?title=%CE%A3%CF%85%CE%BD%CE%BF%CE%BB%CE%B9%CE%BA%CE%AE_%CE%B7%CE%BB%CE%B5%CE%BA%CF%84%CF%81%CE%B9%CE%BA%CE%AE_%CE%B1%CE%BD%CF%84%CE%AF%CF%83%CF%84%CE%B1%CF%83%CE%B7&action=edit&redlink=1
https://el.wikipedia.org/w/index.php?title=%CE%97%CE%BB%CE%B5%CE%BA%CF%84%CF%81%CE%B5%CF%81%CE%B3%CE%B5%CF%84%CE%B9%CE%BA%CE%AE_%CE%B4%CF%8D%CE%BD%CE%B1%CE%BC%CE%B7&action=edit&redlink=1
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[eprypamn g xpMons tov voprov Tov QU 6€ NAEKTPIKE KUKADLLOTOL:

To NAeKTPIKA KUKADUATO OTOTEAOVVTOL OO TIC NAEKTPIKEG GUGKEVEG
OV GLVOEOVTOL LE TO KOADOW (1] BALOVS KaTAAANAOVG aywyovg). To
TAPUTAVE® O1GypOULe TOPOLGLALEL Eva amd TO ATAOVGTEPO NAEKTPIKA
KUKAMUOATO TTOL UITOPOVV VO KOTAGKEVOGTOVV. M10 NAEKTPIKT) GLGKELT
napovotaleTonl Mg KOKAOG e ta oupPoro (+) ko (-) o TepUATIKA, TO
oToi0 VTITPOGMOTEHOVY LU0l TTNYT TAONG, OT®G o pratapio. H GAAn
ovokevn eppavifetor oav éva cvpporo Cryklax (AyyA. zigzag) ue to
ypaupa (R). Avtd 1o cOuPoro aviumpoommevel £vay avTIGTATT, KoL TO
(R) vodewcvidel v avtictact| Tov.

To Oetikd teppoTikd g mnyng Taong (+), cvvdieton pe Eva omd Ta
TEPUOTIKG TOV AVTIGTATI YPTCLUOTOLOVTAG £VO KOANDOO OUEANTENS
avTioTOONG Kol HEC® 0TOV TOV KAAMITIOL £va

tpéyov pevpa (I) vrodetkvoetorl 6e o SEVKPIVICUEVT KATEVOLVGT) OOV
epeaviCeton pe éva fEAog. To GALO TEPUATIKO TOV OVTIGTATN 1) TO
QPVNTIKO TEPUATIKO TNG TNYNG TANC (-), cuvdéeTan Le Eval OEVTEPO
KOAMOL0 KOl GTNV GUVEYELD LLE TNV AL GKPT| TOL OVTIGTAGT).

Me o010 10V TPOTO SIUUOPPADOVOLVLE EVA TANPES KOKAMO ETEOT OAO TO
PEVUOL TOV OPTVEL TO BETIKO TEPUATIKO TNG TNYNS TAOTG (+) Tpéme val
EMOTPEYEL 6TO GALO TEPLOTIKO TNG TTNYNG Thong (-).

O nhextpikot avtiotdteg eival aywyoi Tov enipaddvouvy T petapfoocn
™G NAEKTPIKNG eVEPYELNS. 'Evac avTiotdtng pe pot vynin tiun
avtiotaong, o mapadetyuo peyorvtepn amd 10 uéyo op (MQ), tvai
Evag ETOYOC aymYOS, EVM EVOG OVTIGTATNG LLE 0L YOUNAN TIUT, Yo
napdoetypo Myotepo amo 0,1 o, eivar évag Kaldg aywyoc.

(O1 povmtég eivar NAEKTPIKEG GUGKEVEG TTOV Y10, TOVG TEPIGTOTEPOVG
TPOAKTIKODG AOYOVG OEV ETTPETOVY GTO PEVUA VO OLALPPEEL TO KOKAMLLOL
otav epapuoletar 1 ton.) Xe £va S1AyPUULY KUKAOUATOV OTT®S TO
TOPATAV®, TO O1POPO GTOLXELD LITOPOVV Vo EvBoUV amd Tovg
GUVOETNPES, TIG EMAPEC, TIG GUVYKOAANGELS 1] TIG EVOGELS VANG
GUYKOAAM|GEWMC TV SLAPOP®V 0DV, AAAL Y10, TNV AmAOTNTO AVTEG Ol
oLvoéoelg cuvNBmg dev TapovsLalovTaL.



https://el.wikipedia.org/wiki/%CE%91%CE%B3%CF%89%CE%B3%CF%8C%CF%82
https://el.wikipedia.org/wiki/%CE%9C%CF%80%CE%B1%CF%84%CE%B1%CF%81%CE%AF%CE%B1
https://el.wikipedia.org/wiki/%CE%91%CE%B3%CE%B3%CE%BB%CE%B9%CE%BA%CE%AE_%CE%B3%CE%BB%CF%8E%CF%83%CF%83%CE%B1
https://el.wikipedia.org/wiki/%CE%97%CE%BB%CE%B5%CE%BA%CF%84%CF%81%CE%B9%CE%BA%CE%AE_%CE%B1%CE%BD%CF%84%CE%AF%CF%83%CF%84%CE%B1%CF%83%CE%B7
https://el.wikipedia.org/wiki/%CE%97%CE%BB%CE%B5%CE%BA%CF%84%CF%81%CE%B9%CE%BA%CF%8C_%CF%81%CE%B5%CF%8D%CE%BC%CE%B1
https://el.wikipedia.org/wiki/%CE%97%CE%BB%CE%B5%CE%BA%CF%84%CF%81%CE%B9%CE%BA%CE%AE_%CE%B5%CE%BD%CE%AD%CF%81%CE%B3%CE%B5%CE%B9%CE%B1
https://el.wikipedia.org/wiki/%CE%9C%CE%BF%CE%BD%CF%89%CF%84%CE%AE%CF%82
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1.4 Xnuika AmoteAéouata tov HAekTpikov Psouatog

HAEKTPOAYTIKA ATAAYMATA

Q¢ niektpordng apileton kdbe ovoia Tov mepEyel EAevBepa 1OVTO KO
CUUTEPLPEPETOL GOV AYMYOS TOV NAEKTPIGUOV. Y TTAPYOLY OUMC TEPD OTTO
T VYPA SLHAVUOTO, TNYUEVOL NAEKTPOADTEG KOl 0TEPEOT NAEKTPOADTEC.
Axoua, OplIoUEVa OEPLO LLITOPOVV VA, OPAGOVY (O NAEKTPOAVTES OE
cuvOnKeg vyMANc Bepprokpacioc N younAng mieons. 'Eva mapdderypa
NAEKTPOAVTN €fvar TO YA®PLOVYO VATPLO TO 0TOi0 GynuatileTon oo v
Evmon 000 ATOU®V, TOL VUTPIOL Kol TOV YAMPLOV, UE amofoin EvOC
NAEKTPOVIOL OITO TO VATPLO Kol TPOCANYT TOV 10100 NAEKTPOVIOL OO TO
YADP10. MeTa&h TV 10VTOV vaTpiov Kot YA®PIov avarTTOCGETAL EAKTIKN
nAexTpikn ovvaun. ‘Etol, 6e cuvnOnouévn Bepuokpacio to yAoplovyo
vatplo ival oteped Evoon

oynuatifovtog KpasTIALOUE.

(

- - . -
dGropa -
-~ 2 - -~ > b
Na H Cl H
e =
1ovra e

O1av 10 YA0p100Y0 VATPLO GLVAVTATOL GE CTEPEEG EVGELS, TO 1OVTO OEV
UTopoLV va, KivnBovv Kot ETopEVmS TO NAEKTPIKO pedLOL OEV UTOPEL VO, TO
dwmepacel. Otav Opmg To YAmpProvyo vaTplo d1aAvdei 610 vepd ToTE TO,
uopo Tov vepol TapeUPAALOVTOL LETAED TOV 1OVIWOV Kol 1
aAAnAemidopaot tov vtV eEachevel, omdTe 01 KPOGTAAAOL
KataoTpépovtol. 'ETot ta 10vta yAmpiov kot vatpiov pmopodv mAéov va,

10
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KivoOvtal eEAe’0epal 6TO SIIAVLOL KO ETOUEVMG TO NAEKTPIKO pedLL
umopel va to dlamepdoet.

Ke@aiaio 2

e IlepiBaiiov Matlab

2.1 To Matlab

To MATLAB (matrix laboratory) eivoaur éva mepiBdAlov aplOuntikng
VTOAOYIGTIKNG KO LU0l TPOYPOULOTIOTIKT YADCGG TETAPTNG YEVIAG.
Amobnkevel ko kavel Ti¢ Tpdéelg pe Pdon v dAyeppa unTpdv.
Xpnowomoteiton katd KOpo Adyo 7y v emilvon  pabnuatikov
mpofAnudtov, ®otdco eivor  mOAD  "oyvpo" kol pmopel  va
YPNOLOTONOEL KOt Y10l TPOYPUUUATICUO KOODE TEPLEYEL EVTOLEC OO TNV
C++ 6nwg v while, v switch ko v if.

2TOV TOUEN TOV YPAPIKOV OGOV apopd TOV podnuatikd KAAd0 umopel va
VAOTIOU|GEL  GULVOPTNOES  TPOYUOTIKES,  ULYOOIKEG,  MEMAEYUEVEG
GLUVOPTNGELS dVO PETOPANTOV Kot GALES.
Oocov agopd tov oTatioTikd KAAO0 Umopel vo, VAOTOGEL 1IGTOYPAULOTO,
Topeoypappata, pafoodtaypdppota, EUPAdOYPAUUATO Kol GAAA.

Ot evtorég divoviaun puésm tov mapabvpov eviohdv (MATLAB command
window).

Ot evtoAég avTég pumopet va glvat:

1. opiopotl petafintodv kot Tpaelg

2. kAfomn evoouotouévov ocovvaptnoenv e MATLAB kot tov
EYKATEGTNUEVOV gpyaielodnkav ¢ (toolboxes)

3. kAinon ovvaptioewv (functions) 1 apyeiov eviodov MATLAB
(scripts) mov kaTackevdlovial amd Tovg ¥PNoTeC Le T popen m-file.

11
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File Edit Debug Parallel Desktop Window Help

NS4 mEY o | @ E | @ | curentirectory:| CAUsers\ManADocument\MATLAE v |[] @
Shorteuts (2] Howto Add (2] What's New
Current Directary w0 2 x | [[CommandWindow: Warkspace ~oz x
@ @ | <« Documents » MATLAB | e | @ New to MATLAB? Watch this Video, see Demos, or resd Getting Started, x| ) o R + | Stack:| Base
) Name Date Modified £ > | e RS L
4 m »
Command History o2 x
B-%-—- 31/3/2017 10:46 pp —%
clc
%—- 1/4/2017 4:36 pp —3%
%-- 1/4/2017 9:21 up —-%
~
[ Start] Ready OR

Xyqpa . Matlab Window

Y10 Zynua 2.1 IMopatnpodue to mapdbvpo tov Matlab. To mapdBvpo
oVTO €lvol YOPIGUEVO GE TPELG GTNAEC.

Xy oplotepn otAn Ppioketon éva toolbox pe ovopocio Current
Folder. Zmv mepoyn avt) Ppiokovue to apyeic mov O&lovpe va
TpEEOovE.

Axpipig and kdtw Ppioketon pio mwepoy] mov pog eueaviCer Tic
CLUVOPTNGELS OV VTAPYoVV o€ KABe apyeio mov €yovue emAéel o610
Current Folder (av vrapyovv 6to apyeio awto).

Ymyv o0e&id oA Ppiokovtar 6vo mepoyés. To Workspace kai to
Command History.

Yy mpoTn amodnkedovtal ot HETAPANTEG OV £YOVLUE ONUIOVPYNGEL
HECH TOV EVIOADV KAOMC KOl 01 TILES TOVC.

Yv devtePN TEPLOYY] UTOPOVLUE VO SOVUE TIG EVTOAEC TTOV EYOLV TPEEEL
HEXPL oTLYpNG.

Téhog omv pecain omAn eivar 1o Command Window oto omoio
UTOpPOVUE VA dMCOVUE TIG €VIOAEC Mo Tig eviodéc Tic dlvouue eite

12
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anevBeiog yplooviag teg eite @TIAYvVovTag éva  script apyeio kot
p€YovTag 10. To apyeio avtd To amodnKevoOVUE e TNV HOPON .M .

"Evag aAloc tomog apyeiov mov £xel ypnoyomombel otnv mruylokn etvon
o0 .fig. O 1Hmo¢ avTtdg YpPNCIUOTOMONKE Y10 VO KOTACKEVUGTEL 1) YPOPIKN
avorapdotoon (GUI) tov poavopévav, pog Kot to apyeio oavtd
avVOPEPETAL 0TO TEPIPAALOV HEGH 0O TO OTO10 omelkovilovTal Ta
eovopeva. 1o Zynua 2.2 BAETovUE TOV GLVTAKTN Yo Ta apyeio TOTOV
m Zynua 2.3 BAErovpe Tov cuvtdrTn yio ta apyeia .fig.

File Edit Text Go Cell Tools Debug Desktop Window Help

yaX

NG ARR20 (02 - Aenf b -ARARE BA|wudbx | fr )

Bl - |+ 7\%’&%"&\0,

L Evaluate cell

script [Ln 1 Gl

Tyfpa . Xovtdkng apyeiov Matlab

13
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-
@ untitled.fig E‘E‘g

File Edit View Layout Tools Help

NOM | smB9c|aBhd QE% >
-

[ea)7 || 7T

4 k

Tag: figurel Current Point; [276, 48] Position; [520, 380, 560, 420]

Tympa . Zvvraktng GUI

2.2 Kevtpiko mapaOvpo epapuoyng

Mo va tpé€el 0 k®OKAG TS TTVYKNG apKel vo yivel EKTEAEGT TOV
apyeiov geentral.m. To amotéreopa etvar to mapdBvpo Tov oynuatog 2.4.

14
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Xnuikd AtroTteAéopara Tou HAeKTpIKoU PelpaTog
Aigheuan péoa amd uypd
TOMAT

- Epunveia BIEAEUTNE péad
R ams vypd
L

Zympa . Kevrpuo mapadupo epappoyig

To mopdBvpo avtd eivar éva GUI mapdabvpo (.fig apyeio) 10 omoio
amoteleiton amd Téooepa text boxes kot amd Tpia Kovumid. A@ov
KATOOKELAGTNKE 0 Topddvpo, amodnkedtnie ue dvoua geentral.fig.

XV ovvéyela Omwg LITAPYEL 6 EMOUEVO KEPAAAL0, Ba mapatnpnOel ot
T0 dvopa Tov apyeiov avtov kaieitan and éva Matlab (.m) apyeio v va
a&lomomBovv ta TEPLEXOUEVA TOV.

KAe1014 onpeia tov apyeiov avtov givon ta ovopoTo wov £xovv To KABe
KoLt £161 doTe voL KAMOoHV ammd 10 Tponyovprevo apyeio.

15
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2.3 To mapaBuvpo tn¢ “Acknon 1”
Ao &xet tpe€et To apyeio TG Tapaypdpov 2.2, av 0 ¥pNoTNG TATNGEL
oto kovuni Aoknon 1, tote poptwvetal to devtepo GUI mapdbupo 1o
omoio gpaiveton 6To Gynua 2.5.

"B gfig 3152 (E=REE x|
3.2 XHMIKA AMOTEAEIMATA TOY HAEKTPIKOY PEYMATOZ
Mifhsuon nhskTpikod pedpomog péoo oaTd T UYPH OO OTH
PuBpdg 5
Mpogopoiwang
‘Etodog
=

Iyfna . Mapédupo GUI yio Ty Acknon 1
To mapdBvpo avtd amoteAeiton and €va KOLTAKL GTO OTOI0 YPAPETAL O
pLOUOS He ToV 0moilo TPEYEL TO TOPAOELY I KOl TEVIE KOVUTLE T OToin
Kévouv 11§ €€NG depyacieg:

» Extéleon tov mapadeiypatoc(Extédleon)

*  Awoxomn tov mopadeiypotog (Atakomn)

* Emavagopd tov mopadeiyparog otnv  opyikn  Kotdotoom

(Avavémon)

* "E&odog and to mapaderypa (EE0d0q)

*  Bonbewa yua to mapdderypo (Borfea)
MoAG 0 ¥pMoTNg TaTNGEL TO KOLUTL Evapén TOTE TO TTapadetypo apyilet
Kol epeavifetoan oto onueio twv afdvov (1o Aevkd KOUUATL GTO GYNUO
2.5) n edva Tov oynuatog 2.6.

16 |
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3.2 XHMIKA ANOTEAEIMATA TOY HAEKTPIKOY PEYMATOZX
Mghevon nhexTpikod pedporog pioo wmd T uypd oo pom

PuBpdc
[Mpogopoiwgng

AlakdTTng avorgrog

KaBapd vepd

['vetot n ypoeikn avomapdcoTaoT ToL NAEKTPIKOD KUKAMUATOS OTTOV
etvarl ouvoedepévol pio pratapia, Evag SIKOTTNG, EVO AOUTAKL Kol Vol
doyelo yepudto pe kabapd vepd. XT10 TELOG TNG EKTEAEGNC TOV
mopadetypatog epeavifetor 6to Aevkd Tapabvpo To® oo T0 KUKA®UA M
e€Nynomn tov PaVOUEVOL OTMG PAIVOVTE GTO TOPOUKAT® GYLLOTA.

17
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3.2 XHMIKA AMOTEAEIMATA TOY HAEKTPIKOY PEYMATOZX
Mfhsuon nAskTpIKod pEipoTog PEOO OOTO T UY P CwpoTo

Pulpdg 5
Mpogopoiuang

MAKOTTNG KAEITTAE

Kafapd vepd
Mgy BIEpKETOI QAEKTPIKG pEOPT

3.2 XHMIKA ANOTEAEIMATA TOY HAEKTPIKOY PEYMATOZX
AiEkeuon nAEkTpIKOD pedpomog PECO COTO TO UY PO 00 PoT

PuBpdg
Mpooopoiworng

AaKdTrne KhaaTde

Aldhupa xhwprolxou varpiou
Qigpyeran nigkTpikd pedpa

Zynpe . Téhog exktéheong Tov TIPpOTOL TOPAdEIYPLATOG

18
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2.4 To mapaBuvpo tn¢ “Acknon 2”

To mapdBvpo g doknong 6Vo akolovbel v 10w Aoywkn pe TO
opdBvpo g doknong éva. Koatd tv ektédeon tov mapadelypuotog
eupavieton To Tapabvpo tov oyNuaTog 2.8.

B gfig_3.15b (e
3.2 XHMIKA ANOTEAEIMATA TOY HAEKTPIKOY PEYMATOX
Eppnveio Tn¢ difhcuong nAekTpiKod priporog péOa mard To Uypd oopomo
FuBpdg 5
Mpooopoiwamg
‘Efodog
e

Xympo . Hapadvpo GUI o Tnv Acknon 2

[Mat®vtoag 610 KOV EKTEAECT] TOPATNPOVLE TNV Kivnomn 1OVI®V g
dthvpa yhAwplovyov vatpiov. ['evikd péoa oe Eva dlaivpo pe 1dvta, to,
10OVTO £(0VV NAEKTPIKO POPTIO VD Hopovv va KivnBovv eAedBepa péca
010 VYpO. Epapudlovtog diapopd duvoptkod 6To vypod o avidvto
KIVOOVTOL TPOG TNV VoS0 Kot TO KATIOVTO TPOG TNV KAB000
TPoco1opilovtac To NAEKTPIKO TOVG POPTIO 6TOVG 0kpodékTeS. H por
NAEKTPIKOD pELLOTOC GYETILETOL AUECO GE YNUKES OAVTIOPAGELS TOV
ocvpPaivouv tavtdypova péca oto ddAvpa. (Xymua 2.9).

19
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rl] gfig_3_15b -
3.2 XHMIKA AMOTEAEZIMATA TOY HAEKTPIKOY PEYMATOEX
Eppnveio Tng difheuong ndekrpikod peipoarog pioa wmd Ta uypd o @poTo
PuBpae 5
Mpooopoiuom g @ Cl~
aly . -
ANOAOE @ Na KAGOAOS
Ekréhean
Zuvéxem___é
;
i Etodog o
: 8
© ®° 0 o
° O o e® o
° 8 o o ©
@ C )
@
co o °oe° ©
o © O e
]
Maparnpolue Ty kivnan 1dvTwy gt Gidhupa xAupiodyou vaTpiou
Ta Benikd 16vTa Tou Na Ecova amd Trv kdBobo
Ta apvnmikd 1dvta Tou Cl Edkovral amd Ty avobo

Iyqpa . Extéleon Tov mapadeiypotog 2

2.5 To mapaBupo tn¢ “Acknon 3”

Ouota pe Tpv To Topabvpo Tov ToPUdELYIATOC avToD akoAovOEl TNV 1010
hoyun. H dapopd etvar 611 epagpilovior puoaiideg oto meipapo £T61
Eyove To PatvouEVo g niektpoivons. HiektpdAivon eival o
QoLVOUEVO IOV GLUPBALVEL TOTOYPOVA LE T OLEAELGT] TOL NAEKTPIKOD
PEVUOTOG OTO TO SIAAVLLOL TOL YA®PLOVYOVL varTtpiov. BTt ot puoaiideg
aepiov eueaviCovror 6To apvnTikd NAEKTPOSIO EVED TO SIGAVUO KOVTA
070 BeTiKd NAekTod10 BoAmdVvel. Avtd cupPaivel YTl 6Ty TEPLOY TOV
niextpodiov oynuatifovrol dlapopes yNUIKEG EVAOGELS GTIC OTOTES
amoOnieveTal ynukn evépyeta. H evépyela avty mponiBe amo tnv
NAEKTPIKT EVEPYELN TOL NAEKTPIKOD PEVIATOG TOV dNUIOLPYNONKE.

20
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3.2 XHMIKA ANOTEAEIMATA TOY HAEKTPIKOY PEYMATOZ
HAiskrpoduon
PuBpdg 5
Mpooopoiwang ° Cl =
+ -
+
ANOAOS @ Na KAGOAOX
Ekréheon Quoahideg yhwpiou

°

Y o O - o
o O o o
oQ 20 %
o
o O °° 14
- o O
°°°° ﬂ°°
% 9 0.0
)

Maparnpo0ys TNy Kivnan 16vTwy of Sidhupa xhwplodyou vatpiou
Ta 8emikd 1dvra Tou Na Ekovial amd Tv kdgodo
Ta apvnTikd 16vTa Tou Cl EkcovTa amd Ty dvodo

Puoakideg Cl eugavifovtal oty Gvodo

Xyfqpna . Hapddvpo GUI ywa v Acknon 3

Ke@aiawo 3

e Kwdikag eqpapupoyng

[Mopaxdat gival OAOKANPOS 0 KOKAG EPOPYUOYNS Yo TNV avATTUEY
EKTTAOEVTIKOD TOKETOV aoknoewv oto Matlab.
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gcentral.m

function varargout = gcentral (varargin)
GCENTRAL M-file for gcentral.fig

GCENTRAL, by itself, creates a new GCENTRAL or raises
the existing

o\

o\

% singleton*.

% H = GCENTRAL returns the handle to a new GCENTRAL or the
handle to

% the existing singleton*.

% GCENTRAL ('CALLBACK',hObject,eventData, handles, ...) calls
the local

% function named CALLBACK in GCENTRAL.M with the given

input arguments.

o

o

GCENTRAL ('Property', 'Value',...) creates a new GCENTRAL
or raises the

existing singleton*. Starting from the left, property
value pairs are

o

% applied to the GUI before gcentral OpeningFcn gets
called. An

% unrecognized property name or invalid value makes
property application

% stop. All inputs are passed to gcentral OpeningFcn via
varargin.

oe

oe

*See GUI Options on GUIDE's Tools menu. Choose "GUI
allows only one
instance to run (singleton)".

o° oo

oe

See also: GUIDE, GUIDATA, GUIHANDLES

oe

Edit the above text to modify the response to help gcentral

o

Last Modified by GUIDE v2.5 01-Mar-2017 05:49:36

% Begin initialization code - DO NOT EDIT

gui Singleton = 1;

gui State = struct('gui Name', mfilename,
'gui Singleton', gui Singleton,
'gui OpeningFcn', @gcentral OpeningFcn,
'gui OutputFcn', @gcentral OutputFcn,
'gui LayoutFcn', 1,
'gui Callback', (1

if nargin && ischar (varargin{1l})

gui State.gui Callback = str2func(varargin{l});
end

if nargout

[varargout{l:nargout}] = gui mainfcn(gui_State,
varargin{:});
else

gui mainfcn(gui State, varargin{:});
end

% End initialization code - DO NOT EDIT

22
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% —--- Executes just before gcentral is made visible.

function gcentral OpeningFcn (hObject, eventdata, handles,
varargin)

% This function has no output args, see OutputFcn.

% hObject handle to figure

% eventdata reserved - to be defined in a future version of
MATLAB

% handles structure with handles and user data (see GUIDATA)
% varargin command line arguments to gcentral (see VARARGIN)

% Choose default command line output for gcentral
handles.output = hObject;

% Update handles structure
guidata (hObject, handles);

% UIWAIT makes gcentral wait for user response (see UIRESUME)
% uiwait (handles.figurel);

[

% —--- Outputs from this function are returned to the command
line.

function varargout = gcentral OutputFcn (hObject, eventdata,
handles)

% varargout cell array for returning output args (see
VARARGOUT) ;

% hObject handle to figure

% eventdata reserved - to be defined in a future version of
MATLAB

% handles structure with handles and user data (see GUIDATA)

% Get default command line output from handles structure

varargout{1l} = handles.output;

% —--- Executes on button press in pushbuttonl.

function pushbuttonl Callback (hObject, eventdata, handles)

% hObject handle to pushbuttonl (see GCBO)

% eventdata reserved - to be defined in a future version of
MATLAB

% handles structure with handles and user data (see GUIDATA)
gfig 3 15a;

% —--—- Executes on button press in pushbutton2.

function pushbutton2 Callback (hObject, eventdata, handles)

% hObject handle to pushbutton2 (see GCBO)

% eventdata reserved - to be defined in a future version of
MATLAB

% handles structure with handles and user data (see GUIDATA)
gfig 3 15b;

% —--—- Executes on button press in pushbutton3.

function pushbutton3 Callback (hObject, eventdata, handles)

% hObject handle to pushbutton3 (see GCBO)

% eventdata reserved - to be defined in a future version of
MATLAB

% handles structure with handles and user data (see GUIDATA)
gfig 3 18;
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Gfig_3_15a.m

function varargout = gfig 3 15a(varargin)

% GFIG 3 15A M-file for gfig 3 15a.fig

GFIG 3 15A, by itself, creates a new GFIG 3 15A or
raises the existing

o\

% singleton*.

% H = GFIG 3 15A returns the handle to a new GFIG 3 15A or
the handle to

% the existing singleton*.

% GFIG 3 15A('CALLBACK',hObject,eventData,handles, ...)
calls the local

% function named CALLBACK in GFIG 3 15A.M with the given

input arguments.

oe

% GFIG_3 15A('Property', 'Value',...) creates a new
GFIG 3 15A or raises the

% existing singleton*. Starting from the left, property
value pairs are

% applied to the GUI before gfig 3 15a OpeningFcn gets
called. An

% unrecognized property name or invalid value makes
property application

% stop. All inputs are passed to gfig 3 15a OpeningFcn

via varargin.

% *See GUI Options on GUIDE's Tools menu. Choose "GUI
allows only one
% instance to run (singleton)™.

% See also: GUIDE, GUIDATA, GUIHANDLES

oe

Edit the above text to modify the response to help gfig 3 15a

oe

Last Modified by GUIDE v2.5 28-0ct-2011 11:24:01

% Begin initialization code - DO NOT EDIT
gui Singleton = 1;
gui State = struct('gui Name', mfilename,
'gui Singleton', gui_ Singleton,
'gui OpeningFcn', @gfig 3 15a OpeningFcn,

'gui OutputFcn', @gfig 3 15a OutputFcn,
'gui LayoutFcn', 1,
'gui Callback', [
if nargin && ischar (varargin{l})
guil State.gui Callback = str2func(varargin{l});
end

if nargout

[varargout{l:nargout}] = gui mainfcn(gui_ State,
varargin{:});
else

gul mainfcn(gui State, varargin{:});
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end
% End initialization code - DO NOT EDIT

o)

% —--- Executes just before gfig 3 15a is made visible.
function gfig 3 15a OpeningFcn (hObject, eventdata, handles,
varargin)

% This function has no output args, see OutputFcn.

hObject handle to figure

eventdata reserved - to be defined in a future version of
MATLAB

o\

o\

$ handles structure with handles and user data (see GUIDATA)
% varargin command line arguments to gfig 3 15a (see
VARARGIN)

% Choose default command line output for gfig 3 15a
handles.output = hObject;

[

% Update handles structure
guidata (hObject, handles);

% UIWAIT makes gfig 3 15a wait for user response (see UIRESUME)
% uiwait (handles.figurel);

[

% —--- Outputs from this function are returned to the command
line.

function varargout = gfig 3 15a OutputFcn (hObject, eventdata,
handles)

% varargout cell array for returning output args (see
VARARGOUT) ;

% hObject handle to figure

% eventdata reserved - to be defined in a future version of
MATLAB

% handles structure with handles and user data (see GUIDATA)

o)

% Get default command line output from handles structure
varargout{l} = handles.output;

function editl Callback (hObject, eventdata, handles)

% hObject handle to editl (see GCBO)

% eventdata reserved - to be defined in a future version of
MATLAB

% handles structure with handles and user data (see GUIDATA)

Q

% Hints: get (hObject, 'String') returns contents of editl as
text

% str2double (get (hObject, 'String')) returns contents of
editl as a double

% —--—- Executes during object creation, after setting all
properties.

function editl CreateFcn (hObject, eventdata, handles)

% hObject handle to editl (see GCBO)

% eventdata reserved - to be defined in a future version of
MATLAB
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% handles empty - handles not created until after all
CreateFcns called

[

% Hint: edit controls usually have a white background on
Windows.
% See ISPC and COMPUTER.
if ispc && isequal (get (hObject, 'BackgroundColor'),
get (0, 'defaultUicontrolBackgroundColor'))
set (hObject, "BackgroundColor', 'white');
end

% —--—- Executes on button press in pushbuttonl.

% function pushbuttonl Callback (hObject, eventdata, handles)

% % hObject handle to pushbuttonl (see GCBO)

% % eventdata reserved - to be defined in a future version of
MATLAB

$ % handles structure with handles and user data (see
GUIDATA)

% global ryt;

% ryt=str2double (get (handles.editl, 'String'));

% —--—- Executes on button press in pushbutton2.

function pushbutton2 Callback (hObject, eventdata, handles)

% hObject handle to pushbutton2 (see GCBO)

% eventdata reserved - to be defined in a future version of
MATLAB

% handles structure with handles and user data (see GUIDATA)

global ryt;
ryt=str2double (get (handles.editl, 'String'));

global status;

global stam;

global suv;

axes (handles.axesl)

axis off;

set (handles.pushbutton3, 'string', "Altakonn")

9900000000000 S 9 o 9900000000000 0000000000 0 S 9 o 89900

99000900000

if ryt <0.001l|ryt > 5
hfin=warndlg ('B&Ate ot10o PUBud Illpocopolwong tlun petall
0.001 xaL 5'");

return
else
end
ryte = -ryt+5+0.001;
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$ ERISQSEIS AQMATIOY

xdd = [-0.1 1 0.75 -0.11;
ydd = [0 0 0.3 0.3];

xdpl =[1 1 0.75 0.75];

ydpl= [0 1 1 0.3];

xdv =[-0.1 0.75 0.75 0-0.11;
ydv= [0.3 0.3 1 1];

% EEIZQIEIY TPAINEZIOY

trlx =[0.15 0.8 0.8 0.15];

trly =[0.39 0.39 0.4 0.471;

tr2x =[0.15 0.8 0.62 0.05];

tr2y =[0.4 0.4 0.44 0.44];

tr3x =[0.05 0.15 0.15 0.0571;

tr3y =[0.25 0.15 0.4 0.447];

trdx =[0.785 0.8 0.8 0.785]1;

trdy =[0.15 0.15 0.4 0.4];

tr5x =[0.1 0.115 0.115 0.11+40.05;

tr5y =[0.15 0.15 0.4 0.47];

trox =[0.785 0.785 0.62 0.62];

tréy =[0.15 0.4 0.44 0.25];

% BATARIA

met=0.18;

metl =0.358;

met2 =0.0;

batxl = [0.3 0.365 0.365 0.3]+met2;

batyl = [0.44 0.44 0.5 0.5] *met+metl;
batxlb = [0.3 0.365 0.365 0.3]+met2;
batylb = [0.465 0.465 0.5 0.5] *met+metl;
batxlbb = [0.3 0.365 0.365 0.3]+met2;
batylbb = [0.478 0.478 0.48 0.48] *met+metl;
batx2 = [0.29 0.3 0.3 0.29]+met2;

baty2 = [0.445 0.44 0.5 0.505] *met+metl;
batx2b = [0.29 0.3 0.3 0.29]+met2;

baty2b = [0.47 0.465 0.5 0.505] *met+metl;
batx2bb = [0.29 0.3 0.3 0.29]+met2;

baty2bb [0.484 0.478 0.48 0.486] *met+metl;

batx3 = [0.29 0.3 0.365
baty3 = [0.505 0.5 0.5

[

% poloi batarias
batpolxl =[0.30
batpolyl =[0.502

0.315
0.502

0.315
0.515

batpolx2 =batpolxl1+0.034;
batpoly2 =batpolyl;

metdy =0.002;

diakddLamprxl =[0.1530 0.2560
diakddLampryl= [0.4335 0.4335
diakddLamprx2= [0.153 0.153
diakddLampry2 =[0.4335 0.4350

0.355]+met2;
0.505] *met+metl;

0.30]+met2;
0.515] *met+metl;

0.2560 0.153071;
0.4350 0.4350] +metdy;
0.14 0.1471;

0.439 0.4375]+metdy;
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diakddLamprx3= [0.1530 0.256 0.24 0.14];
diakddLampry3 =[0.435 0.435 0.4390 0.439]+metdy;
vasdiakx = [0.165 0.24 0.233 0.162]1;
vasdiaky = [0.4378 0.4378 0.4392 0.4392140.001;

poldiakx =[0.17 0.18 0.18 0.17];
poldiaky =[0.4375 0.4375 0.44 0.44]-0.0005+metdy;

dpoldiakx =poldiakx+0.05;
dpoldiaky =poldiaky;

moxlx =[0.17 0.175 0.22 0.215];
moxly =[0.438 0.437 0.444 0.445]+metdy;

% KALODIA

%$Lampthra -Lampthra
metk =-0.001;

ka3x =[0.143 0.255 0.255 0.143]40.02;
ka3y =[0.406 0.406 0.407 0.407]+metk+0.002;

ka3xb =[0.143 0.51 0.51 0.143]+40.23;
ka3yb =[0.406 0.406 0.407 0.407]+metk+0.002;

%aristero megalo
kabx =[0.170 0.163 0.075 0.081;
kaby =[0.407 0.407 0.438 0.438];

o)

% deksia epano pros bataria
ka6bx =[0.39 0.409 0.408 0.39]1-0.03;
ka6by =[0.4383 0.4383 0.439 0.4391;

o)

% aristera epano pros diakopth
ka7x =[0.075 0.15 0.15 0.075];
ka7y =[0.438 0.438 0.4385 0.4385];

Q

% diakopth bataria
ka8x =[0.25 0.294 0.294 0.251;
ka8y =[0.438 0.438 0.4385 0.4385];

Q

% bataria aristero
ka9x =[0.32 0.325 0.325 0.321-0.03;
ka9y =[0.438 0.438 0.453 0.45371;

o)

% Dbataria deksia
kalOx =[0.395 0.4 0.4 0.3951-0.006-0.03;
kalOy =[0.4385 0.4385 0.453 0.4537];

o)

% Dbataria epanw aristera- mikro tmhma
kallx =[0.32 0.34 0.34 0.32]1-0.03;
kally =[0.452 0.452 0.453 0.4531;

Q

% bataria epanw aristera- mikro tmhma
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kal2x =[0.335 0.34 0.34 0.335]1-0.03;
kal2y =[0.45 0.45 0.453 0.4531;

[

% Dbataria epanw deksia- mikro tmhma
kal3x =[0.39 0.37 0.37 0.39]1-0.03;
kal3y =[0.453 0.453 0.452 0.45271;

[

% Dbataria epanw deksia- mikro tmhma
kaldx =[0.37 0.375 0.375 0.371-0.03;
kaldy =[0.45 0.45 0.453 0.4531;

%$akrodektis arist mikro

kalbx =[0.141 0.145 0.145 0.1417;
kalby =[0.438 0.438 0.443 0.443];

kaléex =[0.141 0.177 0.177 0.1417];
kaléey =[0.4423 0.4423 0.443 0.443];
kal7x =[0.173 0.177 0.177 0.1731;
kal7y =[0.441 0.441 0.443 0.443];
kal8x =[0.248 0.248 0.245 0.245];
kal8y =[0.4385 0.443 0.443 0.4385];
kal9x =[0.245 0.223 0.223 0.245];
kal9y =[0.443 0.443 0.4425 0.4425
ka20x =[0.223 0.223 0.227 0.227]1;
ka20y =[0.443 0.441 0.441 0.443 ];

% HLEKTRODIA

17

kad45x =[0.4820 0.469 0.469 0.48201+0.0005;
kad5y =[0.417 0.42 0.435 0.432]1-0.0005;
kad45bx =[0.4820 0.485 0.485 0.4821+0.0005;
kad45by =[0.418 0.418 0.433 0.433]1-0.0015;

kad45cx =[0.4820 0.485 0.4720 0.4691+0.0005;
kad45cy =[0.432 0.432 0.435 0.435 1-0.0005;
kad45dx=[0.4750 0.4750 0.4695 0.47];

ka45dy =[0.4182 0.4332 0.4345 0.419%94 ];
kad45fx=ka4d5bx;

kad45fy=[0.4165 0.4165 0.4288 0.4288
kadbgx=kadbdx;

kad5gy =[0.4182 0.4306 0.4318 0.419%94 ];
kka45x =kad5x+0.176;

kkadb5y=kadby;

kka45bx =kad45bx+0.176;

kkad5Sby =kad5by;

kkad5cx =kad5cx+0.176;

kkad5cy =kadbcy;

17

kkad45dx=[0.6585 0.6455 0.6455 0.658571;

kkad5dy =[0.4165 0.4195 0.432 0.4288
kkad5fx=kad5fx+0.176;

kkad5fy=kad5fy;

kad45ex=kkad5dx-0.176;

kad45ey=kkad5dy;

kadox =[0.488 0.494 0.494 0.4881-0.0140;
kadey =[0.434 0.434 0.438 0.438]1-0.001;
kkad6x =kadox+0.176;

kkadb6y=kadby;

kad7x =[0.48 0.44 0.44 0.48 1;

1;

kad47y =[0.438 0.438 0.437 0.437 1-0.001;

o)

% Kalodia voltometrou batarias
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kkd7x= [0.332 0.336 0.336 0.332];

kkd47y= [0.4507 0.4507 0.463 0.463];

kad8x =[0.44 0.44 0.444 0.444 71;

kad48y =[0.437 0.416 0.416 0.437 1;

kad9x =[0.44 0.444 0.378 0.3731;

ka49y =[0.416 0.416 0.439 0.439 1;

ka50x =[0.27 0.275 0.275 0.27];

ka50y =[0.407 0.407 0.414 0.4147];

kab5lx =[0.27 0.298 0.298 0.27];

kaS5ly =[0.413 0.413 0.414 0.4147];

kab52x =[0.292 0.298 0.298 0.292];

ka52y =[0.414 0.414 0.4124 0.4124 1;

ka53x =ka51x+0.085;

kab3y =kably ;

ka54x =ka52x+0.06;

kab54y =kab2y ;

kab55x =kab0x+0.11;

ka55y =ka50y ;

kab6x=[0.74 0.735 0.69 0.695];

kaS56y=[0.408 0.408 0.417 0.417];

ka57x=[ 0.69 0.695 0.695 0.69 1,

ka57y=[0.418 0.418 0.438 0.438]1-0.001;

ka58x=[0.695 0.65 0.65 0.695];

ka58y=[0.438 0.438 0.437 0.437 1-0.001;

$ DOXEIO

dosx=1.5;

dosy=0.26;

doxmx=-0.095;

doxmy=0.277;
doxl = ([0.38 0.52 0.52 0.38]) *dosx+doxmx;
doyl = ([0.525 0.525 0.6 0.6]) *dosy+doxmy;
dox2 = ([0.36 0.38 0.38 0.36 1) *dosx+doxmx;
doy2 = ([0.55 0.525 0.6 0.6250 1) *dosytdoxmy;
dox3 = ([ 0.36 0.5 0.5 0.36 ])*dosx+doxmx;
doy3 = ([ 0.55 0.55 0.6250 0.6250]) *dosy+doxmy;
dox4 = ([ 0.52 0.52 0.5 0.5 ])*dosx+doxmx;
doy4 = ([ 0.525 0.6 0.6250 0.55]) *dosy+doxmy;
akmxl =([0.38 0.5 0.5 0.38]) *dosx+doxmx;
akmyl =([0.55 0.55 0.553 0.553]) *dosy+doxmy ;
akmx2 =([0.497 0.5 0.5 0.497 1) *dosx+doxmx;
akmy2 =([0.55 0.55 0.60 0.60 ])*dosy+tdoxmy ;
akmx3 =([0.497 0.5 0.52 0.517 1) *dosx+doxmx;
akmy3 =([0.55 0.55 0.525 0.525]) *dosy+doxmy ;
% NERO
nexl = ([0.38 0.52 0.52 0.38]) *dosx+doxmx;
neyl = ([0.525 0.525 0.584 0.584]1) *dosy+doxmy;
nex2 = ([0.36 0.38 0.38 0.36 ])*dosx+doxmx;
ney2 = ([0.55 0.525 0.584 0.6090]) *dosy+doxmy;
nex3 = ([0.36 0.38 0.52 0.5 ]) *dosx+doxmx;
ney3 = ([0.61 0.584 0.584 0.61]) *dosy+doxmy;
nex4 =[0.6665 0.685 0.475 0.4557];
ney4 =[0.433 0.4288 0.4288 0.433];

% LAMPTIRAS LAMPTIRAS LAMPTIRAS LAMPTIRAS
% LAMPTIRAS LAMPTIRAS LAMPTIRAS LAMPTIRAS
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met7 =1;

met8 =0.15;

met9 =0.345;

metl10=0.11;
metl1l1=0.09;
mmt11=0.0054;
metlabx =-0.05;
metlaby =-0.003;

f2 = 0:p1/30:2*pi;

% Basi

% Lamprxl = [0.2500 0.3500 0.3500
% Lampryl = [0.4025 0.4025 0.4032

Lamprxl = [0.338 0.338 0.438
Lampryl = [0.4096 0.4089 0.4089

Lamprx2 = [0.3200 0.338 0.338
Lampry2 = [0.4142 0.4089 0.4096
Lamprx3 = [0.3200 0.338 0.438
Lampry3 = [0.4149 0.4090 0.4096

% stoirigma kai labtiras

Labstxl = [0.2760 0.2960 0.2960
0.2760]+metll+metlabx;

Labstyl = [0.40738 0.40738 0.4110
0.4110]+mmtll+metlaby;

slLabstxl = [0.2780 0.2940 0.2940
0.2780]+metll+metlabx;

sllLabstyl = [0.4072 0.4072 0.4110
0.4110]+mmtll+metlaby;

s2Labstxl = [0.2800 0.2920 0.2920
0.2800]+metll+metlabx;

s2Labstyl = [0.4072 0.4072 0.4110
0.4110]+mmtll+metlaby;

s3Labstxl = [0.2820 0.2900 0.2900
0.2820]+metll+metlabx;

s3Labstyl = [0.4072 0.4072 0.4110
0.4110]+mmtll+metlaby;

sd4lLabstxl = [0.2840 0.2880 0.2880
0.2840]+metll+metlabx;

sd4Labstyl = [0.4072 0.4072 0.4110
0.4110]+mmtll+metlaby;

sSLabstxl = [0.2850 0.2870 0.28700
0.2850]+metll+metlabx;

sSLabstyl = [0.4072 0.4072 0.4110
0.4110]+mmtll+metlaby;

s6Labstxl = [0.2855 0.2865 0.2865
0.2855]+metll+metlabx;

s6Labstyl = [0.4072 0.4072 0.4110

0.4110] +mmtll+metlaby;

0.2500]+metll;
0.4032]+mmt11;

0.438 ]+metlabx;
0.4096]+metlaby;

0.3200]+metlabx;
0.4149]+metlaby;

0.4100]+metlabx;
0.4149]+metlaby;
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rlabx =0.015;
rlaby =0.02;

labx = (0.18+rlabx*cos(f2)) *met74+metl10-0.0044+metll+metlabx;
laby = (0.47+rlaby*sin(f2)) *met8+met9-0.002+mmtll+metlaby;
labxl = (0.18+0.95*rlabx*cos (f2)) *met74+metl10-
0.004+metll+metlabx;

labyl = (0.47+0.95*rlaby*sin(f2)) *met8+met9-

0.002+mmtll+metlaby;

labx2 = (0.18+0.9*rlabx*cos (f2)) *met7+metl10-
0.004+metll+metlabx;
laby2 = (0.47+40.9*rlaby*sin(f2)) *met8+met9-

0.002+mmtll+metlaby;

labx3 = (0.18+0.82*rlabx*cos (f2)) *met7+metl0-
0.004+metll+metlabx;
laby3 = (0.47+0.82*rlaby*sin(f2)) *met8+met9-

0.002+mmtll+metlaby;

labx4 = (0.18+40.7*rlabx*cos (f2)) *met7+metl10-
0.004+metll+metlabx;
laby4 = (0.47+0.7*rlaby*sin(f2)) *met8+met9-

0.002+mmtll+metlaby;

labx5 = (0.18+0.6*rlabx*cos (f2)) *met7+metl0-
0.004+metll+metlabx;
laby5 = (0.47+0.6*rlaby*sin(f2)) *met8+met9-

0.002+mmtll+metlaby;

labx6o = (0.184+0.5*rlabx*cos (f2)) *met7+metl10-
0.004+metll+metlabx;
laby6 = (0.47+0.5*rlaby*sin(f2)) *met8+met9-

0.002+mmtll+metlaby;

labx7 = (0.18+0.4*rlabx*cos (f2)) *met7+metl0-
0.004+metll+metlabx;
laby7 = (0.47+0.4*rlaby*sin(f2)) *met8+met9-

0.002+mmtll+metlaby;

labx8 = (0.18+0.3*rlabx*cos (f2)) *met7+metl0-
0.004+metll+metlabx;
laby8 = (0.47+0.3*rlaby*sin (f2)) *met8+met9-

0.002+mmtll+metlaby;

labx9 = (0.18+0.2*rlabx*cos (f2)) *met7+metl0-
0.004+metll+metlabx;
laby9 = (0.47+0.2*rlaby*sin(f2)) *met8+met9-

0.002+mmtll+metlaby;

% Vasi hlektrodekti

hlekx =[0.2570 0.3330 0.320 0.25001-
0.005+metll+metlabx;
hleky =[0.406 0.406 0.408 0.408]+mmtll+metlaby;

32



[Ttuxlakn epyacio s Mapiag ABavaciov 2017
hlekxpolxl = [0.2600 0.2700 0.2700 0.26001-
0.0l+metll+metlabx;
hlekxpolyl = [0.408 0.408 0.411 0.4111-
0.001l+mmtll+metlaby;
hlekxpolx2 = hlekxpolx1+0.06;
hlekxpoly2 =hlekxpolyl;
xpinl = [0.1 0.7+0.02 0.7+0.02 0.11-0.03;
ypinl = [0.45 0.45 0.95 0.95 1;
xpin2 = [0.093 0.71+0.02 0.7140.02 0.093]-0.03;
ypin2 = [0.4485 0.4485 0.96 0.96];
% S%$skiasi pinaka
pinsk k x = [0.1 0.7+0.02 0.7+0.02 0.11-0.03;
pinsk k y = [0.45 0.45 0.451 0.451 1;
pinsk a x = [0.1 0.103 0.103 0.11-0.03;
pinsk a y = [0.45 0.45 0.95 0.95 1;
pinsk d x = [0.1 0.103 0.103 0.1]1+40.6+0.02-0.03 ;
pinsk d y = [0.45 0.45 0.95 0.95 1;
pinsk p x = [0.1 0.7+0.02 0.7+0.02 0.11-0.03;
pinsk p y = [0.45 0.45 0.451 0.451 1+0.299;
fill (xdd, ydd, [0.5, ka3xb, ka3yb, [0.1451
0.5, 0.5] ,xdpl, ydpl, 0.4235 0.2863] , ...
[0.7 0.6 0.41 ], =xdv, kab5x, kaby, [0.1451
ydv, [0.8 0.7 0.511,... 0.4235 0.2863] ,kabx,
xpin2, ypin2 , [0.4 0.3, ka6y, [0.1451 0.4235
0.2 1,... 0.28631 ,...
xpinl, ypinl , [1 1 1 ka7x, ka7y, [0.1451

1,00

pinsk k x,pinsk k y,[0.7,
0.7,0.71, ...

pinsk a x,pinsk a y,[0.4,
0.4,0.47,...

pinsk d x,pinsk d y, [0.6,
0.6,0.61,...

pinsk p x,pinsk p vy, [0.3,

0.3,0.31,...

tré6x, tréy , [0.6 0.6,
01,...

trlx, trly , [0.7 0.7,
0l1,...

tr2x, tr2y , [0.8 0.8,
01,...

tr3x, tr3y , [0.6, 0.6,
0l1,...

trdx, trdy , [0.7, 0.7,
01,...

tr5x, trb5y , [0.7, 0.7,
01,...

ka3x, ka3y, [0.1451

0.4235 0.2863] ,...

0.4235 0.2863] , kalOx,

kalOy, [0.1451 0.4235
0.2863], ...
kallx, kally, [0.1451

0.4235 0.2863], kal2x,

kal2y, [0.1451 0.4235
0.2863],...

kal3x, kal3y, [0.1451
0.4235 0.28631,

kaldx, kaldy, [0.1451
0.4235 0.28631,

kal8x, kal8y, [0.1451
0.4235 0.2863],

kal9x, kal9y, [0.1451
0.4235 0.2863]1, ...
kaz20x, kaz20y, [0.1451
0.4235 0.2863],...
batxl, batyl, [0.97 0.12
0l1,...

batxlb, batylb, [0.35
0.35 0.357,...
batxlbb, batylbb, [1 0
0l,...
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batx2, baty2, [0.7 0

01, ...

batx2b, baty2b, [0.2 0.2
0.21,...

batx2bb, baty2bb, [0.9 O
01, ...

batx3, baty3, [0.27 0.27
0.271, ...

batpolxl, batpolyl , [0.2
0.2 0.21,...

batpolx2, batpoly2 , [0.2
0.2 0.21,...

ka8x, ka8y, [0.1451
0.4235 0.2863]1, ...

ka9x, ka9y, [0.1451
0.4235 0.2863], ...
kal7x, kal7y, [0.1451
0.4235 0.2863]1, ...
vasdiakx, wvasdiaky, [0.2
0.3 0.21,...
diakddLamprxl,
diakddLampryl , [0.5
0.5 0.5 1,...,..
diakddLamprx2,
diakddLampry2, [0.24
0.24 0.24 1,...
diakddLamprx3,
diakddLampry3, [0.43
0.43 0.43 1,...
vasdiakx, wvasdiaky, [0.2
0.3 0.2],...

moxlx, moxly, [0.1373
0.2157 0.13731, ...
poldiakx, poldiaky, [0.1
0.1 0.11,...
dpoldiakx, dpoldiaky,
(0.1 0.1 0.1]1,...
kalb5x, kalb5y, [0.1451
0.4235 0.286371, ...
kal6x, kalé6y, [0.1451
0.4235 0.2863]1, ...

dox4, doy4, [0.83 0.81
0.88]1,...

dox3, doy3, [0.8 0.8
0.8],...

nex3, ney3, [0.73 0.73
0.731,...

dox1l, doyl, [0.83 0.81
0.781, ...

nexl, neyl, [0.77 0.75
0.71, ...

akmx1l, akmyl, [0.8 0.8
0.81,...

akmx2, akmy2,[0.8 0.8
0.8],...

akmx3, akmy3,[0.8 0.8
0.81,...

ka48x, kad8y, [0.1451
0.4235 0.2863], ...

kad9x, kad9y, [0.1451
0.4235 0.2863], ...
kab55x, kabby, [0.1451
0.4235 0.2863], ...
Lamprxl, Lampryl, [0.
0.8 0.8 ]1,...,...
Lamprx?2, Lampry2, [0.
0.6 0.6 1,...

Lamprx3, Lampry3, [0.
0.7 0.71,...

hlekx, hleky, [0.34 0.34
0.3471, ...

Labstxl, Labstyl , [0.55
0.55 0.55 171,...
slLabstxl, slLabstyl ,
[0.6 0.6 0.6 1,...
s2Labstxl, s2Labstyl ,
[0.65 0.65 0.65 1,...
s3Labstxl, s3Labstyl ,
(0.7 0.7 0.7 1,...
sd4Labstxl, s4lLabstyl ,
[0.75 0.75 0.75 1,...
sbLabstxl, s5Labstyl ,
[0.78 0.78 0.78 1,...
s6Labstxl, s6Labstyl ,
[0.8 0.8 0.8 1,...
labx, laby, [0.9 0.9
0.9],...

hlekxpolxl, hlekxpolyl,
[0.2 0.2 0.2],...
hlekxpolx2, hlekxpoly2,
[0.2 0.2 0.2],....
ka50x, ka50y, [0.1451
0.4235 0.28631, .
ka51x, kably, [0.1451
0.4235 0.28631, .
ka52x, kab52y, [0.1451
0.4235 0.28631, .
kab3x, kab3y, [0.1451
0.4235 0.28631, .
ka54x, kab54y, [0.1451
0.4235 0.28631, .
ka56x, kab5e6y, [0.1451
0.4235 0.28631, .
ka57x, kab57y, [0.1451
0.4235 0.28631, .
kab8x, kab8y, [0.1451
0.4235 0.286371, ...
nex4, ney4, [0.8 0.8
0.8],...

kkadb5x, kkadb5y, [0.6 0.2
0],...

kkad5bx, kkadbSby, [0.76
0.36 01, ...

kkad5cx, kkadb5cy, [0.8
0.4 01, ...

kkad6x, kkadey, [0.6 0.1
0], ey ...

kad45bx, kad5by, [0.76
0.36 01, ...
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kad45cx, kadbcy, [0.8 0.4 kad46x, kade6y, [0.6 0.1
01, ... 01,...
kad45x, kad5y, [0.6 0.2 kkad5dx, kkad5dy, [0.74
01,... 0.45 01, ...
dox2, doy2, [0.75 0.7 kadb5ex, kadbey, [0.74
0.71, ... 0.45 01, ...
nex2, ney2, [0.6 0.6 kka45fx, kkad5fy, [0.8 0.7
0.61,... 01,...
kad7x, kadly, [0.1451 kad5fx, kad5fy, [0.8 0.7
0.4235 0.2863], ... 0l1,...
kad45dx, kad5dy, [0.5 0.2 kad45gx, kads5gy, [0.7 0.4

01, /...

axis ([0 0.85 0.37 0.51);

0],...
'LineStyle', "none')

text (0.3 , 0.49, '"Aioxdéming avolxtodg', 'FontSize',9 )

text (0.30 , 0.455, '+', 'FontSize',14, 'Color', [0.7451 0.03137
0.031371 )

text (0.336, 0.455, '-', 'FontSize',18, 'Color', 'b' )

text (0.5 , 0.45+0.015, 'Kobopd vepd', 'FontSize',9 )

axis off

moxlx =[0.17 0.17 0.23 0.23];

moxly =[0.442 0.44 0.44 0.4427;

pause (5)

fill (xdd, ydd, [0.5, ka5x, kaby, [0.1451
0.5, 0.5] ,xdpl, ydpl, 0.4235 0.2863] ,kabx,
[0.7 0.6 0.41 1, =xdv, ka6y, [0.1451 0.4235
ydv, [0.8 0.7 0.517], ... 0.2863] , ...

xpin2, ypin2 , [0.4 0.3,
0.2 1,...
xpinl, ypinl ,
1,...

pinsk k x,pinsk k y,[0.7,
0.7,0.71, ...

pinsk a x,pinsk a y,[0.4,
0.4,0.471,...

pinsk d x,pinsk d y, [0.6,
0.6,0.61,...

pinsk p x,pinsk p y,[0.3,
0.3,0.31,...
tr6x, troy ,
0l,...
trlx,
0l,...
tr2x,
0l,...
tr3x,
0l,...
tridx,
0l,...
trb5x,
0l,...
ka3x, kaldy, [0.1451
0.4235 0.2863] , ...
ka3xb, ka3yb, [0.1451
0.4235 0.2863]1 , ...

111

[0.6 O.
trly ,
tr2y ,
tr3y ,
trdy ,

trby ,

ka7x, ka7y, [0.1451
0.4235 0.2863] , kalOx,

kalOy, [0.1451 0.4235
0.2863], ...
kallx, kally, [0.1451

0.4235 0.2863], kal2x,

kal2y, [0.1451 0.4235
0.28631, ...

kal3x, kal3y, [0.1451
0.4235 0.28637,

kaldx, kaldy, [0.1451
0.4235 0.286317,

kal8x, kal8y, [0.1451
0.4235 0.28631,

kal9x, kal9y, [0.1451
0.4235 0.28631, ...
ka20x, ka20y, [0.1451
0.4235 0.28631, ...
batxl, batyl, [0.97 0.12
0],...

batxlb, batylb, [0.35
0.35 0.35],...
batxlbb, batylbb, [1 0
0],...

batx2, baty2, [0.7 0
0],...

batx2b, baty2b, [0.2 0.2
0.21,...
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batx2bb, baty2bb, [0.9 0

01, ...
batx3, baty3,
0.271, ...

[0.27 0.27

batpolxl, batpolyl , [0.2

0.2 0.21,...

batpolx2, batpoly2 , [0.2

0.2 0.21,...

ka8x, ka8y, [0
0.4235 0.2863]
ka9x, ka9y, [0
0.4235 0.2863]
kal7x, kal7y,

0.4235 0.2863]

.1451

Joe e oo

.1451
PR

[0.1451

Joe e e

vasdiakx, wvasdiaky, [0.2

0.3 0.21, ...
diakddLamprxl,
diakddLampryl
0.5 0.5 1,...
diakddLamprx2,
diakddLampry2,

[0.5

~

[0.24

0.24 0.24 1,...

diakddLamprx3,
diakddLampry3,

[0.43

0.43 0.43 1,...
vasdiakx, wvasdiaky, [0.2

0.3 0.2],...
moxlx, moxly,
0.2157 0.1373]

[0.1373

J e e e

poldiakx, poldiaky, [0.1

0.1 0.11,...

dpoldiakx, dpoldiaky,

(0.1 0.1 0.
kal5x, kalby,
0.4235 0.2863]
kaléx, kalby,
0.4235 0.2863]

1],...
[0.1451

2R

[0.1451

Joe e

dox4, doy4, [0.83 0.81
0.88]1,...

dox3, doy3, [0.8 0.8
0.8],...

nex3, ney3, [0.73 0.73
0.731, ...

dox1l, doyl, [0.83 0.81
0.781, ...

nexl, neyl, [0.77 0.75
0.71,...

akmx1l, akmyl, [0.8 0.8
0.8],...

akmx2, akmy2,[0.8 0.8
0.81,...

akmx3, akmy3,[0.8 0.8
0.81,...

ka48x, ka48y, [0.1451
0.4235 0.2863], ...
kad49x, kad9y, [0.1451
0.4235 0.2863], ...
ka55x, kab55y, [0.1451
0.4235 0.2863], ...

Lamprxl, Lampryl, [0.
0.8 0.8 ]1,...,...
Lamprx?2, Lampry2, [0.
0.6 0.6 ],...

Lamprx3, Lampry3, [0.
0.7 0.71,...

hlekx, hleky, [0.34 0.34
0.3471, ...

Labstxl, Labstyl , [0.55
0.55 0.55 171,...
slLabstxl, slLabstyl ,
[0.6 0.6 0.6 1,...
s2Labstxl, s2Labstyl ,
[0.65 0.65 0.65 1,...
s3Labstxl, s3Labstyl ,
(0.7 0.7 0.7 1,...
sd4Labstxl, s4lLabstyl ,
[0.75 0.75 0.75 1,...
sbLabstxl, sb5Labstyl ,
[0.78 0.78 0.78 1,...
sbLabstxl, s6éLabstyl ,
[0.8 0.8 0.8 1,...
labx, laby, [0.9 0.9
0.9],...

hlekxpolxl, hlekxpolyl,
[0.2 0.2 0.2],...
hlekxpolx2, hlekxpoly2,
[0.2 0.2 0.2]1,....
ka50x, kabOy, [0.1451
0.4235 0.28631, .
ka51x, kab5ly, [0.1451
0.4235 0.28631, .
ka52x, kab52y, [0.1451
0.4235 0.28631, .
kab53x, kab3y, [0.1451
0.4235 0.28631, .
ka54x, kab4y, [0.1451
0.4235 0.28631, .
kab6x, kaboy, [0.1451
0.4235 0.28631, .
ka57x, kab57y, [0.1451
0.4235 0.28631, .
ka58x, kab58y, [0.1451
0.4235 0.2863], ...
nex4, ney4, [0.8 0.8
0.81,...

kka4d5x, kkad5y, [0.6 0.2
0],...

kkad45bx, kkad45by, [0.76
0.36 01, ...

kkad5cx, kkadbcy, [0.8
0.4 01, ...

kkad6x, kkado6y, [0.6 0.1
0], ¢ee, ...

kad45bx, kadb5by, [0.76
0.36 01,...

kad45cx, kadbcy, [0.8 0.4
0],...

kad5x, kadby, [0.6 0.2
0],...
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dox2, doy2, [0.75 0.7 kka45dx, kka4dbdy, [0.74
0.71, ... 0.45 01,...

nex2, ney2, [0.6 0.6 kad5ex, kadb5ey, [0.74
0.61,... 0.45 071, ...

kad7x, kad7y, [0.1451 kkad45fx, kkad45fy, [0.8 0.7
0.4235 0.2863], ... 01,...

ka45dx, kad45dy, [0.5 0.2 kad45fx, kad45fy, [0.8 0.7
Ol ,evvyonn 0l,...

kad46x, kadey, [0.6 0.1 ka45gx, kad5gy, [0.7 0.4
0l,... 01, ...

'LineStyle', "none')

axis ([0 0.85 0.37 0.51);

text (0.3 , 0.49, 'Aitaxdéming xAelortdg', 'FontSize',9 )

text (0.30 , 0.455, '+', 'FontSize',14, 'Color', [0.7451 0.03137
0.0313771 )

text (0.336, 0.455, '-', 'FontSize',18,'Color', 'b' )

text (0.5 , 0.45+0.015, 'KobBopd vepd', 'FontSize',9 )

text (0.45 , 0.445+0.015, '"Aev dlLépyxeTal NAEXKTPLkO pelua',
'FontSize',9 )

axis off

9090000

cc=stam;
while (cc==1)
cc=stam;
pause (ryte) ;
if (status==1)
return
end
end

dosy=0.26;
doxmx=-0.095;
doxmy=0.277;

doxl = ([0.38 0.52 0.52 0.38]) *dosx+doxmx;
doyl = ([0.525 0.525 0.6 0.6]) *dosy+doxmy;

dox2 = ([0.36 0.38 0.38 0.36 ])*dosx+doxmx;
doy2 = ([0.55 0.525 0.6 0.6250 ])*dosy+doxmy;

dox3 = ([ 0.36 0.5 0.5 0.36 ])*dosx+doxmx;
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doy3 = ([ 0.55 0.55 0
dox4 = ([ 0.52 0.52 0
doy4d = ([ 0.525 0.6 O.
akmxl =([0.38 0.5
akmyl =([0.55 0.55 0
akmx2 =([0.497 0.5
akmy2 =([0.55 0.55 0
akmx3 =([0.497 0.5
akmy3 =([0.55 0.55 0
% NERO

nexl = ([0.38 0.52 0.
neyl = ([0.525 0.525
nex?2 = ([0.36 0.38 0.3
ney2 = ([0.55 0.525 0.5
nex3 = ([0.36 0.38 0.5
ney3 = ([0.61 0.584 0.5
nex4 =[0.6665 0.685 0.
ney4 =[0.433 0.4288 0.

oe

%

LAMPTIRAS LAMPTIRAS LAMPT
LAMPTIRAS LAMPTIRAS LAMPT

o
°

met?7 =1;

met8 =0.15;

met9 =0.345;

metl0=0.11;

metl1=0.09;

mmt11=0.0054;

metlabx =-0.05;

metlaby =-0.003;

f2 = 0:pi/30:2*pi;

% Basi

% Lamprxl = [0.2500 0.3

% Lampryl = [0.4025 0.4
Lamprxl = [0.338 0.338
Lampryl = [0.4096 0.40

Lamprx2 = [0.3200 0.338

Lampry2 = [0.4142 0.4089

Lamprx3 = [0.3200 0.338

Lampry3 = [0.4149 0.4096

Q

°

stoirigma kai labtiras
Labstxl [0.2760 0.2960

.6250 0.6250]) *dosy+doxmy;

.5 0.5 ])*dosx+doxmx;
6250 0.55]) *dosy+doxmy;

0.5 0.38]) *dosx+doxmx;
.553 0.553]) *dosy+doxmy ;
0.5 0.497 1) *dosx+doxmx;
.60 0.60 ])*dosy+doxmy ;
0.52 0.517 1) *dosx+doxmx;
.525 0.525]) *dosy+doxmy ;
52 0.38]) *dosx+doxmx;
0.584 0.584]) *dosy+doxmy;
8 0.36 ])*dosx+doxmx;

84 0.6090]) *dosy+doxmy;

2 0.5 ])*dosx+doxmx;

84 0.61]) *dosyt+doxmy;

475 0.455];

4288 0.433];

IRAS LAMPTIRAS
IRAS LAMPTIRAS

500 0.3500 0.2500]+metll;

025 0.4032 0.4032]+mmt11;
0.438 0.438 J+metlabx;

89 0.4089 0.4096]+metlaby;
0.338 0.3200]+metlabx;
0.4096 0.4149]+metlaby;
0.438 0.4100]+metlabx;
0.4096 0.4149]+metlaby;
0.2960 0.2760]+metll+metlabx;
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Labstyl = [0.4074 0.4074
rlabx =0.015;

rlaby =0.02;

labx
laby

% Vasi hlektrodekti

hlekx =[0.2570 0.3330
0.005+metll+metlabx;

hleky =[0.406 0.406 0.408
hlekxpolxl = [0.2600 0.2700
0.0l+metll+metlabx;

hlekxpolyl = [0.408 0.408

0.001l+mmtll+metlaby;
hlekxpolx2 = hlekxpolxl+0.06;
hlekxpoly2 =hlekxpolyl;
moxlx =[0.17 0.175
moxly =[0.438 0.437

0.22
0.444

fill (xdd, ydd, [0.5,

0.5, 0.5] ,xdpl, ydpl,
[0.7 0.6 0.41 ], =xdv,
ydv, [0.8 0.7 0.51],...
xpin2, ypin2 , [0.4 0.3,
0.2 1,...
xpinl, ypinl ,
1,00,

pinsk k x,pinsk k y,[0.7,
0.7,0.71, ...

pinsk a x,pinsk a y,[0.4,
0.4,0.471,...

pinsk d x,pinsk d y, [0.6,
0.6,0.61,...

pinsk p x,pinsk p y,[0.3,
0.3,0.31,...

(111

tréox, tréey , [0.6 0.6,

01,...

trlx, trly , [0.7 0.7,

01, ...

tr2x, tr2y , [0.8 0.8,

01, ...

tr3x, tr3y , [0.6, 0.6,
01,...

trdx, trdy , [0.7, 0.7,
01, ...

tr5x, trby , [0.7, 0.7,
01,...

ka3x, ka3y, [0.1451

0.4235 0.2863] ,...
ka3xb, ka3yb, [0.1451
0.4235 0.2863] ,...
kabx, kaby, [0.1451
0.4235 0.2863] ,kabx,
ka6y, [0.1451 0.4235
0.2863] ,...

0.4110

0.320

0.4110]+mmtll+metlaby;

(0.18+rlabx*cos (f2)) *met7+metl10-0.004+metll+metlabx;
(0.47+rlaby*sin(f2)) *met8+met9-0.002+mmt1ll+metlaby;

0.2500]1-

0.408]+mmtll+metlaby;
0.2700 0.26001-

0.411 0.411]-

0.215];
0.445]+metdy;

ka7x, kavy, [0.1451
0.4235 0.2863] , kalOx,

kalOy, [0.1451 0.4235
0.28631,...
kallx, kally, [0.1451

0.4235 0.2863], kal2x,

kal2y, [0.1451 0.4235
0.28631, ...

kal3x, kal3y, [0.1451
0.4235 0.28631,

kaldx, kaldy, [0.1451
0.4235 0.28631,

kal8x, kal8y, [0.1451
0.4235 0.28631,

kal9x, kal9y, [0.1451
0.4235 0.28631, ...

ka20x, ka20y, [0.1451
0.4235 0.286371, ...

batxl, batyl, [0.97 0.12
0l,...

batxlb, batylb, [0.35
0.35 0.351,...

batxlbb, batylbb, [1 0
01,...

batx2, baty2, [0.7 0
0l,...

batx2b, baty2b, [0.2 0.2
0.2],...

batx2bb, baty2bb, [0.9 0
0l,...

batx3, baty3, [0.27 0.27
0.271, ...

batpolxl, batpolyl , [0.2
0.2 0.2],...

batpolx2, batpoly2 , [0.2
0.2 0.21,...
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ka8x, ka8y, [0.1451 Labstxl, Labstyl , [0.55
0.4235 0.28631, ... 0.55 0.55 171,...
ka9x, ka9y, [0.1451 slLabstxl, slLabstyl ,
0.4235 0.28631, ... (0.6 0.6 0.6 1,...

kal7x, kal7y, [O.
0.4235 0.28631, ...

vasdiakx,

vasdiaky, [O.

0.3 0.21,...
diakddLamprxl,
diakddLampryl ,

0.5 0.5

Trevor o

diakddLamprx2,
diakddLampry2, [0
0.24 0.24 1,...
diakddLamprx3,
diakddLampry3, [0
0.43 0.43 1,...

vasdiakx,

vasdiaky, [O.

0.3 0.21,...
moxlx, moxly, [O.
0.2157 0.13731, ...

1451

[0.5

.24

.43

1373

poldiakx, poldiaky, [O.
0.1 0.11,...
dpoldiakx, dpoldiaky,
[0.1 0.1 0.11,...
kalb5x, kalb5y, [0.1451
0.4235 0.2863]1, ...
kaleéx, kaley, [0.1451
0.4235 0.28631, ...
dox4, doy4, [0.83 0.81
0.881,...

dox3, doy3, [0.8 0.8
0.81,...

nex3, ney3, [0.63 0.63
0.631,...

dox1l, doyl, [0.83 0.81
0.781, ...

nexl, neyl, [0.66 0.64
0.61,...

akmx1l, akmyl, [0.7 0.7
0.71, ...

akmx2, akmy2, [0.7 0.7
0.71, ...

akmx3, akmy3, [0.7 0.7
0.71, ...

ka48x, kad8y, [0.1451
0.4235 0.2863]1, ...
kad49x, kad9y, [0.1451
0.4235 0.2863]1, ...
ka55x, kab5y, [0.1451
0.4235 0.2863]1, ...
Lamprxl, Lampryl, (0.
0.8 0.8 1,...,...
Lamprx2, Lampry2, [0.
0.6 0.6 1,...
Lamprx3, Lampry3, [0.
0.7 0.71,...

hlekx, hleky, [0.34 O.

0.3471, ...

34

s2Labstxl, s2Labstyl ,
[0.65 0.65 0.65 1,...
s3Labstxl, s3Labstyl ,
(0.7 0.7 0.7 1,...
s4Labstxl, s4Labstyl ,
[0.75 0.75 0.75 1,...
sbLabstxl, sbSLabstyl ,
[0.78 0.78 0.78 1,...
s6Labstxl, s6Labstyl ,
(0.8 0.8 0.8 1,...
labx, laby, [1 1
11,...

hlekxpolxl, hlekxpolyl,
[0.2 0.2 0.2],...
hlekxpolx2, hlekxpoly2,
[0.2 0.2 0.2],....
ka50x, kab50y, [0.1451
0.4235 0.28631, .
ka51x, kably, [0.1451
0.4235 0.28631, .
ka52x, kab52y, [0.1451
0.4235 0.28631, .
ka53x, kab3y, [0.1451
0.4235 0.28631, .
ka54x, kab54y, [0.1451
0.4235 0.28631, .
ka56x, kab5e6y, [0.1451
0.4235 0.28631, .
ka57x, kab57y, [0.1451
0.4235 0.28631, .
kab58x, kab8y, [0.1451
0.4235 0.2863], ...

nex4, ney4, [0.7 0.7
0.71, ...

kkad5x, kkad5y, [0.6 0.2
0],...

kkad5bx, kkadbby, [0.76
0.36 01, ...

kkad5cx, kkadbcy, [0.8
0.4 01, ...
kkadox, kkadoy,
0], ey ...
kad45bx, kad5by,
0.36 0],...
kad45cx, kadbcy,
0l,...

kadb5x, kadby,
0l,...
dox2, doy2,
0.71,...
nex2, ney2,
0.51,...
kad7x, kadly, [0.1451
0.4235 0.2863], ...
ka45dx, kad45dy, [0.5 0.2
0l,...,...

[0.6 0.1
[0.76
[0.8 0.4
[0.6 0.2
[0.75 0.7

[0.5 0.5
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ka46x, kad6y, [0.6 0.1 kka45fx, kkad5fy, [0.8 0.7
0l,... 0l,...
kka45dx, kka45dy, [0.74 ka45fx,kad5fy, [0.8 0.7
0.45 01, ... 0],...
kadb5ex, kadbey, [0.74 kad5gx, kadbqgy, [0.7 0.4
0.45 01, ... 0l,...

axis ([0 0.85 0.37 0.5]

text (0.3 , 0.49,

text (0.30 , 0.455, '+',
0.031371 )

text (0.336, 0.455, '-',
text (0.45 , 0.45+0.015,
'FontSize',9 )

axis off

moxlx =[0.17 0.17 0
moxly =[0.442 0.44 0

%

pause (5)

o

°

o

°

metatopisix2 =-0.05;
metatopisiy2 =-0.003;
Blxmin =0.382;
Blxmax=0.382;
Blx Blxmax;
Blymin=0.423;
Blymax=0.432;
Bly= Blymax;
Alx =0.38;
Aly=0.423;
Clx=0.384;
Cly=0.423;
aktxl [Alx
aktyl [Aly

Blx
Bly

o

°

2h panw aristera

B2xmin =0.361;
B2xmax=0.346;
B2x B2xmax;
B2ymin=0.422;
B2ymax=0.426;
B2y= B2ymax;
A2x =0.359;
A2y=0.421;
C2x=0.364;
C2y=0.4215;

aktx2 =
akty?2

B2x
B2y

[A2x
[A2y

"AltaxkdénTng ovolxtoéc',

'LineStyle', "none')

);

'FontSize',9 )

'FontSize',14, 'Color', [0.7451 0.03137

'FontSize',18, 'Color', 'b'

)

'"ALdAuua XAwplLoUxou vatplou',

.23
.44

0.23];
0.442];

’

Clx]1-0.0084+metatopisix2
Cly]+metatopisiy?2;

C2x]+metatopisix2;
C2yl+metatopisiy?2;
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[

% 3h orizodia aristera =
B3xmin =0.356;
B3xmax=0.325;
B3x = B3xmax;
B3ymin=0.4185;
B3ymax=0.419;
B3y= B3ymax;
A3x =0.356;
A3y=0.418;
C3x=0.356;
C3y=0.4196;

aktx3 = [A3x B3x C3x]+metatopisix2;
akty3 [A3y B3y C3y]+metatopisiy?2;

o)

% 4h katw aristera =
B4xmin =0.356;
Bi4xmax=0.329;
Bdx = Bixmax;
B4ymin=0.416;
Bdymax=0.412;
B4y= Bdymax;
Ad4x =0.361;
Ady=0.4157;
C4x=0.356;
C4y=0.4163;

aktx4d = [Adx B4dx Ci4x]+metatopisix?2;
akty4 [Ady Bdy Cdy]+metatopisiy?2;

[

% 5h panw deksia=

B5xmin =0.389;
BS5xmax=0.41;
B5x = Bbxmax;
B5ymin=0.422;
BS5ymax=0.426;
B5y= Bbymax;
Ab5x =0.39;
Aby=0.421;
C5x=0.388;
C5y=0.4215;

aktxh [AS5x B5x CS5x]+metatopisix?2;
akty5 = [Aby B5y C5y]+metatopisiy?2;

o)

% 6h orizodia deksia =
B6xmin =0.395;
Boxmax=0.42;

B6x = Bb6xmax;
B6ymin=0.418;
Boymax=0.419;

Boy= Boymax;

Abx =0.395;

A6y=0.418;
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Cox=0.395;
Cé6y=0.4196;
aktx6 = [Abx Bo6x Cé6x]+metatopisix2;
akty6 = [Ab6y B6y Céy]+metatopisiy2;

% 7h katw deksia =
B7xmin =0.392;
B7xmax=0.42;
B7x = B7xmax;
B7ymin=0.416;
B7ymax=0.412;
B7y= B7ymax;
A7x =0.39;
AT7y=0.4157;
C7x=0.395;
C7y=0.4163;

aktx’7
akty’7

o o o
© © ©

fill (xdd, ydd, [0.55,
0.55, 0.55] ,xdpl,
ydpl, [0.7 0.6 0.41 1,
xdv, ydv, [0.8 0.7
0.5171, ...

xpin2, ypin2 ,
(0.4 0.3, 0.2 1,...
xpinl, ypinl , [1 1

k x,pinsk k vy, [0.7,
71, ...

pinsk a x,pinsk a y,[0.4,
0.4,0.471, ...

pinsk d x,pinsk d vy, [0.6,
0.6,0.6],...

pinsk p x,pinsk p y,[0.3,
0.3,0.31,...
tr6x, tréey , [0.6 0.6,
0l,...

trlx, trly , [0.7

0.7, 01,...
tr2x, tr2y , [0.8
0.8, 01,...

tr3x, tr3y , [0.6,
0.6, 0],...

trdx, trdy ,
(0.7, 0.7, 01,...
tr5x, trby , [0.7, 0.7,
0],...
ka3x, ka3y, [0.1451
0.4235 0.2863] , ...

[AT7x B7x C7x]+metatopisix2;
[AT7y B7y C7y]+metatopisiy2;

ka3xb, ka3yb, [0.1451
0.4235 0.2863] , ...
ka5x, kaby, [0.1451
0.4235 0.2863] ,kabx,
ka6y, [0.1451 0.4235
0.2863] ,...

ka7x, ka7y, [0.1451
0.4235 0.2863] , kalOx,
kalOy, [0.1451 0.4235
0.28631, ...

kallx, kally, [0.1451
0.4235 0.2863], kal2x,
kal2y, [0.1451 0.4235
0.28631, ...

kal3x, kal3y, [0.1451
0.4235 0.28631,

kaldx, kaldy, [0.1451
0.4235 0.28631,

kal8x, kal8y, [0.1451
0.4235 0.28637,

kal9x, kal9y, [0.1451
0.4235 0.2863], ...
ka20x, ka20y, [0.1451
0.4235 0.28631, ...
batxl, batyl, [0.97 0.12
0],...

batxlb, batylb, [0.35
0.35 0.35],...
batxlbb, batylbb, [1 0
0],...

batx2, baty2, [0.7 0
0],...

batx2b, baty2b, [0.2 0.2
0.21,...
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batx2bb, baty2bb, [0.9 0
01, ...

batx3, baty3, [0.27 0.27
0.271, ...

batpolxl, batpolyl , [0.2
0.2 0.2],...

batpolx2, batpoly2 , [0.2
0.2 0.21,...

ka8x, ka8y, [0.1451
0.4235 0.2863]1, ...

ka9x, ka9y, [0.1451
0.4235 0.2863], ...

kal7x, kal7y, [0.1451
0.4235 0.2863]1, ...
vasdiakx, wvasdiaky, [0.2
0.3 0.2],...
diakddLamprxl,
diakddLampryl
0.5 0.5 1,...,..
diakddLamprx2,
diakddLampry2, [0.24
0.24 0.24 1,...
diakddLamprx3,
diakddLampry3, [0.43
0.43 0.43 1,...
vasdiakx, wvasdiaky, [0.2
0.3 0.2],...

moxlx, moxly, [0.1373
0.2157 0.137371, ...
poldiakx, poldiaky, [0.1
0.1 0.1]1,...
dpoldiakx, dpoldiaky,
(0.1 0.1 0.1]1,...
kal5x, kalby, [0.1451
0.4235 0.286371, ...
kaleéex, kaley, [0.1451
0.4235 0.2863]1, ...

dox4, doy4, [0.83 0.81
0.88]1,...

dox3, doy3, [0.8 0.8
0.8],...

nex3, ney3, [0.63 0.63
0.63]1,...

dox1l, doyl, [0.83 0.81
0.781,...

nexl, neyl, [0.66 0.64
0.6],...

akmx1l, akmyl, [0.7 0.7
0.71, ...

akmx2, akmy2,[0.7 0.7
0.71, ...

akmx3, akmy3, [0.7 0.7
0.71, ...

ka48x, ka48y, [0.1451
0.4235 0.286371, ...
kad49x, kad9y, [0.1451
0.4235 0.2863]1, ...
ka55x, kab55y, [0.1451
0.4235 0.2863], ...

[0.5

~

Lamprxl, Lampryl, [0.

0.8 0.8 ]1,...,...
Lamprx?2, Lampry2, [0.
0.6 0.6 ],...

Lamprx3, Lampry3, [0.
0.7 0.71,...

hlekx, hleky, [0.34 0.34
0.3471, ...

Labstxl, Labstyl , [0.55
0.55 0.55 171,...
slLabstxl, slLabstyl ,
[0.6 0.6 0.6 1,...
s2Labstxl, s2Labstyl ,
[0.65 0.65 0.65 1,...
s3Labstxl, s3Labstyl ,
(0.7 0.7 0.7 1,...
sd4Labstxl, s4lLabstyl ,
[0.75 0.75 0.75 1,...
sbLabstxl, sb5Labstyl ,
[0.78 0.78 0.78 1,...
sbLabstxl, s6éLabstyl ,
[0.8 0.8 0.8 1,...
labx, laby, [1 1
0],...

labx1l, labyl, [1 1
0.2],...

labx2, laby2, [1 1
0.41,...

labx3, laby3, [1 1
0.5],...

labx4, laby4, [1 1
0.6],...

labx5, laby5, [1 1
0.71, ...

labx6, labyé6, [1 1
0.8],...

labx7, laby7, [1 1
0.9],...

labx8, laby8, [1 1
11,...

labx9, laby9, [1 1
11,...

hlekxpolxl, hlekxpolyl,
[0.2 0.2 0.2],...
hlekxpolx2, hlekxpoly2,
[0.2 0.2 0.2]1,....
ka50x, ka50y, [0.1451
0.4235 0.28631, .
ka51x, kably, [0.1451
0.4235 0.28631, .
ka52x, kab52y, [0.1451
0.4235 0.28631, .
ka53x, kab53y, [0.1451
0.4235 0.28631, .
ka54x, kab4y, [0.1451
0.4235 0.28631, .
ka56x, kab5ey, [0.1451
0.4235 0.28631, .
kab57x, kab7y, [0.1451
0.4235 0.2863], ...
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ka58x, kab8y, [0.1451 kkad5dx, kkad5dy, [0.74
0.4235 0.28631, ... 0.45 01, ...

nex4, ney4, [0.7 0.7 kad5ex, kadb5ey, [0.74
0.7], ... 0.45 01, ...

kka45x, kkad5y, [0.6 0.2 kkad45fx, kkad5fy, [0.8 0.7
01,... 0],...

kkad5bx, kkad5by, [0.76 kad5fx,kad5fy, [0.8 0.7
0.36 01, ... 0],...

kkad5cx, kkadbcy, [0.8 kad5gx, kadbqgy, [0.7 0.4
0.4 01, ... 0],...

kkad6x, kkado6y, [0.6 0.1 aktxl, aktyl, [0.9 0.9
O 0l,...

kad45bx, kadb5by, [0.76 aktx2, akty2, [0.9 0.9
0.36 01, ... 0],...

kad45cx, kadbcy, [0.8 0.4 aktx3, akty3, [0.9 0.9
0l,... 0],...

ka45x, kad5y, [0.6 0.2 aktx4, akty4, [0.9 0.9
0l,... 0],...

dox2, doy2, [0.75 0.7 aktx5, akty5, [0.9 0.9
0.7, ... 0],...

nex2, ney2, [0.5 0.5 aktx6, akty6, [0.9 0.9
0.5],... 0], ...

kad7x, kad7y, [0.1451 aktx7, akty7, [0.9 0.9
0.4235 0.2863], ... 0],...

kad45dx, kad45dy, [0.5 0.2
0l ,evvyonn

kad46x, kadeéy, [0.6 0.1
0l,...

o°

'LineStyle', "'none')

axis ([0 0.85 0.37 0.5]);
text (0.3 , 0.49, '"Aioxdéming xAelotdg', 'FontSize',9 )

text (0.30 , 0.455, '+', 'FontSize',14, 'Color', [0.7451 0.03137
0.031371 )
text (0.336, 0.455, '-', 'FontSize',18, 'Color', 'b' )

text (0.45 , 0.45+0.015, 'AiL&dAupa xAwploUyxou voatplou',
'FontSize',9 )
text (0.45 , 0.445+0.015, '"Alépxetol nAextplkd pevpa',
'FontSize',9 )

axis off

set (handles.pushbutton5, "enable', 'on")
set (handles.pushbutton6, 'enable', 'on'")

% —--- Executes on button press in pushbutton3.

function pushbutton3 Callback (hObject, eventdata, handles)

% hObject handle to pushbutton3 (see GCBO)

% eventdata reserved - to be defined in a future version of
MATLAB

% handles structure with handles and user data (see GUIDATA)
global stam;

if (stam==0)
set (handles.pushbutton3, 'string', "Suvéyxeita')
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set (handles.pushbuttonb, 'enable', 'on')
set (handles.pushbutton6, 'enable', 'on')
stam=1;

elseif (stam==1)
set (handles.pushbutton3, 'string', "Altakonn")
set (handles.pushbuttonb, 'enable', "off")
set (handles.pushbutton6, 'enable', 'off")
stam=0;

else

end

guidata (hObject, handles);

% —--—- Executes on button press in pushbutton4.

% function pushbutton4 Callback (hObject, eventdata, handles)

% % hObject handle to pushbutton4 (see GCBO)

% % eventdata reserved - to be defined in a future version of
MATLAB

% % handles structure with handles and user data (see
GUIDATA)

% global suv;

% global stam;

% suv=get (handles.pushbutton4, 'value');
% stam=0;

% —--- Executes on button press in pushbutton5.

function pushbutton5 Callback (hObject, eventdata, handles)

% hObject handle to pushbutton5 (see GCBO)

% eventdata reserved - to be defined in a future version of
MATLAB

% handles structure with handles and user data (see GUIDATAR)
global ryt;

global status;

status=1;

axes (handles.axesl)

cla

clear ryt;

set (handles.editl, 'enable', 'on', 'string', '5");

set (handles.pushbutton2, 'enable', 'on'")

guidata (hObject, handles);

% —--—- Executes on button press in pushbuttoné6.
function pushbutton6 Callback (hObject, eventdata, handles)
% hObject handle to pushbutton6 (see GCBO)
% eventdata reserved - to be defined in a future version of
MATLAB
% handles structure with handles and user data (see GUIDATA)
global status;
global stam;
hfin=questdlg ('Efodoc amd 10 mpdypouuc; ') ;
switch hfin
case 'Yes'

stam=1;

status=1;

closereq;
end

46



[Ttuxlakn epyacio s Mapiag ABavaciov 2017

o

°

--—- Executes on button press in pushbutton7.

function pushbutton7 Callback (hObject, eventdata, handles)

% hObject handle to pushbutton7 (see GCBO)
% eventdata reserved - to be defined in a future version of
MATLAB

handles structure with handles and user data (see GUIDATA)

o
°
|

help eik 3 15a.pdf;

O xodwkag ypnoponotel to apyeio help eik 3 15a.pdf yia va deiEet v
Bonbeta Tov TopadElyUATOC

Gfig_3.15b.m

function varargout = gfig 3 15b(varargin)

o

oe

r

o° o

o

t

o° oP

o

C

o

°

i

oe

%

G

\4

o

°

e}

%

p

o

\4

o

o

a

o 0o oe

oe

oe

Q

°

9
g9

GFIG 3 15B M-file for gfig 3 15b.fig

GFIG 3 15B, by itself, creates a new GFIG_3 15B or
aises the eXlStlng

singleton*.

H = GFIG 3 15B returns the handle to a new GFIG 3 15B or
he handle to
the existing singleton*.

GFIG 3 15B('CALLBACK',hObject,eventData,handles, ...)
alls the local

function named CALLBACK in GFIG_3 15B.M with the given
nput arguments.

GFIG 3 15B('Property','Value',...) creates a new
FIG 3 15B or raises the

existing singleton*. Starting from the left, property
alue pairs are

applied to the GUI before gfig 3 15b OpeningFcn gets
alled. An

unrecognized property name or invalid value makes
roperty application

stop. All inputs are passed to gfig 3 15b OpeningFcn
ia varargin.

*See GUI Options on GUIDE's Tools menu. Choose "GUI
llows only one

instance to run (singleton)"
See also: GUIDE, GUIDATA, GUIHANDLES
Edit the above text to modify the response to help gfig 3 15b
Last Modified by GUIDE v2.5 28-0ct-2011 11:25:52
Begin initialization code - DO NOT EDIT

ui Singleton = 1;
ui State = struct('gui Name', mfilename,

'gui Singleton', gui_ Singleton,

'gui OpeningFcn', @gfig 3 15b OpeningFcn,
'gui OutputFcn', @gfig 3 15b OutputFcn,
'gui LayoutFcn', 1,

'gui Callback', (1)
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if nargin && ischar (varargin{l})
gui State.gui Callback = str2func(varargin{l});
end

if nargout

[varargout{l:nargout}] = gui mainfcn(gui_State, varargin{:});
else

gul mainfcn(gui State, varargin{:});

end

% End initialization code - DO NOT EDIT

o)

% —--- Executes just before gfig 3 15b is made visible.
function gfig 3 15b OpeningFcn (hObject, eventdata, handles,
varargin)

% This function has no output args, see OutputFcn.

hObject handle to figure

eventdata reserved - to be defined in a future version of
MATLAB

o

o

$ handles structure with handles and user data (see GUIDATA)
% varargin command line arguments to gfig 3 15b (see
VARARGIN)

[

% Choose default command line output for gfig 3 15b
handles.output = hObject;

[

% Update handles structure
guidata (hObject, handles);

% UIWAIT makes gfig 3 15b wait for user response (see UIRESUME)
% uiwait (handles.figurel);

[

% —--- Outputs from this function are returned to the command
line.

function varargout = gfig 3 15b OutputFcn (hObject, eventdata,
handles)

% varargout cell array for returning output args (see
VARARGOUT) ;

% hObject handle to figure

% eventdata reserved - to be defined in a future version of
MATLAB

% handles structure with handles and user data (see GUIDATA)

o)

% Get default command line output from handles structure
varargout{l} = handles.output;

function editl Callback (hObject, eventdata, handles)

% hObject handle to editl (see GCBO)

% eventdata reserved - to be defined in a future version of
MATLAB

% handles structure with handles and user data (see GUIDATA)
% Hints: get (hObject, 'String') returns contents of editl as
text

% str2double (get (hObject, 'String')) returns contents of

editl as a double
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% —--—- Executes during object creation, after setting all
properties.

function editl CreateFcn (hObject, eventdata, handles)

% hObject handle to editl (see GCBO)

% eventdata reserved - to be defined in a future version of
MATLAB

% handles empty - handles not created until after all
CreateFcns called

[

% Hint: edit controls usually have a white background on
Windows.

% See ISPC and COMPUTER.

if ispc && isequal (get (hObject, 'BackgroundColor'),

get (0, 'defaultUicontrolBackgroundColor'))

set (hObject, "BackgroundColor', 'white');

end

% —--- Executes on button press in pushbuttonl.

% function pushbuttonl Callback (hObject, eventdata, handles)

% % hObject handle to pushbuttonl (see GCBO)

% % eventdata reserved - to be defined in a future version of
MATLAB

$ % handles structure with handles and user data (see
GUIDATA)

% global ryt;

% ryt=str2double (get (handles.editl, 'String'));

% —--—- Executes on button press in pushbutton2.

function pushbutton2 Callback (hObject, eventdata, handles)

% hObject handle to pushbutton2 (see GCBO)

% eventdata reserved - to be defined in a future version of
MATLAB

% handles structure with handles and user data (see GUIDATA)

global ryt;
ryt=str2double (get (handles.editl, 'String'));

global status;

global stam;

global suv;

axes (handles.axesl)

axis off;

set (handles.pushbutton3, 'string', "Altakonn")

handles.editl, '"enable', 'off');

handles.pushbutton2, 'enable', '"off")
handles.pushbuttonb, 'enable', "off")
handles.pushbutton6, 'enable', '"off")

se
set

~ e~~~

if ryt <0.001l|xryt > 5
hfin=warndlg ('B&Ate oto Pubud Ipoocopoiwong tlufn petoft 0.001
xalL 5');
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return

else

end

ryte = -ryt+5+0.001;

v=1 ;

% AGWGOS

agx = [2 3 3 21;

agy = [1 1 2 2];

rax = 0.03;

ray = 0.5;

f=0:p1/20:2*pi;

metbl1=0.05;

basxl =[2 2.03 2.03 2]-metbl;
basyl = [1 1 2 21;

basbxl =[2 1.95 1.95 2]-metbl;
basbyl = [1 1.2 2.2 21;
bascxl =[2 2.03 1.98 1.95]-metbl;
bascyl = [2 2 2.2 2.21;
metb2 = 1.09;

basx2 =basxl+metb?2;

basy2 =basyl;

basbx2 =basbxl+metb2;

basby2 =basbyl;

bascx?2 =bascxl+metb2;

bascy2 =bascyl;

% basx3 =2.5+rax*cos (f);

% Dbasy3 =basyl;

% YPOBATHRO

ypovx = [-0.5 4 4 -0.51;
ypovy = [-0.5 -0.5 3.5 3.5];

% HLEKTRONIA

f1 O0:pi/20:2*pi;
rxe =0.022;
rye=0.03;

metl =0.7 ;

met2 =0.7;

basi = 3.0;

xcl= 2
ycl= 2
slxcl=
2.35+0
slycl=
2.4+0.9*%rye*sin(£f1l) ;

.35+rxe*cos (f1l);
.4+rye*sin (fl);

.9*rxe*cos (fl) ;

s2xcl=
2.35+0
s2ycl=
2.4+0.6*rye*sin (fl);
s3xcl=
2.35+0.3*rxe*cos (f1) ;
s3ycl=
2.4+0.3*rye*sin (fl);
sdxcl=
2.35+0.2*rxe*cos (f1) ;
sd4ycl=
2.4+0.2*rye*sin (f1l);

.6*rxe*cos (fl) ;

Xna=
2.35+metl*rxe*cos (fl) ;
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yna=
2.3+metl*rye*sin (f1l);
slxna=
2.35+metl1*0.9*rxe*cos (f1l)

slyna=

2.3+metl*0.9*rye*sin (f1l);

s2xna=
2.35+metl*0.6*rxe*cos (fl)

’

s2yna=

2.3+metl*0.6*rye*sin (f1l);

s3xna=
2.35+metl1*0.2*rxe*cos (f1l)

s3yna=

2.3+metl*0.2*rye*sin (f1l);

[

% atomo xlwrio apo to
opoio prokyptoun ola ta
alla

x00 = rxe*cos (fl):;

s1lx00 = 0.9*rxe*cos (fl);
s2x00 = 0.6*rxe*cos (fl);
s3x00 = 0.3*rxe*cos (fl);
s4x00 = 0.2*rxe*cos (fl);

[

% atomo natrio apo to
opoio prokyptoun ola ta
alla

wx00 = metl*rxe*cos (fl);
slwx00 =
0.9*metl*rxe*cos (fl);
s2wx00 =
0.6*metl*rxe*cos (fl);
s3wx00 =
0.2*metl*rxe*cos (fl);

x01l = 2.3;

y0l = 1.5;
sl = basi-x01;
tll = sl/v;

tl2 =(x01-2)/v;
T =t11+tl2;

x1 =x0l+rxe*cos (fl);
yl =y0l+rye*sin(fl);
slxl
=x01+0.9*rxe*cos (fl) ;
slyl
=y01+0.9*rye*sin (fl);
s2x1
=x01+0.6*rxe*cos (fl) ;
s2yl
=y01+0.6*rye*sin (fl);
s3x1
=x01+0.3*rxe*cos (fl) ;
s3yl
=y01+0.3*rye*sin (f1l);

sdx1
=x01+0.2*rxe*cos (fl) ;
sdyl
=y01+0.2*rye*sin (f1);

wx1
=x01l+metl*rxe*cos (fl);
wyl
=y0l+met2*rye*sin (fl) -
0.18;

slwxl
=x01+metl*0.9*rxe*cos (f1l)
slwyl
=y0l+met2*0.9*rye*sin (f1)
-0.18;

s2wx1
=x01+metl*0.6*rxe*cos (fl)
s2wyl
=y0l+met2*0.6*rye*sin(f1)
-0.18;

s3wx1
=x01+metl*0.2*rxe*cos (f1)
s3wyl
=y0l+met2*0.2*rye*sin(f1l)
-0.18;

x02 = 2.1;

y02 = 1.2;

s2 = basi-x02;

t21 = s2/v;

t22 =(x02-2)/v;

x2 =x02+rxe*cos (fl);
y2 =y02+rye*sin (fl);
slx2
=x02+0.9*rxe*cos (f1l) ;
sly2
=y02+0.9*rye*sin (fl);
sS2x2
=x02+0.6*rxe*cos (f1l) ;
s2y2
=y02+0.6*rye*sin (fl);
s3x2
=x02+0.3*rxe*cos (f1l) ;
s3y2
=y02+0.3*rye*sin (fl);
s4x2
=x02+0.2*rxe*cos (fl) ;
s4y2
=y02+0.2*rye*sin (f1l) ;

WX2
=x02+metl*rxe*cos (fl);
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wy?2
=y02+met2*rye*sin (fl) -
0.11;

slwx?2
=x02+metl1*0.9*rxe*cos (f1l)
slwy?2
=y02+met2*0.9*rye*sin (f1l)
-0.11;

S2wx2
=x02+metl*0.6*rxe*cos (f1l)

sS2wy2
=y02+met2*0.6*rye*sin (f£1)
-0.11;
s3wx2
=x02+metl*0.2*rxe*cos (fl)
s3wy2
=y02+met2*0.2*rye*sin (f£1)
-0.11;

x03 = 2.6;

y03 = 1.8;

s3 = basi-x03;

t31l = s3/v;

t32 =(x03-2)/v;

x3 =x03+rxe*cos (fl);
y3 =y03+rye*sin(fl);
s1x3
=x03+0.9*rxe*cos (f1l) ;
sly3
=y03+0.9*rye*sin (fl) ;
s2x3
=x03+0.6*rxe*cos (fl) ;
s2y3
=y03+0.6*rye*sin (fl);
s3x3
=x03+0.3*rxe*cos (fl) ;
s3y3
=y03+0.3*rye*sin (fl);
s4x3
=x03+0.2*rxe*cos (fl) ;
sdy3
=y03+0.2*rye*sin (fl);

wx3
=x03+metl*rxe*cos (fl);
wy3
=y03+met2*rye*sin (fl) -
0.1;

slwx3
=x03+metl*0.9*rxe*cos (f1)
slwy3
=y03+met2*0.9*rye*sin (f1)
-0.1;

S2wx3
=x03+metl*0.6*rxe*cos (f1l)
s2wy3
=y03+met2*0.6*rye*sin (f£1)
-0.1;
s3wx3
=x03+metl*0.2*rxe*cos (f1)

s3wy3
=y03+met2*0.2*rye*sin (f1)
-0.1;

x04 = 2.2;

y04 = 1.7;

s4 = basi-x04;

td4l = s4/v;

t42 =(x04-2)/v;

x4 =x04+rxe*cos (fl);
y4 =y04+rye*sin(fl);
slx4
=x04+0.9*rxe*cos (fl) ;
sly4
=y04+0.9*rye*sin (f1l);
s2x4
=x04+0.6*rxe*cos (fl) ;
s2y4
=y04+0.6*rye*sin (fl) ;
s3x4
=x04+0.3*rxe*cos (fl) ;
s3y4
=y04+0.3*rye*sin (fl) ;
sdx4
=x04+0.2*rxe*cos (fl) ;
sdy4
=y04+0.2*rye*sin (f1l) ;

wx4
=x04+metl*rxe*cos (fl);
wy4

=y04+met2*rye*sin (f1)+0.1
6;

slwx4
=x04+metl1*0.9*rxe*cos (f1)
slwy4
=y04+met2*0.9*rye*sin (f1)
+0.16;

s2wx4
=x04+metl*0.6*rxe*cos (f1l)
s2wy4
=y04+met2*0.6*rye*sin (f1)
+0.16;

s3wx4
=x04+metl*0.2*rxe*cos (f1)

’
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s3wy4
=y04+met2*0.2*rye*sin (f1l)
+0.16;

x05 = 2.3;

y05 1.25;

s5 = basi-x05;

t51 = s5/v;

t52 =(x05-2)/v;

x5 =x05+rxe*cos (fl);

y5 =y05+rye*sin (f1l);

slx5
=x05+0.9*rxe*cos (f1l) ;
sly5
=y05+0.9*rye*sin (f1);
s2x5
=x05+0.6*rxe*cos (fl) ;
s2y5
=y05+0.6*rye*sin (f1);
s3x5
=x05+0.3*rxe*cos (fl) ;
s3y5
=y05+0.3*rye*sin (fl) ;
s4x5
=x05+0.2*rxe*cos (fl) ;
s4y5
=y05+0.2*rye*sin (f1l) ;

wx5
=x05+metl*rxe*cos (fl) ;
wy>b

=y05+met2*rye*sin (£f1)+0.1
4;

slwxb
=x05+metl1*0.9*rxe*cos (f1)
slwy5
=y05+met2*0.9*rye*sin (f1)
+0.14;

s2wx5
=x05+metl*0.6*rxe*cos (f1l)
s2wy5
=y05+met2*0.6*rye*sin (f1)
+0.14;

s3wx5
=x05+metl1*0.2*rxe*cos (fl)
s3wyb
=y05+met2*0.2*rye*sin (f1)
+0.14;

x06 = 2.7;
y06 = 1.2;

s6 = basi-x06;
t6l = s6/v;

t62 =(x06-2)/v;

x6 =x06+rxe*cos (fl);
y6 =y06+rye*sin(fl);
slx6
=x06+0.9*rxe*cos (f1l) ;

sly6
=y06+0.9*rye*sin (fl) ;
S2x6
=x06+0.6*rxe*cos (f1l) ;
52y6
=y06+0.6*rye*sin (fl) ;
s3x6
=x06+0.3*rxe*cos (fl) ;
s3y6
=y06+0.3*rye*sin (f1l);
s4x6
=x06+0.2*rxe*cos (fl) ;
sdy6
=y06+0.2*rye*sin (f1l);

WX6
=x06+metl*rxe*cos (fl);
wy6
=y06+met2*0.9*rye*sin (f1l)
+0.11;

slwx6
=x06+metl1*0.9*rxe*cos (fl)
slwy6
=y06+met2*0.9%*rye*sin (f1)
+0.11;

S2Wx6
=x06+metl*0.6*rxe*cos (fl)
s2wy6
=y06+met2*0.6*rye*sin (f1)
+0.11;

s3wx6
=x06+metl*0.2*rxe*cos (f1l)
s3wyb6
=y06+met2*0.2*rye*sin (f1)
+0.11;

x07 = 2.4;

y07 = 1.4;

s7 = basi-x07;

t71 = s7/v;

t72 =(x07-2)/v;

x7 =x07+rxe*cos (fl);
y7 =y07+rye*sin (f1l);
slx7
=x07+0.9*rxe*cos (fl) ;
sly7
=y07+0.9*rye*sin (f1) ;
s2x7
=x07+0.6*rxe*cos (f1l) ;
s2y7
=y07+0.6*rye*sin (fl);
s3x7
=x07+0.3*rxe*cos (f1) ;
s3y7
=y07+0.3*rye*sin (fl);
s4dx7
=x07+0.2*rxe*cos (f1l) ;
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sdy7
=y07+0.2*rye*sin (f1l) ;

wx'7
=x07+metl*rxe*cos (fl);
wy'7

=y07+met2*rye*sin (£f1)+0.1
5;

slwx7
=x07+metl1*0.9*rxe*cos (f1l)
slwy7
=y07+met2*0.9*rye*sin (f1l)
+0.15;

s2wx'7
=x07+metl*0.6*rxe*cos (f1l)
s2wy’
=y07+met2*0.6*rye*sin (f1l)
+0.15;

s3wx7
=x07+metl*0.2*rxe*cos (fl)
s3wy’7
=y07+met2*0.2*rye*sin (£1)
+0.15;

x08 = 2.8;

y08 1.7;

s8 = basi-x08;

t81 = s8/v;

t82 =(x08-2)/v;

x8 =x08+rxe*cos (fl);
y8 =y08+rye*sin(fl);
s1x8
=x08+0.9*rxe*cos (fl) ;
sly8
=y08+0.9*rye*sin (f1l);
s2x8
=x08+0.6*rxe*cos (fl) ;
s2y8
=y08+0.6*rye*sin (fl) ;
s3x8
=x08+0.3*rxe*cos (fl) ;
s3y8
=y08+0.3*rye*sin (fl);
s4x8
=x08+0.2*rxe*cos (fl) ;
s4y8
=y08+0.2*rye*sin (fl) ;
wx8
=x08+metl*rxe*cos (fl) ;
wy8

=y08+met2*rye*sin (f1)+0.1
2;

slwx8
=x08+metl*0.9*rxe*cos (fl)
slwy8
=y08+met2*0.9*rye*sin (£1)
+0.12;

sS2wx8
=x08+metl*0.6*rxe*cos (f1l)
s2wy8
=y08+met2*0.6*rye*sin (f£1)
+0.12;
s3wx8
=x08+metl*0.2*rxe*cos (f1)

s3wy8
=y08+met2*0.2*rye*sin (f1)
+0.12;

x09 = 2.7;

y09 = 1.63;

s9 = basi-x09;

t91 = s9/v;

t92 =(x09-2)/v;

x9 =x09+rxe*cos (fl);

y9 =y09+rye*sin (£fl);

s1x9
=x09+0.9*rxe*cos (fl) ;
sly9
=y09+0.9*rye*sin (fl) ;
s2x9
=x09+0.6*rxe*cos (fl) ;
s2y9
=y09+0.6*rye*sin (f1l);
s3x9
=x09+0.3*rxe*cos (f1l) ;
s3y9
=y09+0.3*rye*sin (fl);
s4x9
=x09+0.2*rxe*cos (f1l) ;
sdy9
=y09+0.2*rye*sin (f1l) ;
wx9
=x09+metl*rxe*cos (fl) ;
wy9
=y09+met2*rye*sin (f1l) -
0.1;

slwx9
=x09+metl1*0.9*rxe*cos (f1)
slwy9
=y09+met2*0.9*rye*sin (f1)
-0.1;

s2wx9
=x09+metl*0.6*rxe*cos (f1)
s2wy9
=y09+met2*0.6*rye*sin (f1)
-0.1;

s3wx9
=x09+metl*0.2*rxe*cos (f1)
s3wy9
=y09+met2*0.2*rye*sin (f1)
-0.1;
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x010 = 2.1;

y010 1.46;

s1l0 = basi-x010;

t101 = s10/v;

t102 =(x010-2)/v;

x10 =x010+rxe*cos (fl);
y1l0 =y010+rye*sin (f1l);
s1x10
=x010+0.9*rxe*cos (fl) ;
slyl0
=y010+0.9*rye*sin (f1l) ;
s2x10
=x010+0.6*rxe*cos (f1l) ;
s2y10
=y010+0.6*rye*sin (fl);
s3x10
=x010+0.3*rxe*cos (fl);
s3y1l0
=y010+0.3*rye*sin (fl);
s4x10
=x010+0.2*rxe*cos (fl) ;
s4yl0
=y010+0.2*rye*sin (f1l) ;
wx10
=x010+metl*rxe*cos (fl) ;
wylO
=y010+met2*rye*sin (f1l) -
0.12;

slwx10
=x010+metl1*0.9*rxe*cos (f1l
) ;

slwylO
=y010+met2*0.9*rye*sin (fl
y-0.12;

s2wx10
=x010+metl*0.6*rxe*cos (f1l
) ;

s2wyl0
=y010+met2*0.6*rye*sin (fl
y-0.12;

s3wx10
=x010+metl*0.2*rxe*cos (f1l
) ;

s3wyl0
=y010+met2*0.2*rye*sin (fl
)-0.12;

x011 = 2.2;

y01ll = 1.34;

sll = basi-x011;

t111l = sll/v;

t112 =(x011-2)/v;

x11l =x01l+rxe*cos (fl);
yll =y0ll+rye*sin(fl);
slx11
=x011+0.9*rxe*cos (fl) ;
slyll
=y011+0.9*rye*sin (fl) ;

s2x11
=x011+0.6*rxe*cos (fl) ;
s2yll
=y011+0.6*rye*sin (fl);
s3x11
=x011+0.3*rxe*cos (fl) ;
s3yll
=y011+0.3*rye*sin (fl);
sdx11
=x011+0.2*rxe*cos (f1) ;
sdyll
=y011+0.2*rye*sin (fl);
wx11l
=x011l+metl*rxe*cos (fl);
wyll
=y0ll+met2*rye*sin (fl) -
0.16;

slwx1ll
=x011+metl*0.9*rxe*cos (fl
) ;

slwyll
=y011l+met2*0.9*rye*sin (£l
y-0.16;

s2wx11l
=x011+metl*0.6*rxe*cos (f1l
) ;

s2wyll
=y01ll+met2*0.6*rye*sin (£l
)-0.16;

s3wx1l
=x011+metl*0.2*rxe*cos (fl
) ;

s3wyll
=y01ll+met2*0.2*rye*sin (fl
y-0.16;

x012 2.4;

y012 = 1.8;

sl2 = basi-x012;

t121 = sl2/v;

tl122 =(x012-2)/v;

x12 =x012+rxe*cos (fl);
yl2 =y012+rye*sin(fl);
slx12
=x012+0.9*rxe*cos (f1l) ;
slyl2
=y012+0.9*rye*sin (fl);
s2x12
=x012+0.6*rxe*cos (fl) ;
s2y12
=y012+0.6*rye*sin (f1l);
s3x12
=x012+0.3*rxe*cos (fl) ;
s3yl2
=y012+0.3*rye*sin (fl) ;
s4x12
=x012+0.2*rxe*cos (f1) ;
sdyl2
=y012+0.2*rye*sin (fl);
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wx12

=x012+metl*rxe*cos (fl) ;

wyl2

=y0l2+met2*rye*sin (fl) -

0.19;

slwx12
=x0124+metl1*0.
);

slwyl2
=y012+met2*0.
)-0.19;
S2wx12
=x0124+metl1*0.
);

s2wyl2
=y012+met2*0.
y-0.19;
s3wx12
=x012+metl1*0
);

s3wyl2
=y012+met2*0
y-0.19;

x013 = 2.45;
y013 = 1.6;

9*rxe*cos (fl

9*rye*sin (fl

6*rxe*cos (fl

6*rye*sin (f1l

.2*rxe*cos (f1l

.2*rye*sin (f1l

sl3 = basi-x013;

t131 = s13/v;

t132 =(x013-2) /v;
x13 =x013+rxe*cos (fl);
yl3 =y01l3+rye*sin(fl);

s1x13

=x013+0.9*rxe*cos (fl) ;

slyl3

=y013+0.9*rye*sin (f1l) ;

s2x13

=x013+0.6*rxe*cos (fl) ;

s2y1l3

=y013+0.6*rye*sin (fl);

s3x13

=x013+0.3*rxe*cos (fl) ;

s3yl3

=y013+0.3*rye*sin (fl);

s4x13

=x013+0.2*rxe*cos (fl) ;

s4yl3

=y013+0.2*rye*sin (fl);

wx13

=x013+metl*rxe*cos (fl) ;

wyl3

=y013+met2*rye*sin (£1)+0.

1;

slwx13
=x013+metl1*0.
) ;

slwyl3
=y013+met2*0.
y+0.1;

9*rxe*cos (fl

9*rye*sin (fl

s2wx13
=x013+metl1*0.
) ;

s2wyl3
=y013+met2*0.
y+0.1;

s3wx13
=x013+metl1*0.
) ;

s3wyl3
=y013+met2*0.
y+0.1;

x014 = 2.65;

y014 = 1.48;

6*rxe*cos (fl

6*rye*sin (fl

2*rxe*cos (fl

2*rye*sin (fl

sld = basi-x014;

t141 = sl4/v;

t142 =(x014-2)/v;
x14 =x014+rxe*cos (fl);
yl4 =yOld+rye*sin(f1l);

slx14

=x014+0.9*rxe*cos (fl) ;

slyl4

=y014+0.9*rye*sin (f1);

s2x14

=x014+0.6*rxe*cos (fl) ;

s2yl4

=y014+0.6*rye*sin (fl);

s3x14

=x014+0.3*rxe*cos (fl) ;

s3yl4

=y014+0.3*rye*sin (fl);

sd4x14

=x014+0.2*rxe*cos (fl) ;

sdyl4

=y014+0.2*rye*sin (fl) ;

wx14

=x014+metl*rxe*cos (fl);

wyl4d

=y01l4+met2*rye*sin (£1)+0.

16;

slwx14
=x014+metl*0.
) ;

slwyl4
=y014+met2*0.
y+0.16;
s2wx14
=x014+metl1*0.
) ;

s2wyl4
=y014+met2*0.
y+0.16;
s3wx14
=x014+metl*0
) ;

s3wyl4
=y014+met2*0
y+0.16;

9*rxe*cos (fl

9*rye*sin (f1

6*rxe*cos (fl

6*rye*sin (fl

.2*rxe*cos (fl

.2*rye*sin (f1l
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x015 = 2.9;

y015 1.3;

sl5 = basi-x015;

t151 = s15/v;

t152 =(x015-2)/v;

x15 =x015+rxe*cos (fl);
y1l5 =y015+rye*sin (f1l);
sl1x15
=x015+0.9*rxe*cos (fl) ;
slyl5

s2ylé6
=y016+0.6*rye*sin (fl) ;
s3x16
=x016+0.3*rxe*cos (fl) ;
s3yle6
=y016+0.3*rye*sin (fl) ;
s4x16
=x016+0.2*rxe*cos (f1l) ;
s4yle
=y016+0.2*rye*sin (fl);

2017

=y015+0.

s2x15
=x015+0
s2yl5

=y015+0.

s3x15
=x015+0
s3yl5

=y015+0.

sd4x15
=x015+0
sdyl5
=y015+0
wx1l5

=x015+metl*rxe*cos (fl) ;

wylb

=y015+met2*rye*sin (£f1) +

11;
slwx1lb

=x015+metl1*0.9*rxe*cos (fl

) i
slwyl5

9*rye*sin (fl) ;
.6*rxe*cos (fl) ;
6*rye*sin (f1);
.3*rxe*cos (fl);
3*rye*sin(fl);
.2*rxe*cos (fl);

.2*rye*sin (f1) ;

=y015+met2*0.
y+0.11;
s2wx15
=x015+metl1*0.
) ;

s2wyl5
=y015+met2*0.

9*rye*sin (fl

6*rxe*cos (fl

6*rye*sin (fl

wx16
=x016+metl*rx
wyl6
=y01l6+met2*ry
0.1;

slwxl6
=x016+metl1*0.
)

slwylé6
=y01l6+met2*0.
)-0.1;

s2wx16
=x016+metl1*0.
)i

s2wyl6
=y01l6+met2*0.
)-0.1;
s3wx16
=x016+metl*0
)i

s3wyl6
=y016+met2*0
)-0.1;

x017= 2.95;
y017 = 1.65;
sl7 = basi-x0
t1l71 = sl17/v;
tl72 =(x017-2

e*cos (fl) ;

e*sin (fl) -

9*rxe*cos (fl

9*rye*sin (fl

6*rxe*cos (fl

6*rye*sin (fl

.2*rxe*cos (f1l

.2*rye*sin (fl

17;

) /v ;

y+0.11;
s3wx15

=x015+metl1*0.2*rxe*cos (fl

)
s3wyl5

=y015+met2*0.2*rye*sin (fl

y+0.11;

x01l6= 2.8;

y01l6 = 1.45;

sl6 = basi-x016;

t161 = sl6/v;

tl162 =(x016-2)/v;

x16 =x01l6+rxe*cos (fl);
yl6 =y0lé6+rye*sin (fl);
slx16
=x016+0.9*rxe*cos (fl) ;
slylé
=y016+0.9*rye*sin (fl) ;
s2x16
=x016+0.6*rxe*cos (fl) ;

x17 =x017+rxe*cos (fl);
y1l7 =y017+rye*sin (f1l);
s1x17
=x017+0.9*rxe*cos (fl) ;
slyl7
=y017+0.9*rye*sin (f1) ;
s2x17
=x017+0.6*rxe*cos (f1l) ;
s2y1l7
=y017+0.6*rye*sin (f1l) ;
s3x17
=x017+0.3*rxe*cos (fl) ;
s3yl7
=y017+0.3*rye*sin (fl);
s4x17
=x017+0.2*rxe*cos (fl) ;
sdyl7
=y017+0.2*rye*sin (fl);
wx17
=x017+metl*rxe*cos (fl) ;
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wyl7 s2wyl8

=y017+met2*rye*sin (f1l) - =y018+met2*0.6*rye*sin (£l

0.14; )-0.12;

slwx17 s3wx18

=x017+metl*0.9*rxe*cos (fl =x018+metl*0.2*rxe*cos (fl

); ) ;

slwyl7 s3wyl8

=y017+met2*0.9*rye*sin (fl =y018+met2*0.2*rye*sin (£l

)-0.14; )-0.12;

s2wx17

=x017+metl*0.6*rxe*cos (fl x019= 2.9;

)i y019 = 1.82;

s2wyl? s19 = basi-x019;

=y017+met2*0.6*rye*sin (fl t191 = s19/v;

)-0.14; £192 =(x019-2) /v;

s3wx17 x19 =x019+rxe*cos (f1);

=x017+metl*0.2*rxe*cos (f1l y19 =y019+rye*sin (f1);

)i s1x19

s3wyl7 =x019+0.9*rxe*cos (£1) ;

=y017+met2*0.2*rye*sin (£l s1lyl9

)-0.14; =y019+0.9*rye*sin (fl);
s2x19
=x019+0.6*rxe*cos (fl) ;

x018= 2.07; s2y1l9

y018 = 1.9; =y019+0.6*rye*sin (fl) ;

sl8 = basi-x018; s3x19

t181 = s18/v; =x019+0.3*rxe*cos (f1) ;

t182 =(x018-2)/v; s3yl9 .

x18 =x018+rxe*cos (fl); =y019+0.3*rye*sin (fl);

y1l8 =y018+rye*sin (fl); s4x19

s1x18 =x019+0.2*rxe*cos (fl) ;

=x018+0.9*rxe*cos (fl) ; s4y19

slyl8 =y019+0.2*rye*sin (fl);

=y018+0.9*rye*sin (f1) ; wx19

s2x18 =x019%+metl*rxe*cos (fl) ;

=x018+0.6*rxe*cos (fl) ; wyl9

s2y18 =y019+met2*rye*sin (fl) -

=y018+0.6*rye*sin(fl); 0.17;

s3x18 slwx19

=x018+0.3*rxe*cos (fl) ; =x019+metl1*0.9*rxe*cos (f1l

s3yl8 ) ;

=y018+0.3*rye*sin (f1l); slwyl9

s4x18 =y019+met2*0.9*rye*sin (f1l

=x018+0.2*rxe*cos (fl) ; )=0.17;

s4yl8 s2wx19

=y018+0.2*rye*sin (fl); =x019+metl*0.6*rxe*cos (fl

wx18=x018+metl*rxe*cos (f1l )

) ; s2wyl9

wyl8 =y019+met2*0.6*rye*sin (fl

=y018+met2*rye*sin (f1) - )-0.17;

0.12; s3wx19

slwx18 =x019%+metl1*0.2*rxe*cos (fl

=x018+metl*0.9*rxe*cos (f1l )7

) ; s3wyl9

slwyl8 =y019+met2*0.2*rye*sin (f1l

=y018+met2*0.9*rye*sin (fl )-0.17;

)-0.12;

s2wx18 x020= 2.6;

=x018+metl*0.6*rxe*cos (fl y020 = 1.3;

)7 s20 = basi-x020;
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t201 = s20/v; slxl, slyl, [O. 0.75

t202 =(x020-2)/v; 0.31,...

x20 =x020+rxe*cos (fl); s2x1, s2yl, [O. 0.8

y20 =y020+rye*sin (£fl); 0.4],...

s1x20 s3x1l, s3yl, [O. 0.85

=x020+0.9*rxe*cos (f1) ; 0.51,...

sly20 sd4x1l, s4dyl, [O. 0.9

=y020+0.9*rye*sin (f1l) ; 0.61,...

s2x20 x2, y2, [0.2

=x020+0.6*rxe*cos (fl) ; 0.21,...

s2y20 slx2, sly2, [O. 0.75

=y020+0.6*rye*sin (fl) ; 0.31,...

s3%20 s2x2, s2y2, (0. 0.8

=x020+0.3*rxe*cos (fl) ; 0.471, ...

s3y20 s3x2, s3y2, [0. 0.85

=y020+0.3*rye*sin (fl); 0.5],...

s4x20 sd4x2, s4y2, [0. 0.9

=x020+0.2*rxe*cos (fl) ; 0.6],...

sdy20 x3, y3, [0.2

=y020+0.2*rye*sin (fl); 0.2],...

wx20 slx3, sly3, [0. 0.75

=x020+metl*rxe*cos (fl) ; 0.31,...

wy20 s2x3, s2y3, [0. 0.8

=y020+met2*rye*sin (fl) - 0.4],...

0.08; s3x3, s3y3, [0. 0.85

slwx20 0.5],...

=x020+metl1*0.9*rxe*cos (f1l s4x3, s4y3, [O. 0.9

) ; 0.6],...

slwy20 x4, y4, [0.2

=y020+met2*0.9*rye*sin (f1l 0.2],...

)-0.08; slx4, sly4, [O. 0.75

s2wx20 0.31,...

=x020+metl1*0.6*rxe*cos (fl s2x4, s2y4, [O. 0.8

); 0.471, ...

s2wy20 s3x4, s3y4, [0. 0.85

=y020+met2*0.6*rye*sin (fl 0.5],...

)-0.08; s4x4, sd4y4, [0. 0.9

s3wx20 0.61,...

=x020+metl1*0.2*rxe*cos (fl x5, y5, [0.2

) 0.21,...

s3wy20 slx5, sly5, [O0. 0.75

=y020+met2*0.2*rye*sin (fl 0.31,...

)-0.08; s2x5, s2y5, [0. 0.8
0.47,...

fill (ypovx, ypovy, [0.9 s3x5, s3y5, [0. 0.85

0.9 0.91 ,... 0.51,...

basxl, basyl, [0.76 0.36 s4x5, s4y5, [0. 0.9

0] ,... 0.6],...

basbxl, basbyl, [0.6 0.2 x6, y6, [0.2

0] ... 0.21,...

bascxl, bascyl, [0.8 0.4 slx6, slye6, [O. 0.75

0] ,... 0.31,...

basx2, basy2, [0.76 0.36 s2x6, s2y6, [O0. 0.8

0] ... 0.41,...

basbx2, basby2,[0.6 0.2 s3x6, s3y6, [0. 0.85

01 ,... 0.51,...

bascx2, bascy2, [0.8 0.4 s4x6, sdy6, [O. 0.9

0] ... 0.6],...

x1, yl, [0.2 0.7 7, y7, [0.2

0.21,... 0.21,...
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slx7, sly7, [0.3 .75 s1lx13, slyl13, [0.3 0.75
0.31, . 0.31,...
s2x7, s2y7, [0.4 .8 s2x13, s2y13, [0.4 0.8
0.471,... 0.41,...
s3x7, s3y7, [0.5 .85 s3x13, s3yl3, [0.5 0.85
0.51, . 0.51,...
s4x7, s4y7, [0.6 .9 s4x13, s4yl3, [0.6 0.9
0.61,... 0.61,...
x8, y8, [0.2 0. x14, yl4, [0.2 0.7
0.21,... 0.21,...
slx8, sly8, [0.3 .75 slx14, slyl4, [0.3 0.75
0.31,... 0.31,...
s2x8, s2y8, [0.4 .8 s2x14, s2yl4, [0.4 0.8
0.471,... 0.41,...
s3x8, s3y8, [0.5 .85 s3x14, s3yl4, [0.5 0.85
0.51, . 0.51,...
s4x8, sdy8, [0.6 .9 s4x14, sdyl4, [0.6 0.9
0.61,..... 0.61,....
x9, yv9, [0.2 0. x15, yl15, [0.2 0.7
0.21,.. 0.21,...
slx9, sly9, [0.3 .75 slx15, slyl5, [0.3 0.75
0.31,... 0.31,...
s2x9, s2y9, [0.4 .8 s2x15, s2yl5, [0.4 0.8
0.41,... 0.41,...
s3x9, s3y9, [0.5 .85 s3x15, s3yl5, [0.5 0.85
0.51,... 0.51,...
s4x9, sdy9, [0.6 .9 s4x15, sd4yl5, [0.6 0.9
0.61,... 0.61,.....
%10, y10, [0.2 x16, ylo, [0.2 0.7
0.21,... 0.21,...
slx10, slyl10, [O. 0.75 slxl6, slyle, [0.3 0.75
0.31,... 0.31,...
s2x10, s2y10, [O. 0.8 s2x16, s2yle, [0.4 0.8
0.41,... 0.41,...
s3x10, s3y10, [O0. 0.85 s3x16, s3yle, [0.5 0.85
0.51,... 0.51,...
s4x10, s4y10, [O. 0.9 sd4x16, s4dyle, [0.6 0.9
0.61,... 0.61,...
x11, yl1l, [0.2 x17, yl17, [0.2 0.7
0.21,... 0.21,...
slx11, slyll, [O. 0.75 slx17, slyl7, [0.3 0.75
0.31,... 0.31,...
s2x11, s2yl1l1l, [O. 0.8 s2x17, s2yl7, [0.4 0.8
0.41,... 0.41,...
s3x11, s3yll, [O0. 0.85 s3x17, s3yl7, [0.5 0.85
0.51,... 0.51,...
s4x11, sd4yll, [O. 0.9 sd4x17, s4yl7, [0.6 0.9
0.61,... 0.61,...
x12, yl12, [0.2 x18, y18, [0.2 0.7
0.21,... 0.21,...
slx12, slyl2, [O. 0.75 s1x18, slyl8, [0.3 0.75
0.31,... 0.31,...
s2x12, s2yl2, [O. 0.8 s2x18, s2yl8, [0.4 0.8
0.41,... 0.41,...
s3x12, s3yl2, [0. 0.85 s3x18, s3yl1l8, [0.5 0.85
0.51,... 0.51,...
s4x12, sdyl2, [O. 0.9 s4x18, s4yl8, [0.6 0.9
0.61,... 0.61,...
x13, y13, [0.2 x19, y19, [0.2 0.7
0.21,... 0.21,...
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slx19, slyl9, [0.3 0.75 s2wx5, s2wy5, [1 0.4

0.31,... 0.41, ...

s2x19, s2yl9, [0.4 0.8 s3wx5, s3wy5, [1 0.7

0.471,... 0.71, ...

s3x19, s3yl9, [0.5 0.85 wx6, wy6, [0.8 0 0], ..

0.51,... slwx6, slwy6, [0.9 0.2

s4x19, sd4yl9, [0.6 0.9 0.21,...

0.61,... s2wx6, s2wy6, [1 0.4

x20, y20, [0.2 0.7 0.41,...

0.21,... s3wx6, s3wy6, [1 0.7

slx20, sly20, [0.3 0.75 0.71, ...

0.31,... wx7, wy7, [0.8 0 01,..

s2x20, s2y20, [0.4 0.8 slwx7, slwy7, [0.9 0.2

0.471,... 0.21,...

s3x20, s3y20, [0.5 0.85 s2wx7, s2wy7, [1 0.4

0.51,... 0.41, ...

s4x20, s4y20, [0.6 0.9 s3wx7, s3wy7, [1 0.7

0.61,... 0.71, ...

xcl,ycl, [0.2 .7 wx8, wy8, [0.8 0 0],.

0.21,... slwx8, slwy8, [0.9 0.2

slxcl,slycl, [O. 0.75 0.21,...

0.3]1,... s2wx8, s2wy8, [1 0.4

s2xcl,s2ycl, [O. 0.8 0.41, ...

0.471, ... s3wx8, s3wy8, [1 0.7

s3xcl,s3ycl, [O. 0.85 0.71, ...

0.51,... wx9, wy9, [0.8 0 0],..

sd4xcl,sdycl, [O. 0.9 slwx9, slwy9, [0.9 0.2

0.61,... 0.21,...

wxl, wyl, [0.8 0 0], .. s2wx9, s2wy9, [1 0.4

slwxl, slwyl, [0.9 0.2 0.471, ...

0.2],... s3wx9, s3wy9, [1 0.7

s2wx1l, s2wyl, [1 0.4 0.71, ...

0.47,... wx10, wylO, [0.8 0 0],.

s3wxl, s3wyl, [1 0.7 slwx10, slwyl0, [0.9 0.2

0.71,... 0.21,...

wx2, wy2, [0.8 0 01, .. s2wx1l0, s2wylO, [1 0.4

slwx2, slwy2, [0.9 0.2 0.4],...

0.2],... s3wx10, s3wyl0, [1 0.7

s2wx2, s2wy2, [1 0.4 0.71, ...

0.471,... wx1ll, wyll, [0.8 0 O],.

s3wx2, s3wy2, [1 0.7 slwxll, slwyll, [0.9 0.2

0.71, ... 0.2],...

wx3, wy3, [0.8 0 01, .. s2wx1ll, s2wyll, [1 0.4

slwx3, slwy3, [0.9 0.2 0.471, ...

0.21,... s3wx1l, s3wyll, [1 0.7

s2wx3, s2wy3, [1 0.4 0.71, ...

0.41,... wx12, wyl2, [0.8 0 0],.

s3wx3, s3wy3, [1 0.7 slwxl2, slwyl2, [0.9 0.2

0.71, ... 0.21,...

wx4, wy4, [0.8 0 0],. s2wx12, s2wyl2, [1 0.4

slwx4, slwy4, [0.9 0.2 0.471, ...

0.21,... s3wx1l2, s3wyl2, [1 0.7

s2wx4, s2wy4, [1 0.4 0.71, ...

0.471, ... wx13, wyl3, [0.8 0 O0],.

s3wx4, s3wy4, [1 0.7 slwx13, slwyl3, [0.9 0.2

0.71, ... 0.21,...

wx5, wy5, [0.8 0 017, .. s2wx13, s2wyl3, [1 0.4

slwx5, slwy5, [0.9 0.2 0.471,...

0.21,... s3wx13, s3wyl3, [1 0.7
0.71, ...
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wx1l4, wyl4, [0.8 0 0],...

slwx1l4, slwyl4, [0.9 0.2

0.2],...

s2wx1l4, s2wyl4d, [1 0.4

0.4],...

s3wx14, s3wyl4, [1 0.7

0.71, ...

wx1l5, wyl5, [0.8 0 O0],...

slwxl5, slwyl5, [0.9 0.2

0.2],...

s2wx15, s2wyl5, [1 0.4

0.47,...

s3wx15, s3wyl5, [1 0.7

0.7, ...

wxl6, wyl6, [0.8 O 0],...

slwx1l6, slwyl6, [0.9 0.2

0.2],...

s2wxl6, s2wyl6, [1 0.4

0.47,...

s3wx1l6, s3wyle, [1 0.7

0.71, ...

wx1l7, wyl7, [0.8 0 O],...

slwx1l7, slwyl7, [0.9 0.2

0.2],...

s2wx1l7, s2wyl7, [1 0.4

0.47,...

s3wxl7, s3wyl7, [1 0.7

0.71, ...

wx18, wyl8, [0.8 0 0],...

axis([1.7 3.2 0.75 2.51);

text (1.9 , 2.35, '"+','FontSize',20)
text (1.85 , 2.27, 'ANOAOX', 'FontSize'
text(2.95 , 2.35, '-','FontSize',22)
text (2.85 , 2.27, '"KAGOAOXR', 'FontSize
text(2.34 , 2.3, '"+','FontSize',10)
text(2.34 , 2.405, '-','FontSize',16)
text (2.4 , 2.3, 'Na','FontSize',12)
text (2.4 , 2.405, 'Cl','FontSize',12)
text (2.45 , 2.315, '+','FontSize',10)
text (2.45 , 2.43, '-','FontSize',16)
axis off

pause (2)

i =1;

% pause (5)

tol = 5*T;

for t =tol:-0.01:0

slwx18, slwyl8, [0.9 0.2
0.2],...

s2wx18, s2wyl8, [1 0.4
0.41,...

s3wx18, s3wyl8, [1 0.7
0.71, ...

wx1l9, wyl9, [0.8 0 0],...
slwx1l9, slwyl9, [0.9 0.2
0.21,...

s2wx19, s2wyl9, [1 0.4
0.41,...

s3wx19, s3wyl9, [1 0.7
0.71, ...

wx20, wy20, [0.8 0 0],...
slwx20, slwy20, [0.9 0.2
0.2]1,...

s2wx20, s2wy20, [1 0.4
0.41,...

s3wx20, s3wy20, [1 0.7
0.71, ...

xna,yna, [0.8 0 0],...
slxna,slyna, [0.9 0.2
0.2],...

s2xna,s2yna, [1 0.4
0.41,...

s3xna,s3yna, [1 0.7
0.71, ...

'LineStyle', "'none')

r12)

',12)
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if (stam==1)
cc=stam;

while (cc==1)
cc=stam;

pause (ryte) ;
if (status==1)
return

end

m = fix(t/T)
ml=Ffix (tt/T)

% lo tmhma kinisis
if (m*T<=t) & (t<m*T+tl11l)
xx1 =x1+v* (t-m*T);
slxxl =slx1+v* (t-m*T);

if (m*T<=t) & (t<m*T+t51)

xx5 =x5+v* (t-m*T) ;

slxx5 =slx5+v* (t-m*T);
$2xx5 =82x5+v* (t-m*T) ;
s3xx5 =s3x5+v* (t-m*T) ;
s4xx5 =s4x5+v* (t-m*T) ;

else
end

if (m*T<=t) & (t<m*T+to6l)
XX6 =xX6+v* (t-m*T) ;

s2xx1 =82x1+v* (t-m*T) ;
s3xx1 =s3x1+v* (t-m*T) ;
sdxx]l =s4x1+v* (t-m*T) ;
else
end

1if (m*T<=t) & (L<m*T+t21)
XX2 =X2+V* (t-m*T) ;
slxx2 =slx2+v* (t-m*T) ;
S2XX2 =82X2+Vv* (t-m*T) ;
S3xx2 =s3x2+v* (t-m*T)
sdxx2 =s4x2+v* (t-m*T)
else

end

’

’

if (m*T<=t) & (t<m*T+t31)
xx3 =x3+v* (t-m*T) ;
slxx3 =s1x3+v* (t-m*T) ;
S2xxX3 =82xX3+v* (t-m*T) ;
s3xx3 =s3x3+v* (t-m*T) ;
s4xx3 =s4x3+v* (t-m*T)
else

end

’

if (m*T<=t) & (t<m*T+t41l)
xx4 =x4+v* (t-m*T) ;
slxx4d =slx4+v* (t-m*T);
s2xx4 =s2x4+v* (t-m*T) ;
s3xx4 =s3x4+v* (t-m*T) ;
sdxx4 =s4x4+v* (t-m*T) ;
else

end

I

I

slxx6 =slx6+v* (t-m*T);
S2XX6 =82xX6+Vv* (t-m*T) ;
s3xx6 =s3x6+v* (t-m*T) ;
sdxx6 =s4x6+v* (t-m*T) ;
else
end

if (m*T<=t) & (t<m*T+t71)

xXX7 =xXT7+v* (t-m*

T);

s1lxx7 =slx7+v* (t-m*T) ;
S2xXX7T =82XT7+v* (t-m*T) ;
s3xx7 =s3x7+v* (t-m*T) ;
sd4xx7 =s4xT+v* (t-m*T) ;

else
end

if (m*T<=t) & (t<m*T+t81)
xx8 =x8+v* (t-m*T) ;

slxx8 =slx8+v* (t-m*T) ;
S2xxX8 =82x8+Vv* (t-m*T) ;
s3xx8 =s3x8+v* (t-m*T) ;
s4xx8 =s4x8+v* (t-m*T) ;
else
end

if (m*T<=t) & (t<m*T+t91)
xx9 =x94+v* (t-m*T) ;

slxx9 =s1x9+v* (t-m*T) ;
S2xxX9 =82x9+v* (t-m*T) ;
s3xx9 =s3x9+Vv* (t-m*T) ;
s4xx9 =s4x9+v* (t-m*T) ;
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else
end

1f (m*T<=t) & (t<m*T+t101)
xx10 =x10+v* (t-m*T) ;
slxx10 =slx10+v* (t-m*T
s2xx10 =s2x10+v* (
s3xx10 =s3x10+v* (t-m*T
s4xx10 =s4x10+v* (t-m*T
else

end

1f (m*T<=t) & (t<m*T+tlll)
xx11l =x114+v* (t-m*T);

slxx1l =slx1l+v* (t-m*T
s2xx11 =s2x11+v* (t-m*T

sdxx11l =sd4x1ll+v*
else
end

t-m*T

1if (m*T<=t) & (t<m*T+t121)
xx12 =x12+v* (t-m*T) ;
slxx12 =slxl12+v* (t-m*T
s2xx12 =s2x12+v* (t
s3xx12 =s3x12+v* (t-m*T
s4xx12 =s4x12+v* (t-m*T
else

end

1if (m*T<=t) & (t<m*T+t131)
xx13 =x13+v* (t-m*T) ;
slxx13 =slx13+v* (t-m*T) ;
s2xx13 =82x13+v* (t-m*T) ;
s3xx13 =s3x13+v* (t-m*T)
s4xx13 =s4x13+v* (t-m*T)
else

end

’

’

if (m*T<=t) & (t<m*T+t141)
xx14 =x144+v* (t-m*T) ;
slxx14 =slx1l4+v* (t-m*T);
s2xx14 =s2x14+v* (t-m*T) ;
s3xx14 =s3x14+v* (t- m*T)
sdxx14 =sdx1l4+v* (t )
else

end

’

’

if (m*T<=t) & (t<m*T+t151)
xx15 =x154+v* (t-m*T) ;
s1xx15 =s1x15+v* (t-m*T);
s2xx15 =s2x15+v* (t-m*T) ;
s3xx15 =s3x15+v* (t-m*T)
s4xx15 =s4x15+v* (t-m*T)
else

end

’

’

1f (m*T<=t) & (t<m*T+tlo6l)
xx16 =x16+v* (t-m*T) ;

) ;
t-m*T) ;

)7

)

’

);

( ) ;

s3xx11l =s3x11+v* (t-m*T);
( )

I

)7
-m*T) ;
)7
)

’

slxx16 =slxl6+v* (t-m*T
s2xx16 =s2x16+v* (t-m*T
(
(t

’
’

)

)
t-m*T) ;

)

s3xx16 =s3x1l6+v*

s4xx16 =s4x16+v* (t-m*T) ;
else

end

if (m*T<=t) & (t<m*T+tl171)
xx17 =x17+v* (t-m*T) ;
s1lxx17 =s1x17+v* (t-m*T)
s2xx17 =s2x17+v* (t-m*T) ;
s3xx17 =s3x17+v* (t- m*T);
sdxx17 =s4x17+v* (t )
else

end

’

Iz

if (m*T<=t) & (t<m*T+t181)
xx18 =x18+v* (t-m*T) ;
s1xx18 =s1x18+v* (t-m*T);
$2xx18 =s52x18+v* (t-m*T) ;
s3xx18 =s3x18+v* (t-m*T)
s4xx18 =s4x18+v* (t-m*T)
else

end

’

’

if (m*T<=t) & (t<m*T+t191)
xx19 =x19+v* (t-m*T) ;
s1xx19 =s1x19+v* (t-m*T) ;
$2xx19 =s2x19+v* (t-m*T) ;
s3xx19 =s3x19+v* (t-m*T)
s4xx19 =s4x194+v* (t-m*T)
else

end

’

’

if (m*T<=t) & (t<m*T+t201)
xx20 =x20+v* (t-m*T) ;
s1xx20 =s1x20+v* (t-m*T) ;
52xx20 =s2x20+v* (t-m*T) ;
s3xx20 =s3x20+v* (t-m*T)
s4xx20 =s4x20+v* (t-m*T)
else

end

’

’

if
(m1*T<=tt) & (tt<ml*T+tll)
xxx1 =wxl+v* (tt-ml*T);
slxxxl =slwxl+v* (tt-
ml*T) ;

s2xxx1l =s2wx1l+v* (tt-
ml~*T);

s3xxx1l =s3wxl+v* (tt-
ml~*T);

else

end

if

(m1*T<=tt) & (tt<ml*T+t21)
XXX2 =WX2+v* (tt-ml*T);
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slxxx2 =slwx2+v* (tt-
ml*T);

S2XXX2 =S2WX2+v* (tt-
ml*T) ;

s3xxx2 =s3wx2+v* (tt-
ml*T);

else

end

o)

if
(m1*T<=tt) & (tt<ml*T+t31)
xXxXx3 =wx3+v* (tt-ml1*T) ;
slxxx3 =slwx3+v* (tt-
ml*T) ;

S2xxx3 =s2wx3+v* (tt-
ml*T) ;

s3xxx3 =s3wx3+v* (tt-
ml*T) ;

else

end

if
(m1*T<=tt) & (tt<ml*T+t4l)
xxXx4 =wx4+v* (tt-ml*T);
slxxx4 =slwx4d+v* (tt-
ml*T) ;

s2xxx4 =s2wx4+v* (tt-
ml*T);

s3xxx4 =s3wx4d+v* (tt-
ml~*T) ;

else

end

if
(ml1*T<=tt) & (tt<ml*T+t51)
xxx5 =wx5+v* (tt-ml1*T);
slxxx5 =slwx5+v* (tt-
ml*T) ;

s2xxx5 =s2wx5+v* (tt-
ml*T);

s3xxx5 =s3wx5+v* (tt-
ml*T) ;

else

end

if
(m1*T<=tt) & (tt<ml*T+t61l)
XXX6 =wx6+v* (tt-ml*T);
slxxx6=slwx6+v* (tt-ml*T) ;
S2XXX6 =S2WX6+v* (tt-
ml*T);

S3xxxX6 =s3wx6+v* (tt-
ml*T) ;

else

end

if
(M1*T<=tt) & (Lt<ml*T+t71)

XXX7T =wxT7+v* (tt-ml*T) ;
slxxx7 =slwx7+v* (tt-
ml*T) ;

S2XXXT =s2wxT7+v* (tt-
ml*T) ;

s3xxx7 =s3wx7+v* (tt-
ml*T) ;

else

end

if
(m1*T<=tt) & (tt<ml*T+t81)
xXxXx8 =wx8+v* (tt-ml*T);
slxxx8 =slwx8+v* (tt-
ml*T) ;

S2xxxX8 =s2wx8+v* (tt-
ml*T);

s3xxx8 =s3wx8+v* (tt-
ml*T) ;

else

end

if
(m1*T<=tt) & (tt<ml*T+t91)
XxxX9 =wx9+v* (tt-ml1*T) ;
s1lxxx9 =slwx9+v* (tt-
ml*T) ;

52xxx9 =s2wx9+v* (tt-
ml*T) ;

s3xxx9=s3wx9+v* (tt-ml*T) ;
else

end

if
(m1*T<=tt) & (tt<ml*T+t101)
xxx10 =wx1lO0+v* (tt-ml1*T) ;
s1lxxx10 =slwx1l0+v* (tt-
ml*T) ;

$2xxx10 =s2wx10+v* (tt-
ml*T) ;

s3xxx10 =s3wx10+v* (tt-
ml*T) ;

else

end

if
(m1*T<=tt) & (tt<ml*T+t111)
xxx1l =wx1ll+v* (tt-ml1*T) ;
slxxxll =slwxll+v* (tt-
ml*T) ;

s2xxx11l =s2wx1l+v* (tt-
ml*T) ;

s3xxx1l =s3wxll+v* (tt-
ml*T);

else

end

if
(m1*T<=tt) & (tt<ml*T+t121)
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xxx12 =wx1l24+v* (tt-ml*T) ;
slxxx12 =slwx12+v* (tt-
ml*T);

S2xxx12 =s2wx12+v* (tt-
ml*T) ;

s3xxx12 =s3wx12+v* (tt-
ml*T);

else

end

if
(m1*T<=tt) & (tt<ml*T+tl131)
xxXxx13 =wx13+v* (tt-ml*T) ;
slxxx13 =slwx13+v* (tt-
ml*T) ;

s2xxx13 =s2wx13+v* (tt-
ml*T) ;

s3xxx13 =s3wx13+v* (tt-
ml*T) ;

else

end

if
(m1l*T<=tt) & (tt<ml*T+tl141)
xxx14 =wx1l4+v* (tt-ml1*T);
slxxx1l4d =slwxl4d+v* (tt-
ml*T) ;

s2xxx14 =s2wxld+v* (tt-
ml*T);

s3xxx14 =s3wx14+v* (tt-
ml*T) ;

else

end

if
(ml1*T<=tt) & (tt<ml*T+t151)
xxx15 =wx15+v* (tt-ml1*T);
slxxx1l5 =slwxl5+v* (tt-
ml*T) ;

s2xxx15 =s2wx15+v* (tt-
ml*T);

s3xxx15 =s3wx15+v* (tt-
ml*T) ;

else

end

if
(ml*T<=tt) & (tt<ml*T+tlo6l)
xxx16 =wxl6+v* (tt-ml*T) ;
slxxx16 =slwxl6+v* (tt-
ml*T);

$2xxx16 =s2wx16+v* (tt-
ml*T) ;

o\

o\
\

> 20 tmhma kinisis

o\

s3xxx16 =s3wxl1l6+Vv* (tt-
ml*T) ;

else

end

if
(m1*T<=tt) & (tt<ml*T+tl1l71)
xxXx17 =wx1l7+v* (tt-ml1*T) ;
slxxx1l7 =slwxl7+v* (tt-
ml*T) ;

$2xxx17 =s2wx17+v* (tt-
ml*T) ;

s3xxx17 =s3wxl7+v* (tt-
ml*T) ;

else

end

if
(m1*T<=tt) & (tt<ml*T+t181)
xxx18 =wx18+v* (tt-ml*T);
slxxx18 =slwx18+v* (tt-
ml*T) ;

s2xxx18 =s2wx18+v* (tt-
ml*T) ;

s3xxx18 =s3wx18+v* (tt-
ml*T) ;

else

end

if
(m1*T<=tt) & (tt<ml*T+t191)
xxx19 =wx19+v* (tt-ml1*T);
s1lxxx19 =slwx19+v* (tt-
ml*T) ;

s2xxx19 =s2wx19+v* (tt-
ml*T) ;

s3xxx19 =s3wx19+v* (tt-
ml*T) ;

else

end

if
(m1*T<=tt) & (tt<ml*T+t201)
xxx20 =wx20+v* (tt-ml1*T) ;
s1xxx20 =slwx20+v* (tt-
ml*T) ;

$2xxx20 =s2wx20+v* (tt-
ml*T);

s3xxx20 =s3wx20+v* (tt-
ml*T) ;

else

end

if
(M*T+tll<=t) & (EL<m*T+tll+t
12)

xx1 =x00+2+v* (t-t1ll-m*T) ;
slxxl =s1x00+2+v* (t-tll-
m*T) ;
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s2xx1 =s2x004+24+v* (t-tll-
m*T) ;

s3xx1l =s3x004+24+v* (t-tll-
m*T) ;

sdxx1l =s4x00+2+v* (t-tll-
m*T) ;

else

end

if

(m*T+t21<=t) & (t<m*T+t21+t
22)

xx2 =x00+2+v* (t-t21-m*T) ;
slxx2 =s1x004+2+v* (t-t21-

m*T) ;

s2xx2 =82x00+24+v* (t-t21-

m*T) ;

s3xx2 =s3x00+2+v* (t-t21-

m*T) ;

s4xx2 =s4x004+2+v* (t-t21-

m*T) ;

else

end

if
(m*T+t31<=t) & (L<m*T+t 31+t
32)

xx3 =x00+2+v* (£t-t31-m*T) ;
slxx3 =sl1lx00+2+v* (t-t31-
m*T) ;

s2xx3 =s2x004+24+v* (t-t31-
m*T) ;

s3xx3 =s3x004+2+v* (t-t31-
m*T) ;

s4xx3 =s4x004+24+v* (t-t31-
m*T) ;

else

end

if

(M*T+t41<=t) & (L<m*T+t41+t
42)

xx4 =x00+2+v* (t-t41l-m*T) ;
slxx4d =s1x004+24+v* (t-t4dl-

m*T) ;

s2xx4 =s2x004+24+v* (t-t4dl-

m*T) ;

s3xx4 =s3x00+2+v* (t-tdl-

m*T) ;

s4xx4 =s4x004+24+v* (t-t4dl-

m*T) ;

else

end

if
(m*T+t51<=t) & (t<m*T+t51+t
52)
xx5 =x00+2+v* (t-t51-m*T) ;

slxx5 =s1x00+2+v* (t-t51-

m*T) ;
s52xx5 =82x004+2+v* (t-t51-
m*T) ;
s3xx5 =s3x00+2+v* (t-t51-
m*T) ;

s4xx5 =s4x00+2+v* (t-t51-
m*T) ;

else

end

if
(m*T+t6l<=t) & (t<m*T+to6l+t
62)

xx6 =x00+2+v* (t-t61l-m*T) ;
s1lxx6 =s1x00+24+v* (t-tol-
m*T) ;

s52xx6 =s2x00+2+v* (t-tol-
m*T) ;

s3xx6 =s3x00+2+v* (t-to6l-
m*T) ;

s4xx6 =s4x00+2+v* (t-tol-
m*T) ;

else

end

if
(M*T+t71<=t) & (E<m*T+t71+t
72)

xx7 =x00+2+v* (t-t71-m*T) ;
slxx7 =s1x00+2+v* (t-t71-
m*T) ;

s2xxX7 =s2x00+24+v* (t-t71-
m*T) ;

s3xx7 =s3x00+2+v* (t-t71-
m*T) ;

sdxx7 =s4x00+24+v* (t-t71-
m*T) ;

else

end

if
(m*T+t81<=t) & (t<m*T+t81+t
82)

xx8 =x00+2+v* (t-t81l-m*T) ;
slxx8 =s1x00+2+v* (t-t81-
m*T) ;

s2xx8 =s2x00+2+v* (t-t81-
m*T) ;

s3xx8 =s3x00+2+v* (t-t81-
m*T) ;

s4xx8 =s4x00+2+v* (t-t81-
m*T) ;

else

end
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if sd4xx12 =s4x004+2+v* (t-

(m*T+t91<=t) & (t<m*T+t 91+t t121-m*T) ;

92) else

xx9 =x00+24+v* (t-t91-m*T) ; end

s1xx9 =s1x00+2+v* (£-t91-

m*T) ; if

s2xx9 =s2x00+2+v* (t-t91- (M*T+t131<=t) & (t<m*T+t131

m*T) ; +t132)

s3xx9 =s3x00+2+v* (t-t91- xx13 =x00+2+v* (£-t131-

m*T) ; m*T) ;

s4xx9 =s4x004+24+v* (t-t91- s1xx13 =s1x00+42+4v* (t-

m*T) ; t131-m*T) ;

else s2xx13 =s2x00+2+v* (t-

end t131-m*T) ;
s3xx13 =s3x00+2+v* (t-
t131-m*T) ;

if s4xx13 =s4x00+2+v* (t-

(M*T+t101<=t) & (E<m*T+t101 t131-m*T);

+£102) else

xx10 =x00+2+v* (t-t101- end

m*T) ;

slxx10 =sl1x00+2+v* (t- if

t101-m*T) ; (m*T+t141<=t) & (t<m*T+t141

s2xx10 =s2x00+24+v* (t- +t142)

t101-m*T) ; xx14 =x00+2+v* (t-t1l41-

s3xx10 =s3x00+2+v* (t- m*T) ;

£t101-m*T) ; slxx1l4 =sl1lx00+2+v* (t-

sd4xx10 =s4x00+2+v* (t- t141-m*T) ;

£t101-m*T) ; s2xx14 =s2x00+2+v* (t-

else t141-m*T) ;

end s3xx14 =s3x00+2+v* (t-
t141-m*T) ;

if sdxx14 =s4x00+2+v* (t-

(m*T+t111<=t) & (t<m*T+t111 t141-m*T);

+t112) else

xx11 =x00+2+v* (t-t111- end

m*T) ;

slxx1ll =sl1x00+2+v* (t- if

tl11l1l-m*T); (m*T+t151<=t) & (t<m*T+t151

s2xx11l =s2x004+2+v* (t- +t152)

t111-m*T) ; xx15 =x00+2+v* (t-tl1l51-

s3xx11l =s3x00+2+v* (t- m*T) ;

tl11l1l-m*T); slxx1l5 =s1x00+2+v* (t-

sdxx1l =s4x00+2+v* (t- t151-m*T) ;

t111-m*T) ; s2xx15 =s52x00+2+v* (t-

else t151-m*T) ;

end s3xx15 =s3x00+2+v* (t-
t151-m*T) ;

if s4xx15 =s4x00+2+v* (t-

(M*T+t121<=t) & (t<m*T+t121 t151-m*T) ;

+t122) else

xx12 =x00+2+v* (t-t121- end

m*T) ;

slxx12 =s1x00+2+v* (t- if

t121-m*T) ; (m*T+tlol<=t) & (t<m*T+tlo6l

s2xx12 =s2x00+2+v* (t- +t162)

t121-m*T) ; xx16 =x00+2+v* (t-tlol-

s3xx12 =s3x00+2+v* (t- m*T) ;

t121-m*T) ;

slxx16 =s1x00+2+v* (t-
t161-m*T) ;
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s2xx16 =s2x00+2+v* (t-
t161-m*T) ;

s3xx16 =s3x00+24+v* (t-
tl161l-m*T) ;

sdxx16 =s4x00+2+v* (t-
t161-m*T) ;

ex16=2+v* (t-tl1l6l-m*T) ;
else

end

if
(m*T+t171<=t) & (t<m*T+t171
+t172)

xx17 =x00+24+v* (t-tl71-
m*T) ;

slxx17 =sl1lx00+2+v* (t-
tl71-m*T) ;

s2xx17 =s2x00+2+v* (t-
t171-m*T) ;

s3xx17 =s3x00+2+v* (t-
t171-m*T) ;

sdxx17 =s4x00+2+v* (t-
tl71-m*T) ;

else

end

if
(m*T+t181<=t) & (t<m*T+t181
+t182)

xx18 =x00+24+v* (t-tl1l81-
m*T) ;

s1lxx18 =s1x00+2+v* (t-
£t181-m*T) ;

s2xx18 =s2x00+2+v* (t-
t181-m*T) ;

s3xx18 =s3x004+2+v* (t-
t181-m*T) ;

s4xx18 =s4x00+2+v* (t-
t181-m*T) ;

else

end

if
(m*T+t191<=t) & (t<m*T+t191
+t192)

xx19 =x00+24+v* (t-tl191-
m*T) ;

slxx19 =sl1x00+2+v* (t-
£t191-m*T) ;

s2xx19 =s52x00+2+Vv* (t-
£t191-m*T) ;

s3xx19 =s3x00+2+v* (t-
£t191-m*T) ;

s4xx19 =s4x00+2+v* (t-
£t191-m*T) ;

else

end

if
(m*T+t201<=t) & (t<m*T+t201
+t202)

xx20 =x00+2+v* (t-t201-

m*T) ;

slxx20 =s1x00+2+v* (t-
t201-m*T) ;

s52xx20 =s2x00+2+v* (t-
t201-m*T) ;

s3xx20 =s3x00+2+v* (t-
t201-m*T) ;

s4xx20 =s4x00+2+v* (t-
t201-m*T) ;

else

end

if
(m1*T+tll<=tt) & (tt<ml*T+t
11+t12)

xxx1l =wx00+2+v* (tt-tll-
ml*T) ;

slxxxl =slwx00+2+v* (tt-

tll-ml1*T);

s2xxxl =s2wx00+24+v* (tt-
t1ll-ml1*T);

s3xxxl =s3wx00+24+v* (tt-
tll-ml1*T);

else

end

if
(m1*T+t21<=tt) & (Lt<ml*T+t
21+t22)

xxx2 =wx00+2+v* (tt-t21-
m1*T) ;

slxxx2 =s1lwx00+2+v* (tt-
t21-m1*T) ;

s2xxx2 =s2wx00+2+v* (tt-
£t21-ml*T) ;

s3xxx2 =s3wx00+2+v* (tt-
£21-ml*T) ;

else

end

if
(m1*T+t31<=tt) & (tt<ml*T+t
31+t32)

xxx3 =wx00+2+v* (tt-t31-
ml*T) ;

slxxx3 =slwx00+2+v* (tt-
t31-ml1*T);

s52xxx3 =s2wx00+24+v* (tt-
t31-ml1*T) ;

s3xxx3 =s3wx00+24+v* (tt-
t31-ml1*T);

else

end
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if
(m1*T+t4l<=tt) & (tt<ml*T+t
41+t42)

xxx4 =wx00+2+v* (tt-t4dl-

ml*T) ;

slxxx4 =slwx00+2+v* (tt-
t4d1-m1*T) ;

s2xxx4 =s2wx00+2+v* (tt-
t41-ml1*T) ;

s3xxx4 =s3wx00+2+v* (tt-
t4d1-m1*T) ;

else

end

if
(m1*T+t51<=tt) & (tt<ml*T+t
51+t52)

xxx5 =wx00+2+v* (tt-t51-
ml*T) ;

slxxx5 =slwx00+2+v* (tt-
t51-m1*T) ;

s2xxx5 =s2wx00+2+v* (tt-
t51-ml1*T);

s3xxx5 =s3wx00+2+v* (tt-
t51-m1*T) ;

else

end

if

(m1*T+t6l<=tt) & (tt<ml*T+t
61+t62)
xxx6 =wx00+2+v* (tt-t6l-

ml*T);

slxxx6 =slwx00+2+v* (tt-
t6l-ml*T) ;

S2xxx6 =s2wx00+2+v* (tt-
t6l-ml1*T);

s3xxx6 =s3wx00+2+v* (tt-
t6l-ml*T) ;

else

end

if
(m1*T+t71<=tt) & (tt<ml*T+t
71+t72)

xxx7T =wx00+2+v* (tt-t71-
ml*T);

slxxx7 =slwx00+2+v* (tt-
t71-m1*T) ;

s2xxx7T =s2wx00+2+v* (tt-
t71-m1*T);

s3xxx7 =s3wx00+2+v* (tt-
t71-m1*T) ;

else

end

if

(m1*T+t81l<=tt) & (tt<ml*T+t
81+t82)

xxx8 =wx00+2+v* (tt-t81-
ml*T) ;

slxxx8 =slwx00+24+v* (tt-
t81-ml1*T) ;

s52xxx8 =s2wx00+2+v* (tt-
t81-ml1*T) ;

s3xxx8 =s3wx00+24+v* (tt-
t81-ml1*T) ;

else

end

if
(m1*T+t91<=tt) & (tt<ml*T+t
91+t92)

xxx9 =wx00+2+v* (tt-t91-
ml*T) ;

s1lxxx9 =s1lwx00+2+v* (tt-
t91-ml1*T) ;

52xxx9 =s2wx00+24+v* (tt-
t91-ml1*T) ;

s3xxx9 =s3wx00+24+v* (tt-
t91-ml1*T) ;

else

end

if
(m1*T+t101l<=tt) & (tt<ml*T+
£101+t102)

xxx10 =wx00+2+v* (tt-t101-
ml*T) ;

s1lxxx10 =slwxQ00+2+v* (tt-
t101-ml1*T) ;

s52xxx10 =s2wx00+2+v* (tt-
t101-ml1*T) ;

s3xxx10 =s3wx00+2+v* (tt-
t101-ml1*T) ;

else

end

if
(m1*T+t111<=tt) & (Lt<ml*T+
t1114t112)

xxx11l =wx00+2+v* (tt-tl1lll-
ml*T) ;

slxxxll =slwx00+2+v* (tt-
t111-ml*T) ;

s2xxx11l =s2wx00+2+v* (tt-
t111l-ml1*T);

s3xxx11l =s3wx00+2+v* (tt-
t111-ml*T) ;

else

end

if
(m1*T+t121<=tt) & (Lt<ml*T+
tl121+t122)

xxx12 =wx00+2+v* (tt-tl121-
ml*T);

slxxx1l2 =slwx00+2+v* (tt-
t121-ml1*T) ;
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s2xxx12 =s2wx00+2+v* (tt-
t121-ml1*T) ;

s3xxx12 =s3wx00+2+v* (tt-
t121-ml1*T) ;

else

end

if
(m1*T+t131<=tt) & (tt<ml*T+
t131+t132)

xxx13 =wx00+2+v* (tt-t131-
ml*T) ;

slxxx13 =slwx00+2+v* (tt-
t131-ml1*T);

s2xxx13 =s2wx00+2+v* (tt-
t131-ml1*T) ;

s3xxx13 =s3wx00+2+v* (tt-
t131-ml1*T) ;

else

end

if
(m1*T+tl141<=tt) & (Lt<ml*T+
t141+t142)

xxx14 =wx00+2+v* (tt-tl4l-
ml*T) ;

slxxx1ld =slwx00+2+v* (tt-
t141-ml1*T) ;

s2xxx14 =s2wx00+2+v* (tt-
t141-ml1*T) ;

s3xxx14 =s3wx00+2+v* (tt-
t141-ml1*T) ;

else

end

if

(Ml*T+t151<=tt) & (tt<ml*T+
t151+t152)

xxx15 =wx00+2+v* (t-t151-
ml*T);

slxxx1l5 =sl1lwx00+2+v* (tt-
t151-ml1*T) ;

$2xxx15 =s2wx00+2+v* (tt-
t151-ml1*T) ;

s3xxx15 =s3wx00+2+v* (tt-
t151-ml1*T) ;

else

end

if
(m1*T+tlel<=tt) & (tt<ml*T+
tl161+t162)

xxx16 =wx00+2+v* (tt-tlol-
ml*T) ;

slxxx16 =slwx00+2+v* (tt-
t161-ml1*T);

s2xxx16 =s2wx00+2+v* (tt-
t161-ml1*T) ;

s3xxx16 =s3wx00+2+v* (tt-—
t161-ml1*T);

else
end

if
(m1*T+tl171<=tt) & (tt<ml*T+
t171+t172)

xxx17 =wx00+2+v* (tt-tl171-
ml*T) ;

slxxx1l7 =slwx00+2+v* (tt-
t171-ml1*T) ;

s2xxx17 =s2wx00+2+v* (tt-
t171-ml1*T) ;

s3xxx17 =s3wx00+2+v* (tt-
t171-ml1*T) ;

else

end

if
(m1*T+t181<=tt) & (Lt<ml*T+
t181+t182)

xxx18 =wx00+2+v* (tt-t181-
ml*T) ;

slxxx18 =slwx00+2+v* (tt-
£181-ml1*T) ;

$2xxx18 =s2wx00+2+v* (tt-
t181-ml1*T) ;

s3xxx18 =s3wx00+2+v* (tt-
£181-ml1*T) ;

else

end

if
(M1*T+t191<=tt) & (tt<ml*T+
£191+t192)

xxx19 =wx00+2+v* (tt-t191-
ml*T) ;

s1xxx19 =slwxQ00+2+v* (tt-
t191-ml1*T) ;

$2xxx19 =s2wx00+2+v* (tt-
£191-ml1*T) ;

s3xxx19 =s3wx00+2+v* (tt-
t191-ml1*T) ;

else

end

if
(m1*T+t201<=tt) & (tt<ml*T+
t201+t202)

xxx20 =wx00+2+v* (tt-t201-
ml*T) ;

s1xxx20 =slwx00+2+v* (tt-
t201-ml1*T) ;

52xxx20 =s2wx00+2+v* (tt-
t201-ml1*T) ;

s3xxx20 =s3wx00+2+v* (tt-
t201-ml1*T) ;

else

end
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o
o

£fill (ypovx, ypovy, [O.

0.9 0.9]1 ,...

basxl, basyl, [0.76 O.

0] ,...

9

36

basbxl, basbyl, [0.6 0.2

o1 ,...

bascxl, bascyl, [0.8 0.4

0] ,...

basx2, basy2, [0.76 0.

o1 ,...

basbx2, basby2,[0.6 0.

01 ,...

36

2

bascx2, bascy2, [0.8 0.4

o] ,...
xx1, yl, [0.2 0.7
0.2],...

slxxl, slyl, [0.3 0.

0.31,.

s2xx1l, s2yl, [0.4 0.

0.471, .

s3xx1l, s3yl, [0.5 0.

0.51,.

sdxx1l, s4dyl, [0.6 0.

0.61,...

xxx1, wyl, [0.8 0 O],...

slxxxl, slwyl, [0.9 O.

0.2],...

s2xxx1l, s2wyl, [1 0.4
0.47,...

s3xxxl, s3wyl, [1 0.7
0.71, ...

xx2, y2, [0.2 0.7
0.2],...

slxx2, sly2, [0.3 0.

0.31,...

s2xx2, s2y2, [0.4 0.

0.4],...

s3xx2, s3y2, [0.5 0.

0.51,...

sdxx2, s4dy2, [0.6 0.

0.6],...

75
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xxx2, wy2, [0.8 0 O0],...

slxxx2, slwy2, [0.9 0.

0.2],...

s2xxx2, s2wy2, [1 0.4
0.471, ...

s3xxx2, s3wy2, [1 0.7
0.71, ...

xx3, y3, [0.2 0.7
0.21, ...

slxx3, sly3, [0.3 0.

0.31,.

s2xx3, s2y3, [0.4 0.

0.47,.

s3xx3, s3y3, [0.5 0.

0.51,.

sd4xx3, s4y3, [0.6 0.

0.61,...

xxx3, wy3, [0.8 0 O0],...

slxxx3, slwy3, [0.9 0.2

0.21,...
s2xxx3, s2wy3, [1
0.4],...
s3xxx3, s3wy3, [1
0.71, ...

xx4, y4, [0.2 0.

0.2],...
slxx4, sly4, [0.3
0.3]1,...
s2xx4, s2y4, [0.4
0.4],...
s3xx4, s3y4, [0.5
0.5],...
sdxx4, sdy4, [0.6
0.6],...
xxx4, wy4, [0.8 O

slxxx4, slwy4, [O.

0.2],...
s2xxx4, s2wy4d, [1
0.41,...
s3xxx4, s3wy4d, [1
0.71, ...

xx5, y5, [0.2 0.

0.21,...
slxx5, slyb5, [0.3
0.31,...
s2xx5, s2y5, [0.4
0.471, ...
s3xx5, s3y5, [0.5
0.51,...
sd4xx5, s4dy5, [0.6
0.61,...
xxx5, wy5, [0.8 O

slxxx5, slwy5, [O.

0.21,...
s2xxx5, s2wy5, [1
0.41, ...
s3xxx5, s3wy5, [1
0.71,...

xx6, y6, [0.2 0.

0.2],...
slxx6, sly6, [0.3
0.31,...
s2xx6, s2y6, [0.4
0.4],...
s3xx6, s3y6, [0.5
0.5],...
sd4xx6, sdyo6, [0.6
0.6],...
xxx6, wy6, [0.8 O

slxxx6, slwy6, [O.

0.2],...
S2XXX6, s2wy6, [1
0.47,...
s3xxx6, s3wy6, [1
0.71, ...

xx7, y7, [0.2 0.

0.21,...

0.4

0.7

.75

.85
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slxx7, sly7, [0.3 0.75 xxx10, wylO, [0.8 O
0.3]1,... 0],...
s2xx7, s2y7, [0.4 0.8 slxxx10, slwylO, [0.9 0.2
0.471,... 0.21,...
s3xx7, s3y7, [0.5 0.85 s2xxx10, s2wylO, [1 0.4
0.5],... 0.41,...
sdxx7, s4y7, [0.6 0.9 s3xxx10, s3wyl0, [1 0.7
0.6],... 0.71, ...
xxx7, wy7, [0.8 0 O0],.. xx11, yl1l, [0.2 0.7
slxxx7, slwy7, [0.9 0.2 0.21,...
0.2],... slxx1ll, slyll, [0.3
s2xxx7, s2wy7, [1 0.4 0.75 0.371,...
0.47,... s2xx11, s2yll, [0.4 0.8
s3xxx7, s3wy7, [1 0.7 0.471, ...
0.71, ... s3xx11l, s3yll, [0.5
xx8, y8, [0.2 0.7 0.85 0.5],...
0.2],... sdxx11l, s4yll, [0.6 0.9
slxx8, sly8, [0.3 0.75 0.6],...
0.31,... xxx11, wyll, [0.8 O
s2xx8, s2y8, [0.4 0.8 0],...
0.47,... slxxx1ll, slwyll, [0.9 0.2
s3xx8, s3y8, [0.5 0.85 0.2],...
0.5],... s2xxx11l, s2wyll, [1 0.4
s4xx8, s4y8, [0.6 0.9 0.471, ...
0.61,... s3xxx11l, s3wyll, [1 0.7
xxx8, wy8, [0.8 0 0],.. 0.71, ...
slxxx8, slwy8, [0.9 0.2 xx12, yl12, [0.2 0.7
0.2],... 0.2],...
s2xxx8, s2wy8, [1 0.4 slxx12, slyl2, [0.3
0.47,... 0.75 0.3],...
s3xxx8, s3wy8, [1 0.7 s2xx12, s2yl2, [0.4 0.8
0.71, ... 0.41,...
xx9, y9, [0.2 0.7 s3xx12, s3yl2, [0.5
0.21,... 0.85 0.5],...
s1lxx9, sly9, [0.3 0.75 sd4xx12, s4yl2, [0.6 0.9
0.31,... 0.6],...
s2xx9, s2y9, [0.4 0.8 xxx12, wyl2, [0.8 O
0.47,... 0],...
s3xx9, s3y9, [0.5 0.85 slxxx12, slwyl2, [0.9 0.2
0.5],... 0.21,...
s4xx9, s4y9, [0.6 0.9 s2xxx12, s2wyl2, [1 0.4
0.6],... 0.41,...
xxx9, wy9, [0.8 0 O0],.. s3xxx12, s3wyl2, [1 0.7
s1lxxx9, slwy9, [0.9 0.2 0.71, ...
0.21,... xx13, yl13, [0.2 0.7
s2xxx9, s2wy9, [1 0.4 0.21,...
0.471, ... slxx13, slyl3, [0.3
s3xxx9, s3wy9, [1 0.7 0.75 0.371,...
0.71, ... s2xx13, s2yl13, [0.4 0.8
xx10, yl10, [0.2 0.7 0.471, ...
0.21,... s3xx13, s3yl3, [0.5
slxx10, slyl0, [0.3 0.85 0.5],...
0.75 0.3],... sdxx13, s4yl3, [0.6 0.9
s2xx10, s2yl10, [0.4 0 0.6],...
0.471, ... xxx13, wyl3, [0.8 0
s3xx10, s3yl0, [0.5 0],...
0.85 0.571,... slxxx13, slwyl3, [0.9 0.2
sd4xx10, s4yl0, [0.6 0 0.2],...
0.61,... s2xxx13, s2wyl3, [1 0.4

0.4],...
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s3xxx13, s3wyl3, [1 0.7 s2xx17, s2yl7, [0.4 0.8
0.71, ... 0.41,...
xx14, yl1l4, [0.2 0.7 s3xx17, s3yl7, [0.5
0.21,... 0.85 0.5],...
slxx1l4, slyl4, [0.3 sd4xx17, s4yl7, [0.6 0.9
0.75 0.3],... 0.6],...
s2xx14, s2yl4, [0.4 xxx17, wyl7, [0.8 O
0.47,... 0],...
s3xx14, s3yl4, [0.5 slxxx17, slwyl7, [0.9 0.2
0.85 0.5],... 0.21,...
sdxx14, sdyl4d, [0.6 s2xxx17, s2wyl7, [1 0.4
0.6],... 0.4],...
xxx14, wyld4, [0.8 O s3xxx17, s3wyl7, [1 0.7
0],... 0.71, ...
slxxx14, slwyl4d, [0.9 xx18, yl1l8, [0.2 0.7
0.2],... 0.2]1,...
s2xxx1l4, s2wyl4d, [1 O. s1lxx18, slyl8, [0.3
0.47,... 0.75 0.3],...
s3xxx14, s3wyl4d, [1 O. s2xx18, s2yl8, [0.4 0.8
0.71, ... 0.41,...
xx15, y15, [0.2 0.7 s3xx18, s3yl8, [0.5
0.2],... 0.85 0.5],...
slxx1l5, slyl5, [0.3 sd4xx18, s4yl8, [0.6 0.9
0.75 0.31,... 0.6],...
s2xx15, s2yl5, [0.4 xxx18, wyl8, [0.8 0
0.47,... 0],...
s3xx1l5, s3yl5, [0.5 slxxx18, slwyl8, [0.9 0.2
0.85 0.5],... 0.2],...
sd4xx15, s4yl5, [0.6 s2xxx18, s2wyl8, [1 0.4
0.6],... 0.41,...
xxx15, wyl5, [0.8 O s3xxx18, s3wyl8, [1 0.7
0l,... 0.71, ...
slxxx1l5, slwyl5, [0.9 xxx19, wyl9, [0.8 O
0.21,... 0],...
s2xxx15, s2wyl5, [1 O. slxxx19, slwyl9, [0.9 0.2
0.471,... 0.2],...
s3xxx15, s3wyl5, [1 O. s2xxx19, s2wyl9, [1 0.4
0.71, ... 0.4],...
xx16, yle, [0.2 0.7 s3xxx19, s3wyl9, [1 0.7
0.21,... 0.71, ...
slxxle, slyle, [0.3 xx19, y19, [0.2 0.7
0.75 0.31,... 0.2],...
s2xxl6, s2yle, [0.4 s1xx19, slyl9, [0.3
0.47,... 0.75 0.3],...
s3xx16, s3yle, [0.5 s2xx19, s2yl19, [0.4 0.8
0.85 0.5],... 0.471,...
sd4xx16, s4dyle, [0.6 s3xx19, s3yl9, [0.5
0.6],... 0.85 0.5],...
xxx16, wyl6e, [0.8 O s4xx19, s4yl1l9, [0.6 0.9
01,... 0.6],...
slxxx1l6, slwyle6, [0.9 xxx20, wy20, [0.8 O
0.21,... 0],...
s2xxx16, s2wyle6, [1 O. s1lxxx20, slwy20, [0.9 0.2
0.47,... 0.2],...
s3xxx16, s3wyl6, [1 O. s2xxx20, s2wy20, [1 0.4
0.71, ... 0.471,...
xx17, yl17, [0.2 0.7 s3xxx20, s3wy20, [1 0.7
0.21,... 0.71, ...
slxx17, slyl7, [0.3 xx20, y20, [0.2 0.7

0.75 0.31,...

0.21,...
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slxx20, sly20, [0.3 s3xcl,s3ycl, [0.5 0.
0.75 0.31,... 0.51,...

s2xx20, s2y20, [0.4 0.8 sd4xcl,sdycl, [0.6 0.
0.471,... 0.6],...

s3xx20, s3y20, [0.5 xna,yna, [0.8 0 0],...
0.85 0.571,... slxna,slyna, [0.9 0.2
sd4xx20, sd4y20, [0.6 0.9 0.21,...

0.61,... s2xna, s2yna, [1 0.4
xcl,ycl, [0.2 0.7 0.471, ...

0.21,... s3xna,s3yna, [1 0.7
slxcl,slycl, [0.3 0.75 0.71, ...

0.31,... 'LineStyle', "none')
s2xcl,s2ycl, [0.4 0.8 axis([1.7 3.2 0.75
0.4],... 2.51);

axis off

text (2.1 , 0.97, 'HopatnpoUupe tnv xivnon LO6vVIwv og dL&AUUX
XAwpLoUyxou voatplou', 'FontSize', 9)

text (2.1 , 0.9, '"Ta Bet1r& LO6VTIa TOoU Na éAxovial amd Tnv
k&Bodo', 'FontSize', 9)

text (2.1 , 0.83, '"Ta apvnilx& Lo6vIa tou Cl éAxovial omd 1tnv
&vodo', 'FontSize', 9)

(1.9 , 2.35, '"+','FontSize',20)

(1.85 , 2.27, '"ANOAOT','FontSize',12)
text (2.95 , 2.35, '-','FontSize',22)

(2.85 , 2.27, '"KAGOAOL','FontSize',12)

text (2.4 , 2.3, 'Na','FontSize',12)
text (2.4 , 2.405, 'Cl','FontSize',12)

text (2.45 , 2.315, '+','FontSize',10)

text(2.45 , 2.43, '-','FontSize',16)
pause (ryte)
end

set (handles.pushbutton5, 'enable', 'on')
set (handles.pushbutton6, 'enable', 'on'")

% —-—- Executes on button press in pushbutton3.

function pushbutton3 Callback (hObject, eventdata, handles)

% hObject handle to pushbutton3 (see GCBO)

% eventdata reserved - to be defined in a future version of
MATLAB

% handles structure with handles and user data (see GUIDATA)

global stam;

if (stam==0)

set (handles.pushbutton3, 'string', "Suvéxeita')
set (handles.pushbuttonb, 'enable', 'on'")

set (handles.pushbutton6, 'enable', 'on')
stam=1;

elseif (stam==1)

set (handles.pushbutton3, 'string', "Ataxkonn")
set (handles.pushbuttonb, 'enable', '"off")

set (handles.pushbutton6, 'enable', '"off")
stam=0;
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else
end
guidata (hObject, handles);

o)

% % —--- Executes on button press in pushbuttond.

% function pushbutton4 Callback (hObject, eventdata, handles)

% % hObject handle to pushbutton4 (see GCBO)

% % eventdata reserved - to be defined in a future version of

% % handles structure with handles and user data (see
GUIDATA)

% global suv;

% global stam;

% suv=get (handles.pushbutton4, 'value');

% stam=0;

% —--- Executes on button press in pushbutton5.

function pushbutton5 Callback (hObject, eventdata, handles)

% hObject handle to pushbutton5 (see GCBO)

% eventdata reserved - to be defined in a future version of
MATLAB

$ handles structure with handles and user data (see GUIDATA)
global ryt;

global status;

status=1;

axes (handles.axesl)

cla

clear ryt;

set (handles.editl, 'enable', 'on', 'string', '5");

set (handles.pushbutton2, 'enable', 'on'")

guidata (hObject, handles);

% —--—- Executes on button press in pushbuttoné6.

function pushbutton6 Callback (hObject, eventdata, handles)

% hObject handle to pushbutton6 (see GCBO)

% eventdata reserved - to be defined in a future version of
MATLAB

% handles structure with handles and user data (see GUIDATA)

global status;

global stam;

hfin=questdlg ('"Efodoc and 10 mpdypopuc; ') ;
switch hfin

case 'Yes'

stam=1;

status=1;

closereq;

end

% —--—- Executes on button press in pushbutton7.

function pushbutton7 Callback (hObject, eventdata, handles)
% hObject handle to pushbutton7 (see GCBO)

o)

% eventdata reserved - to be defined in a future version of
MATLAB

% handles structure with handles and user data (see GUIDATA)
! help eik 3 15b.pdf;
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Gfig_3_18.m

function varargout = gfig 3 18(varargin)
% GFIG 3 18 M-file for gfig 3 18.fig

% GFIG 3 18, by itself, creates a new GFIG 3 18 or raises
the existing

% singleton*.

% H = GFIG_3 18 returns the handle to a new GFIG 3 18 or
the handle to

% the existing singleton*.

% GFIG 3 18 ('CALLBACK',hObject,eventData,handles,...)
calls the local

% function named CALLBACK in GFIG 3 18.M with the given

input arguments.

oe

% GFIG_ 3 18('Property','Value',...) creates a new
GFIG 3 18 or raises the

% existing singleton*. Starting from the left, property
value pairs are

% applied to the GUI before gfig 3 18 OpeningFcn gets
called. An

% unrecognized property name or invalid value makes
property application

% stop. All inputs are passed to gfig 3 18 OpeningFcn via
varargin.

% *See GUI Options on GUIDE's Tools menu. Choose "GUI
allows only one

% instance to run (singleton)".

% See also: GUIDE, GUIDATA, GUIHANDLES

% Edit the above text to modify the response to help gfig 3 18

o

Last Modified by GUIDE v2.5 28-0ct-2011 11:30:16

% Begin initialization code - DO NOT EDIT

gui Singleton = 1;

gui State = struct('gui Name', mfilename,
'gui Singleton', gui Singleton,

'gui OpeningFcn', @gfig 3 18 OpeningFcn,

'gui OutputFcn', @gfig 3 18 OutputFcn,

'gui LayoutFcn', (1,

'gui Callback', (1

if nargin && ischar (varargin{1l})

guil State.gui Callback = str2func(varargin{l});
end

if nargout

[varargout{l:nargout}] = gui mainfcn(gui_State, varargin{:});
else

gui mainfcn(gui State, varargin{:});

end

% End initialization code - DO NOT EDIT
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% —--- Executes just before gfig 3 18 is made visible.

function gfig 3 18 OpeningFcn (hObject, eventdata, handles,
varargin)

% This function has no output args, see OutputFcn.

hObject handle to figure

% eventdata reserved - to be defined in a future version of
MATLAB

handles structure with handles and user data (see GUIDATA)
% varargin command line arguments to gfig 3 18 (see VARARGIN)

o\

o

% Choose default command line output for gfig 3 18
handles.output = hObject;

[

% Update handles structure
guidata (hObject, handles);

% UIWAIT makes gfig 3 18 wait for user response (see UIRESUME)
% uiwait (handles.figurel);

% ——-- Outputs from this function are returned to the command
line.

function varargout = gfig 3 18 OutputFcn (hObject, eventdata,
handles)

% varargout cell array for returning output args (see
VARARGOUT) ;

% hObject handle to figure

% eventdata reserved - to be defined in a future version of
MATLAB

% handles structure with handles and user data (see GUIDATA)

[

% Get default command line output from handles structure
varargout{l} = handles.output;

function editl Callback (hObject, eventdata, handles)

% hObject handle to editl (see GCBO)

% eventdata reserved - to be defined in a future version of
MATLAB

% handles structure with handles and user data (see GUIDATA)
% Hints: get (hObject, 'String') returns contents of editl as
text

% str2double (get (hObject, 'String')) returns contents of

editl as a double

% —--—- Executes during object creation, after setting all
properties.

function editl CreateFcn (hObject, eventdata, handles)

% hObject handle to editl (see GCBO)

% eventdata reserved - to be defined in a future version of
MATLAB

% handles empty - handles not created until after all
CreateFcns called
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[

% Hint: edit controls usually have a white background on
Windows.

% See ISPC and COMPUTER.

if ispc && isequal (get (hObject, 'BackgroundColor'),

get (0, 'defaultUicontrolBackgroundColor'))

set (hObject, "BackgroundColor', 'white');

end

% —--—- Executes on button press in pushbuttonl.

% function pushbuttonl Callback (hObject, eventdata, handles)

% % hObject handle to pushbuttonl (see GCBO)

% % eventdata reserved - to be defined in a future version of

% % handles structure with handles and user data (see
GUIDATA)

% global ryt;

% ryt=str2double (get (handles.editl, 'String'));

% —--- Executes on button press in pushbutton?2.

function pushbutton2 Callback (hObject, eventdata, handles)

% hObject handle to pushbutton2 (see GCBO)

% eventdata reserved - to be defined in a future version of
MATLAB

$ handles structure with handles and user data (see GUIDATA)

global ryt;
ryt=str2double (get (handles.editl, 'String'));

global status;

global stam;

global suv;

axes (handles.axesl)

axis off;

set (handles.pushbutton3, 'string', "Altaxkonn")

99000

andles.editl, 'enable', 'off'");

andles.pushbutton2, 'enable', 'off")
handles.pushbuttonb, 'enable', "off")
handles.pushbutton6, 'enable', '"off")

se
set

—~ e~~~

if ryt <0.001l|ryt > 5

hfin=warndlg ('B&Ate octo Pubud Ilpocopoliwong tiun petoét 0.001
XoL 5");

return

else
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end

ryte = -ryt+5+0.001;

% Taxythta hleltroniwn
v=1 ;

% AGWGOS

agx = [2 3 3 21;
agy = [1 1 2 21;
rax = 0.03;

ray = 0.5;

f=0:pi/20:2*%pi;

metbl=0.05;

basxl =[2 2.03 2.03 2]-
metbl;

basyl = [1 1 2 21

basbxl =[2 1.95 1.95
2] -metbl;

basbyl = [1 1.2 2.2
21;

bascxl =[2 2.03 1.98
1.95]-metbl;

bascyl = [2 2 2.2
2.2]1;

metb2 = 1.09;
basx?2 =basxl+metb2;
basy2 =basyl;

basbx2 =basbxl+metb?2;
basby2 =basbyl;

bascx?2 =bascxl+metb?2;
bascy2 =bascyl;

basx3
2.5+rax*cos (f);
basy3 =basyl;

o° || oo

\o

s YPOBATHRO

ypovx = [-0.5 4 4
-0.51;

ypovy = [-0.5 -0.5 3.5
3.51;

% HLEKTRONIA
fl = 0:pi/5:2*%pi;

rxe =0.022;
rye=0.03;

metl =0.7 ;
met2 =0.7;

[

% Todwn megisth thesi
basi = 3.0;

£13=0:p1/50:2*pi;

xcl= 2.35+rxe*cos (f13);
ycl= 2.4+rye*sin(£13);
slxcl=

2.35+0.9*rxe*cos (£13) ;

slycl=
2.4+0.9*rye*sin (£13);
s2xcl=
2.35+40.6*rxe*cos (£13);
s2ycl=

2.4+0.6*rye*sin (£f13);
s3xcl=
2.35+0.3*rxe*cos (f13);
s3ycl=
2.4+0.3*rye*sin (£f13);
sdxcl=
2.35+0.2*rxe*cos (f13) ;
sd4ycl=
2.440.2*rye*sin (£f13);

Xna=
2.35+metl*rxe*cos (f13) ;
yna=
2.3+metl*rye*sin(£f13);
slxna=
2.35+metl1*0.9*rxe*cos (f13
) ;

slyna=
2.3+metl*0.9*rye*sin (£13)
s2xna=
2.35+metl1*0.6*rxe*cos (f13
) ;

s2yna=
2.3+metl*0.6*rye*sin (£13)
s3xna=
2.35+metl*0.2*rxe*cos (£13
) ;

s3yna=
2.34+metl*0.2*rye*sin (£13)

’
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[

% atomo xlwrio apo to
opoio prokyptoun ola ta
alla

x00 = rxe*cos (fl);

s1lx00 = 0.9*rxe*cos (fl);
s2x00 = 0.6*rxe*cos (fl);
s3x00 = 0.3*rxe*cos (fl);
s4x00 = 0.2*rxe*cos (fl);
y00 = rxe*cos (fl);

sly00 =
0.4*0.9*rxe*sin (f1l) ;
s2y00 =
0.4*0.6*rxe*sin (f1l) ;
s3y00 =

0.4*0.2*rxe*sin (f1l) ;

% atomo natrio apo to
opoio prokyptoun ola ta
alla

wx00 = metl*rxe*cos (fl);
slwx00 =
0.9*metl*rxe*cos (fl);
s2wx00 =
0.6*metl*rxe*cos (fl);
s3wx00 =
0.2*metl*rxe*cos (fl);

x01 = 2.3;

y0l = 1.5;
sl = basi-x01;
tll = sl/v;

tl2 =(x01-2)/v;
T =t11+tl2;

x1 =x0l+rxe*cos (fl);
yl =y0l+rye*sin(fl);
slxl
=x01+0.9*rxe*cos (fl) ;
slyl
=y01+0.9*rye*sin (f1l);
s2x1
=x01+0.6*rxe*cos (fl) ;
s2yl
=y01+0.6*rye*sin (fl);
s3x1
=x01+0.3*rxe*cos (fl) ;
s3yl
=y01+0.3*rye*sin (fl) ;
sdx1
=x01+0.2*rxe*cos (fl) ;
sdyl
=y01+0.2*rye*sin (f1l) ;

wx1
=x01l+metl*rxe*cos (fl);

wyl
=y0l+met2*rye*sin (fl) -
0.18;

slwxl
=x01+metl*0.9*rxe*cos (f1)
slwyl
=y0l+met2*0.9*rye*sin (f1l)
-0.18;

s2wx1l
=x01+metl*0.6*rxe*cos (f1l)
s2wyl
=y0l+met2*0.6*rye*sin (f£1)
-0.18;

s3wx1
=x01+metl*0.2*rxe*cos (f1l)
s3wyl
=y0l+met2*0.2%*rye*sin (f1)
-0.18;

x02 = 2.1;

y02 = 1.2;

s2 = basi-x02;

t21 = s2/v;

t22 =(x02-2)/v;

x2 =x02+rxe*cos (fl);
y2 =y02+rye*sin(fl);
slx?2
=x02+0.9*rxe*cos (f1l) ;
sly2
=y02+0.9*rye*sin (f1l) ;
S2x2
=x02+0.6*rxe*cos (fl) ;
s2y2
=y02+0.6*rye*sin (fl) ;
s3x2
=x02+0.3*rxe*cos (fl) ;
s3y2
=y02+0.3*rye*sin (fl) ;
sdx2
=x02+0.2*rxe*cos (fl) ;
sdy2
=y02+0.2*rye*sin (fl);

WX2
=x02+metl*rxe*cos (fl);
wWy2
=y02+met2*rye*sin (fl) -
0.11;

slwx?2
=x02+metl*0.9*rxe*cos (f1)
slwy?2
=y02+met2*0.9*rye*sin (£1)
-0.11;
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S2WxX2
=x02+metl*0.6*rxe*cos (f1l)
s2wy?2
=y02+met2*0.6*rye*sin (£1)
-0.11;
s3wx2
=x02+metl*0.2*rxe*cos (f1)
s3wy2
=y02+met2*0.2*rye*sin (f1l)
-0.11;

x03 = 2.6;

y03 = 1.8;

s3 = basi-x03;

t31 = s3/v;

t32 =(x03-2)/v;

x3 =x03+rxe*cos (fl);
y3 =y03+rye*sin(fl);
slx3
=x03+0.9*rxe*cos (fl) ;
sly3
=y03+0.9*rye*sin (fl) ;
s2x3
=x03+0.6*rxe*cos (fl) ;
s2y3
=y03+0.6*rye*sin (f1l);
s3x3
=x03+0.3*rxe*cos (fl) ;
s3y3
=y03+0.3*rye*sin (fl);
s4x3
=x03+0.2*rxe*cos (fl) ;
sdy3
=y03+0.2*rye*sin (fl);

wx3
=x03+metl*rxe*cos (fl);
wy3
=y03+met2*rye*sin (fl) -
0.1;

slwx3
=x03+metl*0.9*rxe*cos (f1)
slwy3
=y03+met2*0.9*rye*sin (f1)
-0.1;

S2wWx3
=x03+metl*0.6*rxe*cos (f1l)
s2wy3
=y03+met2*0.6*rye*sin (f1l)
-0.1;

s3wx3
=x03+metl*0.2*rxe*cos (f1)

s3wy3
=y03+met2*0.2*rye*sin (f1l)
-0.1;

x04 = 2.2;

y04 = 1.7;

s4 = basi-x04;

t4l = s4/v;

t42 =(x04-2)/v;

x4 =x04+rxe*cos (fl);
y4 =y04+rye*sin(£fl);
slx4
=x04+0.9*rxe*cos (fl) ;
sly4d
=y04+0.9*rye*sin (f1l);
s2x4
=x04+0.6*rxe*cos (fl) ;
s2y4
=y04+0.6*rye*sin (fl) ;
s3x4
=x04+0.3*rxe*cos (fl) ;
s3y4
=y04+0.3*rye*sin (fl) ;
sdx4
=x04+0.2*rxe*cos (fl) ;
sdy4
=y04+0.2*rye*sin (fl) ;

wx4
=x04+metl*rxe*cos (fl);
wy4

=y04+met2*rye*sin (£1)+0.1
6;

slwx4
=x04+metl*0.9*rxe*cos (f1)
slwy4
=y04+met2*0.9*rye*sin (f1)
+0.16;

s2wx4
=x04+metl*0.6*rxe*cos (f1l)
s2wy4
=y04+met2*0.6*rye*sin (f1)
+0.16;

s3wx4
=x04+metl*0.2*rxe*cos (f1)
s3wy4
=y04+met2*0.2*rye*sin (f1)
+0.16;

x05 = 2.3;

y05 = 1.25;

s5 = basi-x05;

t51 = s5/v;

t52 =(x05-2)/v;

x5 =x05+rxe*cos (fl);
y5 =y05+rye*sin (f1l);
s1x5
=x05+0.9*rxe*cos (fl) ;
sly5
=y05+0.9*rye*sin (f1l);
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s2x5
=x05+0.6*rxe*cos (fl) ;
s2y5
=y05+0.6*rye*sin (f1);
s3x5
=x05+0.3*rxe*cos (fl) ;
s3y5
=y05+0.3*rye*sin (fl) ;
s4x5
=x05+0.2*rxe*cos (fl) ;
sdy5
=y05+0.2*rye*sin (fl) ;

wx5
=x05+metl*rxe*cos (fl);
wyb

=y05+met2*rye*sin (£f1)+0.1
4;

slwxb
=x05+metl1*0.9*rxe*cos (f1)
slwyb5
=y05+met2*0.9*rye*sin (f1l)
+0.14;

s2wx5
=x05+metl*0.6*rxe*cos (f1l)
s2wy5
=y05+met2*0.6*rye*sin (f1l)
+0.14;

s3wx5
=x05+metl*0.2*rxe*cos (fl)
s3wyb
=y05+met2*0.2*rye*sin (f1)
+0.14;

x06 = 2.7;

y06 = 1.2;

s6 = basi-x06;

t6l = s6/v;

t62 =(x06-2)/v;

x6 =x06+rxe*cos (fl);
y6 =y06+rye*sin(fl);
slx6
=x06+0.9*rxe*cos (fl) ;
sly6
=y06+0.9*rye*sin (f1l) ;
S2x6
=x06+0.6*rxe*cos (fl) ;
S2y6
=y06+0.6*rye*sin (fl) ;
s3x6
=x06+0.3*rxe*cos (f1l) ;
s3y6
=y06+0.3*rye*sin (fl);
s4x6
=x06+0.2*rxe*cos (fl) ;
sdy6
=y06+0.2*rye*sin (fl) ;

WX6
=x06+metl*rxe*cos (fl) ;
Wy 6
=y06+met2*0.9*rye*sin (£1)
+0.11;

slwx6
=x06+metl*0.9*rxe*cos (f1l)
slwy6
=y06+met2*0.9*rye*sin (£1)
+0.11;

S2WX6
=x06+metl*0.6*rxe*cos (f1l)
s2wy6
=y06+met2*0.6*rye*sin (f1l)
+0.11;

s3wx6
=x06+metl*0.2*rxe*cos (f1)
s3wy6
=y06+met2*0.2*rye*sin (f1l)
+0.11;

x07 = 2.4;

y07 = 1.4;

s7 = basi-x07;

t71 = s7/v;

t72 =(x07-2)/v;

x7 =x07+rxe*cos (fl);

y7 =y07+rye*sin (£fl);

slx7
=x07+0.9*rxe*cos (f1) ;
sly7
=y07+0.9*rye*sin (fl);
s2x7
=x07+0.6*rxe*cos (f1l) ;
s2y7
=y07+0.6*rye*sin (fl) ;
s3x7
=x07+0.3*rxe*cos (fl) ;
s3y7
=y07+0.3*rye*sin (fl) ;
sdx7
=x07+0.2*rxe*cos (fl) ;
sdy7
=y07+0.2*rye*sin (f1l) ;

wx'7
=x07+metl*rxe*cos (fl);
wy'7

=y07+met2*rye*sin (f1)+0.1
5;

slwx7
=x07+metl1*0.9*rxe*cos (f1)
slwy7
=y07+met2*0.9*rye*sin (f1)
+0.15;

s2wx'7
=x07+metl*0.6*rxe*cos (f1)

’
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s2wy7
=y07+met2*0.6*rye*sin (f1l)
+0.15;
s3wx7
=x07+metl*0.2*rxe*cos (fl)
s3wy7
=y07+met2*0.2*rye*sin (f1l)
+0.15;

x08 = 2.8;
y08 = 1.7;
s8 = basi-x08;
£t81 = s8/v;
t82 =(x08-2)/v;

x8 =x08+rxe*cos (fl);

y8 =y08+rye*sin(fl);

s1x8
=x08+0.9*rxe*cos (fl) ;
sly8
=y08+0.9*rye*sin (fl) ;
s2x8
=x08+0.6*rxe*cos (fl) ;
s2y8
=y08+0.6*rye*sin (fl) ;
s3x8
=x08+0.3*rxe*cos (fl) ;
s3y8
=y08+0.3*rye*sin (fl) ;
s4x8
=x08+0.2*rxe*cos (fl) ;
sdy8
=y08+0.2*rye*sin (f1l);

wx8
=x08+metl*rxe*cos (fl);
wy8

=y08+met2*rye*sin (f1)+0.1
2;

slwx8
=x08+metl*0.9*rxe*cos (fl)
slwy8
=y08+met2*0.9*rye*sin (f1)
+0.12;

s2wx8
=x08+metl*0.6*rxe*cos (fl)
s2wy8
=y08+met2*0.6*rye*sin (f1l)
+0.12;

s3wx8
=x08+metl*0.2*rxe*cos (f1l)

s3wy8
=y08+met2*0.2*rye*sin (f1)
+0.12;

x09 = 2.7;
y09 = 1.63;
s9 = basi-x09;

£t91 = s9/v;

t92 =(x09-2)/v;

x9 =x09%+rxe*cos (fl);

v9 =y09+rye*sin(£fl);

s1x9
=x09+0.9*rxe*cos (fl) ;
sly9
=y09+0.9*rye*sin (fl) ;
s2x9
=x09+0.6*rxe*cos (fl) ;
s2y9
=y09+0.6*rye*sin (fl) ;
s3x9
=x09+0.3*rxe*cos (fl) ;
s3y9
=y09+0.3*rye*sin (fl) ;
s4x9
=x09+0.2*rxe*cos (fl) ;
sdy9
=y09+0.2*rye*sin (f1l);

wx9
=x09+metl*rxe*cos (fl);
wy9
=y09+met2*rye*sin (fl) -
0.1;

slwx9
=x09+metl1*0.9*rxe*cos (f1l)
slwy9
=y09+met2*0.9*rye*sin (f1)
-0.1;

s2wx9
=x09+metl*0.6*rxe*cos (f1l)
s2wy9
=y09+met2*0.6*rye*sin (f1l)
-0.1;

s3wx9
=x09+metl*0.2*rxe*cos (f1)
s3wy9
=y09+met2*0.2*rye*sin (f1)
-0.1;

x010 = 2.1;

y010 = 1.46;

s10 = basi-x010;

£101 = s10/v;

t102 =(x010-2) /v;

x10 =x010+rxe*cos (fl);
y1l0 =y010+rye*sin(fl);
s1x10
=x010+0.9*rxe*cos (f1) ;
slyl0
=y010+0.9*rye*sin (f1) ;
s2x10
=x010+0.6*rxe*cos (f1l) ;
s2y10
=y010+0.6*rye*sin (fl);
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s3x10
=x010+0.3*rxe*cos (f1l) ;
s3y1l0
=y010+0.3*rye*sin (fl);
s4x10
=x010+0.2*rxe*cos (f1) ;
s4yl0
=y010+0.2*rye*sin (f1l) ;
wx10
=x010+metl*rxe*cos (fl) ;
wylO
=y010+met2*rye*sin (f1l) -
0.12;

slwx10
=x010+metl1*0.9*rxe*cos (f1l
);

slwylO
=y010+met2*0.9*rye*sin (fl
y-0.12;

s2wx10

wyll

=y0ll+met2*rye*sin(fl) -

0.16;
slwx1ll

=x011+metl*0.

)
slwyll

=y01ll+met2*0.

)-0.16;
s2wx11l

=x011+metl*0.

)
s2wyll

=y01ll+met2*0.

)-0.16;
s3wx11l
=x011+metl*0
)

s3wyll
=y011l+met2*0

9*rxe*cos (fl

9*rye*sin (fl

6*rxe*cos (fl

6*rye*sin (f1l

.2*rxe*cos (f1l

2*rye*sin (f1l

=x010+metl1*0.

) i
s2wyl0

=y010+met2*0.

)-0.12;
s3wx10
=x010+metl1*0

6*rxe*cos (fl

6*rye*sin (fl

.2*rxe*cos (fl

)
s3wyl0

=y010+met2*0.2*rye*sin (fl

)-0.12;

x011 2.2;

y01ll = 1.34;

sll = basi-x011;

tl1ll = sll/v;

tl1l1l2 =(x011-2)/v;

x11l =x01l+rxe*cos (fl);
yll =y0ll+rye*sin (£fl);
slx11l
=x011+0.9*rxe*cos (fl) ;
slyll
=y011+0.9*rye*sin (fl);
s2x11
=x011+0.6*rxe*cos (f1l) ;
s2yll
=y011+0.6*rye*sin (f1l) ;
s3x11
=x011+0.3*rxe*cos (f1l) ;
s3yll
=y011+0.3*rye*sin (f1l);
s4x11
=x011+0.2*rxe*cos (f1) ;
sdyll
=y011+0.2*rye*sin (fl);
wx11l
=x011l+metl*rxe*cos (fl);

)-0.16;

x012 = 2.4;

y01l2 = 1.8;

sl2 = basi-x012;

tl21 = sl2/v;

t122 =(x012-2)/v;

x12 =x012+rxe*cos (fl);
yl2 =y012+rye*sin(fl);
slx12
=x012+0.9*rxe*cos (fl) ;
slyl?2
=y012+0.9*rye*sin (fl);
s2x12
=x012+0.6*rxe*cos (fl) ;
s2yl12
=y012+0.6*rye*sin (fl);
s3x12
=x012+0.3*rxe*cos (fl) ;
s3yl2
=y012+0.3*rye*sin (fl) ;
s4x12
=x012+0.2*rxe*cos (fl) ;
sdyl2
=y012+0.2*rye*sin (f1l) ;
wx12
=x012+metl*rxe*cos (fl) ;
wyl2
=y012+met2*rye*sin (f1l) -
0.19;

slwx12
=x0124+metl*0.9*rxe*cos (fl
) ;

slwyl2
=y012+met2*0.9*rye*sin (fl
)-0.19;

sS2wx12
=x012+metl*0.6*rxe*cos (fl
) ;
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s2wyl2
=y012+met2*0.
y-0.19;
s3wx12
=x012+metl1*0.
) i

s3wyl2
=y012+met2*0.
)-0.19;

x013 = 2.45;
y013 = 1.6;

6*rye*sin (fl

2*rxe*cos (fl

2*rye*sin (fl

sl3 = basi-x013;

t131 = s13/v;

t132 =(x013-2) /v;
x13 =x013+rxe*cos (fl);
y1l3 =y013+rye*sin(£fl);

slx13

=x013+0.9*rxe*cos (fl);

slyl3

=y013+0.9*rye*sin (f1);

s2x13

=x013+0.6*rxe*cos (fl) ;

s2y13

=y013+0.6*rye*sin (f1);

s3x13

=x013+0.3*rxe*cos (fl) ;

s3yl3

=y013+0.3*rye*sin (f1);

s4x13

=x013+0.2*rxe*cos (fl) ;

sd4yl3

=y013+0.2*rye*sin (fl);

wx13

=x013+metl*rxe*cos (fl) ;

wyl3

1/

slwx13
=x013+metl1*0.
);

slwyl3
=y013+met2*0.
y+0.1;

s2wx13
=x013+metl1*0.
) ;

s2wyl3
=y013+met2*0.
y+0.1;
s3wx13
=x0134+metl1*0
) ;

s3wyl3
=y013+met2*0
)+0.1;

x014 = 2.65;
y014 = 1.48;

=y013+met2*rye*sin (f1)+0.

9*rxe*cos (fl

9*rye*sin (fl

6*rxe*cos (fl

6*rye*sin (fl

.2*rxe*cos (f1l

.2*rye*sin (fl

sld = basi-x014;

tl41 = sl4/v;
t142

(x014-2) /v;

x14 =x01l4+rxe*cos (fl);
yl4 =y0ld+rye*sin(fl);

slx1l4

=x014+0.9*rxe*cos (fl) ;

slyl4

=y014+0.9*rye*sin (fl) ;

s2x14

=x014+0.6*rxe*cos (fl) ;

s2yl4

=y014+0.6*rye*sin (fl) ;

s3x14

=x014+0.3*rxe*cos (fl) ;

s3yl4

=y014+0.3*rye*sin (f1);

sd4x14

=x014+0.2*rxe*cos (fl) ;

s4yl4

=y014+0.2*rye*sin (fl);

wx1l4

=x014+metl*rxe*cos (fl);

wyl4d

=y0l4+met2*rye*sin (£f1)+0.

16;

slwx14
=x014+metl*0.
) ;

slwyl4
=y014+met2*0.
)+0.16;
s2wx14
=x0144+metl1*0.
) ;

s2wyl4
=y014+met2*0.
)+0.16;
s3wx14
=x014+metl*0
) ;

s3wyl4
=y014+met2*0
)+0.16;

x015 = 2.9;
y015 = 1.3;

9*rxe*cos (fl

9*rye*sin (fl

6*rxe*cos (fl

6*rye*sin (fl

.2*rxe*cos (f1l

.2*rye*sin (fl

s1l5 = basi-x015;

t151 = sl15/v;

t152 =(x015-2) /v;
x15 =x015+rxe*cos (fl);
yl5 =y01l5+rye*sin(fl);

s1x15

=x015+0.9*rxe*cos (f1) ;

slyl5

=y015+0.9*rye*sin (f1) ;

s2x15

=x015+0.6*rxe*cos (f1l) ;

s2y1l5

=y015+0.6*rye*sin (fl);
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s3x15 wyl6

=x015+0.3*rxe*cos (f1l) ; =y0l6+met2*rye*sin (fl) -

s3yl5 0.1;

=y015+0.3*rye*sin (fl); slwxl6

s4x15 =x016+metl1*0.9*rxe*cos (fl

=x015+0.2*rxe*cos (f1) ; )

sdyl5 slwyl6

=y015+0.2*rye*sin (fl) ; =y016+met2*0.9*rye*sin (£l

wx15 y-0.1;

=x015+metl*rxe*cos (fl); s2wx16

wyl5 =x016+metl*0.6*rxe*cos (fl

=y015+met2*rye*sin (£1) +0. )

11; s2wyl6

slwx1l5 =y016+met2*0.6*rye*sin (£l

=x015+metl1*0.9*rxe*cos (f1l y-0.1;

) s3wx16

slwyl5 =x016+metl*0.2*rxe*cos (fl

=y015+met2*0.9*rye*sin (fl )

y+0.11; s3wylo6

s2wx15 =y016+met2*0.2*rye*sin (fl

=x015+metl1*0.6*rxe*cos (fl )-0.1;

) ;

s2wylb

=y015+met2*0.6*rye*sin (f1l x017= 2.95;

)+0.11; y017 = 1.65;

s3wxl5 sl7 = basi-x017;

=x015+metl1*0.2*rxe*cos (fl €171 = s17/v;

)i t172 =(x017-2) /v;

s3wyl> , %17 =x017+rxe*cos (£1) ;

=y015+met2*0.2*rye*sin (fl y17 =y017+rye*sin (f1);

y+0.11; S1x17
=x017+0.9*rxe*cos (fl) ;
slyl7

x016= 2.8; =y017+0.9*rye*sin (f1l);

y0l6 = 1.45; s2x17

s1l6 = basi-x016; =x017+0.6*rxe*cos (fl) ;

tlel = sl6/v; s2yl7

tl162 =(x016-2)/v; =y017+0.6*rye*sin (f1l) ;

x16 =x01l6+rxe*cos (fl); s3x17

yl6 =y0l6+rye*sin(fl); =x017+0.3*rxe*cos (f1) ;

slx16 s3yl7

=x016+0.9*rxe*cos (f1) ; =y017+0.3*rye*sin(fl);

slylé6 s4x17

=y016+0.9*rye*sin (fl); =x017+0.2*rxe*cos (f1) ;

s2x16 sdyl7

=x016+0.6*rxe*cos (f1) ; =y017+0.2*rye*sin (fl);

s2yl6 wx17

=y016+0.6*rye*sin (f1l) ; =x017+metl*rxe*cos (fl);

s3x16 wyl7

=x016+0.3*rxe*cos (f1) ; =y017+met2*rye*sin (fl) -

s3yl6 0.14;

=y016+0.3*rye*sin (f1l) ; slwxl7

s4x16 =x017+metl1*0.9*rxe*cos (fl

=x016+0.2*rxe*cos (f1) ; )

sdylo slwyl7

=y016+0.2*rye*sin (fl); =y017+met2*0.9*rye*sin (fl

wx16 y-0.14;

s2wx17
=x0174+metl*0.6*rxe*cos (fl
) ;

=x016+metl*rxe*cos (fl) ;
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s2wyl7
=y017+met2*0.
)-0.14;
s3wx17
=x017+met1*0.
) i

s3wyl7
=y017+met2*0.
)-0.14;

x018= 2.07;
y018 = 1.9;

6*rye*sin (fl

2*rxe*cos (fl

2*rye*sin (fl

sl8 = basi-x018;

t181 = s18/v;

t182 =(x018-2)/v;
x18 =x018+rxe*cos (fl);
y1l8 =y018+rye*sin (fl);

s1x18

=x018+0.9*rxe*cos (fl) ;

slyl8

=y018+0.9*rye*sin (f1);

s2x18

=x018+0.6*rxe*cos (fl);

s2y18

=y018+0.6*rye*sin (fl);

s3x18

=x018+0.3*rxe*cos (fl);

s3yl8

=y018+0.3*rye*sin (fl);

s4x18

=x018+0.2*rxe*cos (fl) ;

sdyl8

=y018+0.2*rye*sin (f1l);
wx18=x018+metl*rxe*cos (fl

) i
wyl8

=y018+met2*rye*sin (fl) -

0.12;

slwx18
=x018+metl*0.
);

slwyl8
=y018+met2*0.
y-0.12;
s2wx18
=x018+metl1*0.
) ;

s2wyl8
=y018+met2*0.
y-0.12;
s3wx18
=x018+metl*0
) ;

s3wyl8
=y018+met2*0
)-0.12;

9*rxe*cos (fl

9*rye*sin (fl

6*rxe*cos (fl

6*rye*sin (fl

.2*rxe*cos (fl

2*rye*sin (f1l

x019= 2.9;

y019 = 1.82;

s19 = basi-x019;

£191 = s19/v;

£t192 =(x019-2) /v;

x19 =x019+rxe*cos (fl);
y19 =y019%+rye*sin (fl);
sl1x19
=x0194+0.9*rxe*cos (fl) ;
slyl9
=y019+0.9*rye*sin (fl);
s2x19
=x019+0.6*rxe*cos (fl) ;
s2y1l9
=y019+0.6*rye*sin (fl) ;
s3x19
=x019+0.3*rxe*cos (fl) ;
s3yl9
=y019+0.3*rye*sin (fl) ;
s4x19
=x019+0.2*rxe*cos (f1) ;
s4y1l9
=y019+0.2*rye*sin (fl) ;
wx19
=x019+metl*rxe*cos (fl) ;
wyl9
=y019+met2*rye*sin (fl) -
0.17;

slwx19
=x019+metl1*0.9*rxe*cos (f1l
) ;

slwyl9
=y019+met2*0.9*rye*sin (fl
)-0.17;

s2wx19
=x019+metl1*0.6*rxe*cos (f1
) ;

s2wyl9
=y019+met2*0.6*rye*sin (fl
)-0.17;

s3wx19
=x019+metl*0.2*rxe*cos (f1l
) ;

s3wyl9
=y019+met2*0.2*rye*sin (fl
y-0.17;

x020= 2.6;

y020 = 1.3;

s20 = basi-x020;

£201 = s20/v;

t202 =(x020-2)/v;

x20 =x020+rxe*cos (fl);
y20 =y020+rye*sin(fl);
s1x20
=x020+40.9*rxe*cos (f1l) ;
sly20
=y020+0.9*rye*sin (fl);
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s2x20
=x020+0.6*rxe*cos (f1l) ;
s2y20
=y020+0.6*rye*sin (fl);
s3x20
=x020+0.3*rxe*cos (f1l) ;
s3y20
=y020+0.3*rye*sin (fl) ;
s4x20
=x020+0.2*rxe*cos (fl) ;
s4y20
=y020+0.2*rye*sin (fl) ;
wx20
=x020+metl*rxe*cos (fl) ;
wy20
=y020+met2*rye*sin (f1l) -
0.08;

slwx20
=x020+metl1*0.9*rxe*cos (f1l
);

slwy20
=y020+met2*0.9*rye*sin (fl
)-0.08;

s2wx20
=x020+metl1*0.6*rxe*cos (fl
);

s2wy20
=y020+met2*0.6*rye*sin (fl
)-0.08;

s3wx20
=x020+metl*0.2*rxe*cos (f1l
) ;

s3wy20
=y020+met2*0.2*rye*sin (fl
)-0.08;

%Aerio
%aeriou megisth thesi

ay0l = 1;
ax01 =2.03;
asl = basia-ay0l;

atll = asl/v;

atl2 =(ay01-1)/v;

aT =tl1+tl2;

axl
=ax01+0.4*rxe*cos (fl);
ayl
=ay01+0.4*rye*sin (fl);
slaxl
=ax01+0.4*pl*rxe*cos (fl) ;
slayl
=ay01+0.4*pl*rye*sin(£fl);

s2axl
=ax01+0.4*p2*rxe*cos (fl) ;
s2ayl
=ay01+0.4*p2*rye*sin (£fl);
s3axl
=ax01+0.4*p3*rxe*cos (fl) ;
s3ayl
=ay01+0.4*p3*rye*sin (fl) ;

ay02 = 1.14;

ax02 =2.02;

as?2 = basia-ay02;

at2l = as2/v;

at22 =(ay02-1)/v;

ax?2
=ax02+0.7*rxe*cos (fl) ;
ay2
=ay02+0.7*rye*sin (fl);
slax?2
=ax02+0.4*pl*rxe*cos (f1l) ;
slay?2
=ay02+0.4*pl*rye*sin(fl) ;
s2ax?2
=ax02+0.4*p2*rxe*cos (f1l) ;
s2ay2
=ay02+0.4*p2*rye*sin (fl);
s3ax?2
=ax02+0.4*p3*rxe*cos (f1l) ;
s3ay2
=ay02+0.4*p3*rye*sin (fl) ;

ay03 = 1.34;

ax03 =2;

as3 = basia-ay03;

at3l = as3/v;

at32 =(ay03-1)/v;

ax3
=ax03+0.6*rxe*cos (fl) ;
ay3
=ay03+0.6*rye*sin (fl);
slax3
=ax03+0.4*pl*rxe*cos (fl) ;
slay3
=ay03+0.4*pl*rye*sin (fl);
s2ax3
=ax03+0.4*p2*rxe*cos (fl) ;
s2ay3
=ay03+0.4*p2*rye*sin (fl) ;
s3ax3
=ax03+0.4*p3*rxe*cos (f1l) ;
s3ay3
=ay03+0.4*p3*rye*sin (fl) ;

ay04 = 1.53;

ax04 =2.022;

as4 = basia-ay04;

atd4l = asd/v;

atd2 =(ay04-1)/v;

ax4
=ax04+0.5*rxe*cos (f1) ;
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ay4
=ay04+0.5*rye*sin (f1l) ;
slax4
=ax04+0.4*pl*rxe*cos (fl) ;
slay4
=ay04+0.4*pl*rye*sin (fl) ;
s2ax4
=ax04+0.4*p2*rxe*cos (fl) ;
s2ay4
=ay04+0.4*p2*rye*sin(fl) ;
s3ax4
=ax04+0.4*p3*rxe*cos (fl) ;
s3ay4
=ay04+0.4*p3*rye*sin(fl) ;

ay05 = 1.70;

ax05 =2.03;

asb5 = basia-ay05;

at5l = as5/v;

at52 =(ay05-1)/v;

ax5
=ax05+0.54*rxe*cos (f1l) ;
ayb
=ay05+0.54*rye*sin (f1l) ;
slaxb
=ax05+0.4*pl*rxe*cos (f1l) ;
slayb
=ay05+0.4*pl*rye*sin(£fl);
s2ax5
=ax05+0.4*p2*rxe*cos (fl) ;
s2ay5
=ay05+0.4*p2*rye*sin(fl) ;
s3ax5
=ax05+0.4*p3*rxe*cos (fl) ;
s3ayb5
=ay05+0.4*p3*rye*sin (fl) ;

ay06 = 1.83;

ax06 =1.994;

as6 = basia-ay06;

at6l = as6/v;

at62 =(ay06-1)/v;

axb6
=ax06+0.59*rxe*cos (f1l) ;
ayo
=ay06+0.59%9*rye*sin (fl);
slaxb6
=ax06+0.4*pl*rxe*cos (fl) ;
slay6
=ay06+0.4*pl*rye*sin(fl);
s2ax6
=ax06+0.4*p2*rxe*cos (fl) ;
s2ayb6
=ay06+0.4*p2*rye*sin(fl) ;
s3ax6
=ax06+0.4*p3*rxe*cos (fl) ;
s3ayb6
=ay06+0.4*p3*rye*sin(£fl) ;

ay07 = 2;

ax07 =2.01;

as7 = basia-ay07;

at71 = as7/v;

at72 =(ay07-1)/v;

ax’7
=ax07+0.65*rxe*cos (fl) ;
ay’7

=ay07+0.65*rye*sin (fl) ;
slax’7
=ax07+0.4*pl*rxe*cos (f1l) ;
slay’7
=ay07+0.4*pl*rye*sin (fl) ;
s2ax’7
=ax07+0.4*p2*rxe*cos (f1l) ;
s2ay’7
=ay07+0.4*p2*rye*sin (fl);
s3ax’
=ax07+0.4*p3*rxe*cos (f1l) ;
s3ay7
=ay07+0.4*p3*rye*sin (£fl);

ay08 = 2.2;

ax08 =2.03;

as8 = basia-ay08;

at8l = as8/v;

at82 =(ay08-1)/v;

ax8
=ax08+0.29*rxe*cos (fl) ;
ay8
=ay08+0.29*rye*sin (f1) ;
slax8
=ax08+0.4*pl*rxe*cos (fl) ;
slay8
=ay08+0.4*pl*rye*sin (fl) ;
s2ax8
=ax08+0.4*p2*rxe*cos (f1l) ;
s2ay8
=ay08+0.4*p2*rye*sin (fl);
s3ax8
=ax08+0.4*p3*rxe*cos (f1l) ;
s3ay8
=ay01+0.4*p3*rye*sin(fl);

ay09 = 2.3;

ax09 =2.02;

as9 = basia-ay09;

at9l = as9/v;

at92 =(ay09-1)/v;

ax9
=ax09+0.33*rxe*cos (fl) ;
ay9
=ay09+0.33*rye*sin (fl) ;
slax9
=ax09+0.4*pl*rxe*cos (fl) ;
slay9
=ay09+0.4*pl*rye*sin (fl);
s2ax9
=ax09+0.4*p2*rxe*cos (f1l) ;
s2ay9
=ay09+0.4*p2*rye*sin (fl) ;
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s3ax9 basx2, basy2, [0.76 0.36
=ax09+0.4*p3*rxe*cos (f1l) ; 0] s e
s3ay9 basbx2, basby2,[0.6 0.2
=ay09+0.4*p3*rye*sin(£fl) ; 0] ,...

bascx2, bascy2, [0.8 0.4
ay010 = 2.45; o1 ...
ax010 =2.01; xl, yl, [0.2 0.7
asl0 = basia-ay010; 0.21,...
atl01l = asl0/v; slx1l, slyl, [0.3 .75
atl02 =(ay010-1)/v; 0.31,...
axl10 s2x1, s2yl, [0.4 .8
=ax010+0.4*rxe*cos (f1) ; 0.47, ...
ayl0 s3x1l, s3yl, [0.5 .85
=ay010+0.4*rye*sin (fl); 0.5],...
slax10 s4x1, s4dyl, [0.6 .9
=ax010+0.4*pl*rxe*cos (fl) 0.6],...
; x2, y2, [0.2 0.7
slayl0 0.21, ...
=ay010+0.4*pl*rye*sin (fl) 3122, sly2, [0.3 .75
; 31, ...
s2ax10 s2x2, s2y2, [0.4 .8
=ax010+0.4*p2*rxe*cos (f1) 0.47, ...
; s3x2, s3y2, [0.5 .85
sZale 0-511---
=ay010+0.4*p2*rye*sin (f1) s4x2, sdyz, [0.6 .9
: 0.6],...
s3ax10 x3, y3, [0.2 0.7
=ax010+0.4*p3*rxe*cos (f1) 0.21,...
; s1lx3, sly3, [0.3 .75
s3ayl0 0.31,...
=ay010+0.4*p3*rye*sin (f1) s2x3, s2y3, [0.4 .8
; 0.41,...

s3x3, s3y3, [0.5 .85
fFysx = 0.5, ...
2.35+0.8%rxe*cos (£13) ; sdx3, sdy3, [0.6 0.9
fysy - 0.61,...
2.21+0.8*rye*sin (£13); x4, y4, [0.2 0.7
slfysx = 0.21,...
2.35+0.8*pl*rxe*cos (f13) ; slx4, sly4, [0.3 75
slfysy = 0.3],...
2.2140.8*pl*rye*sin (£13); s2x4, s2y4, [0.4 -8
s2fysx = 0.47,...
2.35+0.8%p2*rxe*cos (£13) ; s3x4, s3y4, [0.5 -85
s2fysy - 0.5],...
2.2140.8*p2*rye*sin (£13) ; sdx4, sdy4, [0.6 -9
s3fysx - 0.6],...
2.35+0.8%p3*rxe*cos (£13) ; x5, y5, [0.2 0.7
s3fysy = 0.21,...
2.2140.8*p3*rye*sin (£13) ; 312?' sly5, [0.3 275

.31, ...

s2x5, s2y5, [0.4 .8

0.41,...
fill (ypovx, ypovy, [0.9 s3x5, s3y5, [0.5 .85
0.9 0.9] ,... 0.5], ...
basxl, basyl, [0.76 0.36 s4x5, s4y5, [0.6 )
01 /... 0.61,...
basbxl, basbyl, [0.6 0.2 x6, y6, [0.2 0.7
01 /... 0.2],...
bascxl, bascyl, [0.8 0.4 slx6, sly6, [0.3 .75
0y ... 0.31, ...
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s1x9, sly9, [0.3

s2x9, s2y9, [0.4

s3x9, s3y9, [0.5

s4x9, s4y9, [0.6

0.61,...
x10, y10, [O
0.2],...
s1lx10, slylo0,
0.31,...
s2x10, s2ylo0,
0.47,...
s3x10, s3ylo0,
0.5],...
s4x10, s4ylo0,
0.6],...
x11, yl1, [O.
0.2],...
slx11l, slyll,
0.31,...
s2x11l, s2yll,
0.41,...
s3x11l, s3yll,
0.5],...
s4x11, s4dyll,
0.6],...
x12, yl2, [O
0.2],...
slx12, slylz,
0.31,...

.2

2

.2

(0.

.75

.85

.75

.85

.75

s2x12, s2yl2, [O.

0.41,...

s3x12, s3yl2, [O0.

0.51,...

sd4x12, sdyl2, [O.

0.61,...
x13, yl13,
0.21,...

[0.2

s1lx13, slyl3, [O.

0.31,...

s2x13, s2yl13, [O0.

0.41,...

s3x13, s3yl3, [0.

0.51,...

s4x13, s4yl3, [O.

0.6],...
x14, yl14, [0.2
0.21,...

slx14, slyl4, [O.

0.31,.

s2x14, s2yl4, [O.

0.471, .

s3x14, s3yl4, [O.

0.5],.

sd4x14, s4dyl4, [O.

0.61,....
x15, yl15, [0.2
0.21,...

slx15, slyl5, [O.

0.31,.

s2x15, s2yl15, [O.

0.47,.

s3x15, s3yl5, [O0.

0.5],...

s4x15, s4yl5, [O.

0.61,.....
x1l6, yle, [0.2
0.21,...

slxl6, slyle, [O.

0.31,.

s2xl6, s2yle, [O.

0.47,.

s3x16, s3yle, [O.

0.51,.

sd4x16, sdyle, [O.

0.61,...
x17, y17, [0.2
0.21,...

slx17, slyl7, [O.

0.31,.

s2x17, s2yl7, [O.

0.47,.

s3x17, s3yl7, [O.

0.51,.

s4x17, s4yl7, [O.

0.6],...
x18, yl18, [0.2
0.2],...

s1x18, slyl8, [O.

0.31,...
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s2x18, s2yl8, [0.4 0.8 s2wx4, s2wy4, [1 0.4
0.41,... 0.41, ...
s3x18, s3yl8, [0.5 0.85 s3wx4, s3wy4, [1 0.7
0.51,... 0.71, ...
s4x18, s4yl8, [0.6 0.9 wx5, wy5, [0.8 0 07, ..
0.61,... slwx5, slwy5, [0.9 0.2
x19, y19, [0.2 0.7 0.21,...
0.21,... s2wx5, s2wy5, [1 0.4
slx19, slyl9, [0.3 0.75 0.41,...
0.31,... s3wx5, s3wy5, [1 0.7
s2x19, s2y19, [0.4 0.8 0.71, ...
0.471, ... wx6, wy6, [0.8 0 01,..
s3x19, s3yl9, [0.5 0.85 slwx6, slwy6, [0.9 0.2
0.51,... 0.21,...
s4x19, s4yl9, [0.6 0.9 s2wx6, s2wy6, [1 0.4
0.61,... 0.41, ...
%20, y20, [0.2 0.7 s3wx6, s3wy6, [1 0.7
0.21,... 0.71, ...
s1lx20, sly20, [0.3 0.75 wx7, wy7, [0.8 0 0],.
0.31,... slwx7, slwy7, [0.9 0.2
s2x20, s2y20, [0.4 0.8 0.21,...
0.41,... s2wx7, s2wy7, [1 0.4
s3x20, s3y20, [0.5 0.85 0.41, ...
0.51,... s3wx7, s3wy7, [1 0.7
s4x20, s4y20, [0.6 0.9 0.71, ...
0.61,... wx8, wy8, [0.8 0 0],..
xcl,ycl, [0.2 0.7 slwx8, slwy8, [0.9 0.2
0.21,... 0.21,...
slxcl,slycl, [0.3 0.75 s2wx8, s2wy8, [1 0.4
0.31,... 0.41,...
s2xcl,s2ycl, [0.4 0.8 s3wx8, s3wy8, [1 0.7
0.47,... 0.71, ...
s3xcl,s3ycl, [0.5 0.85 wx9, wy9, [0.8 0 01, .
0.571,... slwx9, slwy9, [0.9 0.2
sd4xcl,s4dycl, [0.6 0.9 0.21,...
0.61,... s2wx9, s2wy9, [1 0.4
wxl, wyl, [0.8 0 O0],... 0.4],...
slwxl, slwyl, [0.9 0.2 s3wx9, s3wy9, [1 0.7
0.21,... 0.71, ...
s2wxl, s2wyl, [1 0.4 wx10, wylO, [0.8 0 O],..
0.47,... slwx10, slwylO, [0.9 0.2
s3wx1l, s3wyl, [1 0.7 0.2],...
0.71, ... s2wx1l0, s2wylO, [1 0.4
wx2, wy2, [0.8 0 0],. 0.471, ...
slwx2, slwy2, [0.9 0.2 s3wx10, s3wyl0, [1 0.7
0.21,... 0.71, ...
s2wx2, s2wy2, [1 0.4 wxll, wyll, [0.8 O O],..
0.41,... slwx1ll, slwyll, [0.9 0.2
s3wx2, s3wy2, [1 0.7 0.21,...
0.71, ... s2wx1l, s2wyll, [1 0.4
wx3, wy3, [0.8 0 0],.. 0.471,...
slwx3, slwy3, [0.9 0.2 s3wx1ll, s3wyll, [1 0.7
0.21,... 0.71, ...
s2wx3, s2wy3, [1 0.4 wx1l2, wyl2, [0.8 0 0],.
0.471, ... slwx12, slwyl2, [0.9 0.2
s3wx3, s3wy3, [1 0.7 0.21,...
0.71, ... s2wx1l2, s2wyl2, [1 0.4
wx4, wy4, [0.8 0 0], .. 0.471, ...
slwx4, slwy4, [0.9 0.2 s3wx12, s3wyl2, [1 0.7

0.21,...

0.71,...
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wx13, wyl3, [0.8 0 0], s2xna,s2yna, [1 0.4
slwx13, slwyl3, [0.9 0. 0.471, ...
0.21,... s3xna, s3yna, [1 0.7
s2wx13, s2wyl3, [1 0.4 0.71, ...
0.471,... axl, ayl, [0.5 0.8
s3wx13, s3wyl3, [1 0.7 0.51,...
0.71, ... slaxl, slayl, [0.6 0.9
wx1l4, wyld4, [0.8 0 0], 0.61,...
slwxl4, slwyl4, [0.9 O s2axl, szayl, [0.7 0.95
0.2],... 0.71, ...
s2wx14, s2wyl4, [1 0.4 s3axl, s3ayl, [0.8 1
0.41,... 0.81,...
s3wx14, s3wyl4, [1 0.7 ax2, ay2, [0.5 0.8
0.7], ... 0.51,...
wx1l5, wyl5, [0.8 0 0],.. slax2, slay2, [0.6 0.9
slwx1l5, slwyl5, [0.9 0. 0.61,...
0.2],... s2ax2, s2ay2, [0.7 0.95
s2wx15, s2wyl5, [1 0.4 0.71, ...
0.471, ... s3ax2, s3ay2, [0.8 1
s3wx15, s3wyl5, [1 0.7 0.81,...
0.71, ... ax3, ay3, [0.5 0.8
wx1l6, wylé, [0.8 0 O], 0.51,...
slwxl6, slwyl6, [0.9 O slax3, slay3, [0.6 0.9
0.2],... 0.61,...
s2wx1l6, s2wyle, [1 0.4 s2ax3, sz2ay3, [0.7 0.95
0.41, ... 0.71, ...
s3wx1l6, s3wyl6, [1 0.7 s3ax3, s3ay3, [0.8 1
0.71, ... 0.81,...
wx1l7, wyl7, [0.8 0 0], ax4, ay4, [0.5 0.8
slwx1l7, slwyl7, [0.9 O 0.51,...
0.2],... slax4, slay4, [0.6 0.9
s2wx17, s2wyl7, [1 0.4 0.6],...
0.47,... s2ax4, s2ay4, [0.7 0.95
s3wx17, s3wyl7, [1 0.7 0.71, ...
0.71, ... s3ax4, s3ay4, [0.8 1
wx18, wyl8, [0.8 0 0], 0.8],...
slwx1l8, slwyl8, [0.9 O ax5, ayb, [0.5 0.8
0.2],... 0.5],...
s2wx18, s2wyl8, [1 0.4 slax5, slay5, [0.6 0.9
0.47,... 0.61,...
s3wx18, s3wyl8, [1 0.7 s2ax5, s2ay5, [0.7 0.95
0.71, ... 0.71, ...
wx19, wyl9, [0.8 0 0], s3ax5, s3ay5, [0.8 1
slwx19, slwyl9, [0.9 O 0.81,...
0.21,... ax6, ay6, [0.5 0.8
s2wx19, s2wyl9, [1 0.4 0.51,...
0.471, ... slax6, slay6, [0.6 0.9
s3wx19, s3wyl9, [1 0.7 0.61,...
0.71, ... s2ax6, s2ay6, [0.7 0.95
wx20, wy20, [0.8 0 0], 0.71, ...
slwx20, slwy20, [0.9 O s3ax6, s3ay6, [0.8 1
0.2],... 0.81,...
s2wx20, s2wy20, [1 0.4 ax7, ay7, [0.5 0.8
0.41,... 0.51,...
s3wx20, s3wy20, [1 0.7 slax7, slay7, [0.6 0.9
0.71, ... 0.61,...
xna,yna, [0.8 0 0],... s2ax’7, sz2ay7, [0.7 0.95
slxna,slyna, [0.9 0.2 0.71, ...
0.21,... s3ax7, s3ay7, [0.8 1

0.81,...
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ax8, ay8, [0.5 0.8 ax10, ayl0, [0.5 0.8
0.5],... 0.5],...
slax8, slay8, [0.6 0.9 slax10, slayl0, [0.6 0.9
0.6],... 0.6],...
s2ax8, s2ay8, [0.7 0.95 s2ax10, s2ayl0, [0.7 0.95
0.71, ... 0.71, ...
s3ax8, s3ay8, [0.8 1 s3ax10, s3ayl0, [0.8 1
0.8],... 0.5],...
ax9, ay9, [0.5 0.8 fysx, fysy , [0.5 0.8
0.5],... 0.5],...
slax9, slay9, [0.6 0.9 slfysx, slfysy , [0.6 0.9
0.6],... 0.6],...
s2ax9, s2ay9, [0.7 0.95 s2fysx, s2fysy , [0.7
0.71,... 0.95 0.71,...
s3ax9, s3ay9, [0.8 1 s3fysx, s3fysy , [0.8 1
0.8],... 0.8],...

'LineStyle', "'none')
axis([1.7 3.2 0.75 2.51);
text (1.9 , 2.35, '"+','FontSize',20)
text (1.85 , 2.27, '"ANOAOL', 'FontSize',12)
text (2.95 , 2.35, '-','FontSize',22)
text (2.85 , 2.27, '"KAGOAOX', 'FontSize',12)
text (2.4 , 2.3, 'Na','FontSize',12)
text (2.4 , 2.405, 'Cl','FontSize',12)
text (2.45 , 2.315, '+','FontSize',10)
text (2.45 , 2.43, '-','FontSize',16)
text (2.4 , 2.21, '"duocoAidec xAwplou', 'FontSize',10)
axis off
pause (2)
daer =1.5;

vaer =1;
T3 =daer/vaer;

i =1;

t3 = 0;

% pause (5)

tol = 5*T;

for t =tol:-0.
0000000000000 0
O 0OO0OOOOOOOOOD©OODO
900000000000
OO0OO0OO0OOOOOOOO™©
if (stam==1)
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cc=stam;
while (cc==1)
cc=stam;

pause (ryte) ;
if (status==1)
return

end

m3 =fix (t3/T3);

m = fix(t/T);
ml=fix (tt/T);

% KINHSH AERIU Anerxomeno
aerio

% lo tmhma kinisis

if
(mM3*T3<=t3) & (£t3<m3*T3+atl
1)

ayyl =ayl+v* (£3-m3*T3);
slayyl =slayl+v* (t3-
m3*T3) ;

s2ayyl =s2ayl+v* (t3-
m3*T3) ;

s3ayyl =s3ayl+v* (t3-
m3*T3) ;

else

end

if
(M3*T3<=t3) & (£t3<m3*T3+at2
1)

ayy2 =ay2+v* (£t3-m3*T3);
slayy2 =slay2+v* (t3-
m3*T3) ;

s2ayy2 =s2ay2+v* (t3-
m3*T3) ;

s3ayy2 =s3ay2+v* (t3-
m3*T3) ;

else

end

if
(mM3*T3<=t3) & (£t3<m3*T3+at3
1)

ayy3 =ay3+v* (£3-m3*T3);
slayy3 =slay3+v* (t3-
m3*T3) ;

s2ayy3 =s2ay3+v* (t3-
m3*T3) ;

s3ayy3 =s3ay3+v* (t3-
m3*T3) ;

else

end

if
(M3*T3<=t3) & (t3<m3*T3+at4
1)

ayy4 =ay4+v* (£3-m3*T3);
slayy4 =slayd+v* (t3-
m3*T3) ;

s2ayy4 =s2ay4+v* (t3-
m3*T3) ;

s3ayy4 =s3ayd+v* (t3-
m3*T3) ;

else

end

if
(m3*T3<=t3) & (£t3<m3*T3+ath
1)

ayy5 =ay5+v* (£3-m3*T3) ;
slayy5 =slay5+v* (t3-
m3*T3) ;

s2ayy5 =s2ay5+v* (t3-
m3*T3) ;

s3ayy5 =s3ay5+v* (t3-
m3*T3) ;

else

end

if
(M3*T3<=t3) & (£t3<m3*T3+at6
1)

ayy6 =ay6+v* (£t3-m3*T3);
slayy6 =slay6+v* (t3-
m3*T3) ;

s2ayy6 =s2ay6+v* (t3-
m3*T3) ;
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s3ayy6 =s3ay6+v* (t3-
m3*T3) ;

else

end

if
(m3*T3<=t3) & (t3<m3*T3+at’
1)

ayy7l =ay7+v* (£3-m3*T3) ;
slayy7 =slay7+v* (t3-
m3*T3) ;

s2ayyl =s2ay7+v* (t3-
m3*T3) ;

s3ayy7 =s3ay7+v* (t3-
m3*T3) ;

else

end

if
(M3*T3<=t3) & (t3<m3*T3+at8
1)

ayy8 =ay8+v* (£t3-m3*T3);
slayy8 =slay8+v* (t3-
m3*T3) ;

s2ayy8 =s2ay8+v* (t3-
m3*T3) ;

s3ayy8 =s3ay8+v* (t3-
m3*T3) ;

else

end

if
(M3*T3<=t3) & (t3<m3*T3+at9
1)

ayy9 =ay9+v* (£t3-m3*T3);
slayy9 =slay9+v* (t3-
m3*T3) ;

s2ayy9 =s2ay9+v* (t3-
m3*T3) ;

s3ayy9 =s3ay9+v* (t3-
m3*T3) ;

else

end

if
(M3*T3<=t3) & (£3<m3*T3+atl
01)

ayyl0 =ayl0+v* (£t3-m3*T3);
slayyl0 =slaylO+v* (t3-
m3*T3) ;

s2ayyl0 =s2ayl0+v* (t3-
m3*T3) ;

s3ayyl0 =s3aylO0+v* (t3-
m3*T3) ;

else

end

[

% 20 tmhma kinisis

if
(m3*T3+atll<=t3) & (t3<m3*T
3+atll+atl?2)

ayyl =0.4*y00+1+v* (£t3-
atll-m3*T3);

slayyl

=0.4*sl1ly00+1+v* (t3-atll-
m3*T3) ;

s2ayyl

=0.4*s2y00+1+v* (t3-atll-
m3*T3) ;

s3ayyl

=0.4*s3y00+1+v* (t3-atll-
m3*T3) ;

else

end

if
(m3*T3+at21<=t3) & (£t3<m3*T
3+at2l+at22)

ayy2 =0.7*y00+1.1+v* (t3-
at21-m3*T3) ;

slayy?2

=0.4*s1ly00+1+v* (t3-at21-
m3*T3) ;

s2ayy2

=0.4*s2y00+1+v* (t3-at21-
m3*T3) ;

s3ayy?2

=0.4*s3y00+1+v* (t3-at21-
m3*T3) ;

else

end

if
(m3*T3+at31<=t3) & (£t3<m3*T
3+at31l+at32)

ayy3 =0.6*y00+1.3+v* (t3-
at31-m3*T3) ;

slayy3

=0.4*s1y00+1+v* (t3-at31-
m3*T3) ;

s2ayy3

=0.4*s2y00+1+v* (t3-at31-
m3*T3) ;

s3ayy3

=0.4*s3y00+1+v* (£t3-at31-
m3*T3) ;

else

end

if
(m3*T3+atd4l1<=t3) & (t3<m3*T
3+atdl+atd?2)

ayy4 =0.5*y00+1.4+v* (t3-
at41-m3*T3) ;
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slayy4

=0.4*sl1ly00+1+v* (t3-atdl-
m3*T3) ;

s2ayy4

=0.4*s2y00+1+v* (t3-atdl-
m3*T3) ;

s3ayy4

=0.4*s3y00+1+v* (t3-atdl-
m3*T3) ;

else

end

if
(m3*T3+at51<=t3) & (t3<m3*T
3+atbl+at52)

ayy5 =0.54*y00+1.5+v* (t3-
at51-m3*T3) ;

slayy5

=0.4*sly00+1+v* (£t3-at51l-
m3*T3) ;

s2ayyb5

=0.4*s2y00+1+v* (£3-at51-
m3*T3) ;

s3ayyb

=0.4*s3y00+1+v* (£t3-at51l-
m3*T3) ;

else

end

if
(m3*T3+at6l<=t3) & (£t3<m3*T
3+atol+ato6?)

ayy6 =0.59*y00+1.6+v* (£t3-
at6l-m3*T3) ;

slayyb6

=0.4*s1y00+1+v* (t3-at6l-
m3*T3) ;

s2ayyb6

=0.4*s2y00+1+v* (t3-at6l-
m3*T3) ;

s3ayyb6

=0.4*s3y00+1+v* (t3-at6l-
m3*T3) ;

else

end

if
(m3*T3+at71<=t3) & (£t3<m3*T
3+at71l+at72)

ayy7 =0.65*y00+1.9+v* (t3-
at71l-m3*T3) ;

slayy7

=0.4*s1y00+1+v* (t3-at71-
m3*T3) ;

s2ayy’

=0.4*s2y00+1+v* (£3-at71-
m3*T3) ;

s3ayy7

=0.4*s3y00+1+v* (t3-at71-
m3*T3) ;

else
end

if
(m3*T3+at81<=t3) & (t3<m3*T
3+at81l+at82)

ayy8
=0.29*y00+1.45+v* (t3-
at8l1-m3*T3) ;

slayy8

=0.4*sl1ly00+1+v* (t3-at81-
m3*T3) ;

s2ayy8

=0.4*s2y00+1+v* (t3-at81-
m3*T3) ;

s3ayy8

=0.4*s3y00+1+v* (t3-at81-
m3*T3) ;

else

end

if
(m3*T3+at91<=t3) & (£t3<m3*T
3+at91+at92)

ayy9
=0.33*y00+1.34+v* (t3-
at91-m3*T3) ;

slayy9

=0.4*sl1ly00+1+v* (t3-at9l-
m3*T3) ;

s2ayy9

=0.4*s2y00+1+v* (t3-at9l-
m3*T3) ;

s3ayy9

=0.4*s3y00+1+v* (t3-at9l1-
m3*T3) ;

else

end

if
(m3*T3+atl01<=t3) & (t3<m3*
T3+at1l01+atl102)

ayylO0
=0.4*y00+1.53+v* (£3-
atl01l-m3*T3);

slayyl0

=0.4*s1y00+1+v* (t3-atl01-
m3*T3) ;

s2ayyl0

=0.4*s2y00+1+v* (t3-atl01-
m3*T3) ;

s3ayyl0

=0.4*s3y00+1+v* (t3-atl01-
m3*T3) ;

else

end
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% KINHSH IODWN % KINHSH
IODWN % KINHSH IODWN

% lo tmhma kinisis

1f (m*T<=t) & (t<m*T+tll)
xxX1 =x1+v* (t-m*T) ;
slxxl =slx1+v* (t-m*T)
s2xx1 =82x1+v* (t-m*T) ;
s3xx1l =s3x1+v* (t-m*T) ;
sdxx]l =s4x1+v* (t-m*T)
else

end

I

’

1f (m*T<=t) & (L<m*T+t21)
XX2 =xX2+v* (t-m*T) ;
slxx2 =slx2+v* (t- m*T)
S2XX2 =82X2+V* (t )
s3xx2 =83xX2+v* (t-m*T) ;
S4xx2 =s4x2+v* (t-m*T)
else

end

’

I

if (m*T<=t) & (t<m*T+t31)
xx3 =x3+v* (t-m*T) ;
slxx3 =slx3+v* (t-m*T)
S2xX3 =82xX3+Vv* (t-m*T) ;
s3xx3 =s3x3+Vv* (t- m*T);
sd4xx3 =s4x3+v* (t )
else

end

I

’

if (m*T<=t) & (t<m*T+t41)
xx4 =x4+v* (t-m*T) ;
slxx4 =slx4+v* (t-m*T);
s2xx4 =s2x4+v* (t-m*T) ;
s3xx4 =s3x4+v* (t-m*T) ;
Ssdxx4 =s4x4+v* (t-m*T) ;
else

end

1if (m*T<=t) & (L<m*T+t51)
xx5 =x5+v* (t-m*T) ;

’

’

slxx5 =sl1x5+v* (t-m*T) ;
s$2xx5 =82x5+v* (t-m*T) ;
s3xx5 =s3x5+v* (t-m*T) ;
s4xx5 =s4x5+v* (t-m*T) ;
else
end

if (m*T<=t) & (t<m*T+t61)
XX6 =xX6+v* (t-m*T) ;
slxx6 =slx6+v* (t-m*T) ;
S2xXX6 =S2xX6+Vv* (t-m*T) ;
S3xXx6 =s3x6+v* (t- m*T)
sdxx6 =s4x6+Vv* (t )
else

end

’

’

1if (m*T<=t) & (L<m*T+t71)
xX7 =XT7+v* (t-m*T) ;
s1lxx7 =slx7+v* (t-m*T)
S2xxX7T =82xT7+v* (t-m*T) ;
s3xx7 =s3xT7+Vv* (t-m*T) ;
sdxx7 =s4xXT7+v* (t-m*T)
else

end

’

’

if (m*T<=t) & (t<m*T+t81)
xXxx8 =x8+v* (t-m*T) ;
slxx8 =s1x8+v* (t-m*T

Iz

)
S2xx8 =82x8+Vv* (t-m*T) ;
s3xx8 =s3x8+v* (t-m*T) ;
s4xx8 =s4x8+v* (t-m*T) ;
else
end

if (m*T<=t) & (t<m*T+t91)
xxX9 =x9+v* (t-m*T) ;
s1xx9 =slx9+v* (t-m*T) ;
S2xXX9 =82xX94+v* (t-m*T) ;
s3xx9 =s3x9+v* (t-m*T)
s4xx9 =s4x9+v* (t-m*T)
else

end

’

’

if (m*T<=t) & (t<m*T+t101)
xx10 =x10+v* (t-m*T) ;
slxx10 =slx10+v* (t-m*T) ;
52xx10 =s2x10+v* (t-m*T) ;
s3xx10 =s3x10+v* (t-m*T) ;
s4xx10 =s4x10+v* (t-m*T)
else

end

’

if (m*T<=t) & (t<m*T+t11l1)
xx11 =x11+v* (t-m*T) ;
slxx1l =slx11l4+v* (t-m*T);
s2xx11 =82x114+v* (t-m*T) ;
s3xx11l =s3x11+v* (t-m*T)
sd4xx11l =s4x11+v* (t-m*T)
else

end

’

’

1if (m*T<=t) & (L<m*T+t121)
xx12 =x124+v* (t-m*T) ;
s1xx12 =sl1x124+v* (t-m*T) ;
s2xxX12 =82x12+v* (t-m*T) ;
s3xx12 =s3x12+v* (t-m*T)
s4xx12 =s4x12+v* (t-m*T)
else

end

’

’

if (m*T<=t) & (t<m*T+t131)
xx13 =x13+v* (t-m*T) ;

slxx13 =slx13+v* (t-m*T) ;
$2xx13 =s52x13+v* (t-m*T) ;
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s3xx13 =s3x13+v* (t-m*T) ;
s4xx13 =s4x13+v* (t-m*T) ;
else
end

1f (m*T<=t) & (t<m*T+t141)
xx14 =x144+v* (t-m*T) ;
slxx1l4 =slx1l4+v* (t-m*T)
s2xx14 =s2x14+v* (t-m*T) ;
s3xx14 =s3x14+v* (t-m*T) ;
sdxx14 =s4x14+v* (t-m*T)
else

end

I

’

1if (m*T<=t) & (t<m*T+t151)
xxX15 =x15+v* (t-m*T) ;
s1xx15 =s1x15+v* (t-m*T)
s2xx15 =82x15+v* (t-m*T) ;
s3xx15 =s3x15+v* (t-m*T) ;
s4xx15 =s84x15+v* (t-m*T)
else

end

I

’

1if (m*T<=t) & (t<m*T+tl61)
xx16 =x16+v* (t-m*T) ;
slxx16 =slxl6+v* (t-m*T);
s2xx16 =s2x16+v* (t-m*T) ;
s3xx16 =s3x16+v* (t-m*T)
s4xx16 =s4x16+v* (t-m*T)
else

end

’

’

if (m*T<=t) & (t<m*T+t171)
xx17 =x174+v* (t-m*T) ;
slxx17 =sl1x17+v* (t-m*T);
s2xx17 =s82x17+v* (t-m*T) ;
s3xx17 =s83x17+v* (t-m*T) ;
sdxx17 =s4x17+v* (t-m*T)
else

end

’

if (m*T<=t) & (t<m*T+t181)
xx18 =x18+v* (t-m*T) ;
slxx18 =slx18+v* (t-m*T);
s2xx18 =s2x18+v* (t-m*T) ;
s3xx18 =s3x18+v* (t-m*T)
s4xx18 =s4x18+v* (t-m*T)
else

end

’

’

1if (m*T<=t) & (L<m*T+t191)
xx19 =x19+v* (t-m*T) ;
s1xx19 =sl1lx19+v* (t-m*T)
s2xx19 =s2x19+v* (t-m*T) ;
s3xx19 =s3x19+v* (t-m*T) ;
s4xx19 =s4x19+v* (t-m*T)
else

end

’

’

1if (m*T<=t) & (t<m*T+t201)
xx20 =x20+v* (t-m*T) ;
s1lxx20 =sl1lx20+v* (t-m*T) ;
52xx20 =s52x20+Vv* (t-m*T) ;
s3xx20 =s3x20+v* (t-m*T) ;
s54xx20 =s4x20+v* (t-m*T)
else

end

’

if
(m1*T<=tt) & (tt<ml*T+tll)
xxx1 =wxl+v* (tt-ml*T);
slxxxl =slwxl+v* (tt-
ml*T) ;

s2xxxl =s2wxl+v* (tt-
ml*T) ;

s3xxx1l =s3wxl+v* (tt-
ml*T) ;

else

end

if
(m1*T<=tt) & (tt<ml*T+t21)
XXX2 =WX2+v* (tt-ml*T);
slxxx2 =slwx2+v* (tt-
ml*T) ;

S2XXX2 =S2wWwx2+Vv* (tt-
ml*T) ;

s3xxx2 =s3wx2+Vv* (tt-
ml*T) ;

else

end

o

if

(ml*T<=tt) & (tt<ml*T+t31)
xXxx3 =wx3+v* (tt-ml1*T) ;
slxxx3 =slwx3+v* (tt-
ml*T) ;

S$2xxx3 =s2wx3+v* (tt-
ml*T) ;

s3xxx3 =s3wx3+v* (tt-
ml*T) ;

else

end

if
(m1*T<=tt) & (tt<ml*T+t4l)
xXX4 =wx4+v* (tt-ml*T) ;
slxxx4 =slwx4+v* (tt-
ml*T);

s2xxx4 =s2wx4+v* (tt-
ml*T) ;

s3xxx4 =s3wx4+v* (tt-
ml*T) ;

else

end
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if
(m1*T<=tt) & (tt<ml*T+t51)
XXX5 =wxb+v* (tt-ml*T) ;
slxxx5 =slwx5+v* (tt-
ml*T) ;

S2xxxX5 =s2wx5+v* (tt-
ml*T);

s3xxx5 =s3wx5+v* (tt-
ml*T) ;

else

end

if
(m1*T<=tt) & (tt<ml*T+tol)
XXX6 =wx6+v* (tt-ml*T);
slxxx6=slwx6+v* (tt-ml1*T) ;
S2XXX6 =S2WX6+Vv* (tt-
ml*T) ;

s3xxx6 =s3wx6+v* (tt-
ml*T) ;

else

end

if
(m1*T<=tt) & (tt<ml*T+t71)
XXXT =wxT7+v* (tt-ml*T) ;
slxxx7 =slwx7+v* (tt-
ml*T) ;

S2xXxXT =s2wxT+v* (tt-
ml*T) ;

s3xxx7 =s3wx7+v* (tt-
ml~*T);

else

end

if

(m1*T<=tt) & (tt<ml*T+t81)
XxxX8 =wx8+v* (tt-ml1*T) ;
slxxx8 =slwx8+v* (tt-
ml~*T);

s2xxx8 =s2wx8+v* (tt-
ml*T) ;

s3xxx8 =s3wx8+v* (tt-
ml*T);

else

end

if
(m1*T<=tt) & (tt<ml*T+t91)
xXxx9 =wx9+v* (tt-ml1*T);
s1lxxx9 =slwx9+v* (tt-
ml*T);

S2xxXx9 =s2wx9+v* (tt-
ml*T) ;

S3xxx9=s3wx9+v* (tt-ml*T) ;
else

end

if
(m1*T<=tt) & (tt<ml*T+t101)
xxx10 =wx1l0+v* (tt-ml*T) ;
slxxx10 =slwxl0+v* (tt-
ml*T) ;

$2xxx10 =s2wx10+v* (tt-
ml*T) ;

s3xxx10 =s3wx10+v* (tt-
ml*T) ;

else

end

if
(m1*T<=tt) & (tt<ml*T+tl1ll1l)
xxx11l =wx1ll+v* (tt-ml1*T);
slxxxll =slwxll+v* (tt-
ml*T) ;

s2xxx11l =s2wxll+v* (tt-
ml*T) ;

s3xxx11l =s3wx1ll+v* (tt-
ml*T) ;

else

end

if
(ml1*T<=tt) & (tt<ml*T+t121)
xxx12 =wx12+v* (tt-ml1*T);
slxxx12 =slwx12+v* (tt-
ml*T) ;

S2xxx12 =s2wx12+v* (tt-
ml*T) ;

s3xxx12 =s3wx12+v* (tt-
ml*T) ;

else

end

if
(m1*T<=tt) & (tt<ml*T+tl131)
xxx13 =wx13+v* (tt-ml1*T) ;
slxxx13 =slwx13+v* (tt-
ml*T) ;

S2xxx13 =s2wx13+v* (tt-
ml*T);

s3xxx13 =s3wx13+v* (tt-
ml*T) ;

else

end

if
(m1*T<=tt) & (tt<ml*T+t1l41)
xxx14 =wx1l4+v* (tt-ml1*T) ;
slxxx1l4 =slwxl4+v* (tt-
ml*T) ;

s2xxx14 =s2wxl4d+v* (tt-
ml*T);

s3xxx14 =s3wxld+v* (tt-
ml*T) ;

else
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end

if
(m1*T<=tt) & (tt<ml*T+t151)
xxx15 =wx15+v* (tt-ml1*T) ;
slxxx1l5 =slwxl5+v* (tt-
ml*T) ;

S$2xxx15 =s2wx15+v* (tt-
ml*T);

s3xxx15 =s3wx15+v* (tt-
ml*T);

else

end

if
(m1*T<=tt) & (tt<ml*T+tlo6l)
xxx16 =wxl6+v* (tt-ml1*T) ;
slxxxl6 =slwxl6+v* (tt-
ml*T) ;

$2xxx16 =s2wx16+v* (tt-
ml*T) ;

s3xxx16 =s3wxl6+v* (tt-
ml*T) ;

else

end

if
(ml1*T<=tt) & (tt<ml*T+t171)
xxx17 =wx1l7+v* (tt-ml1*T);
slxxx1l7 =slwxl7+v* (tt-
ml*T);

$2xxx17 =s2wx17+v* (tt-
ml*T) ;

s3xxx17 =s3wx17+v* (tt-
ml*T);

else

end

if
(m1*T<=tt) & (tt<ml*T+t181)
xxx18 =wx18+v* (tt-ml*T);
slxxx18 =slwx18+v* (tt-
ml*T) ;

s52xxx18 =s2wx18+v* (tt-—
ml*T);

s3xxx18 =s3wx18+v* (tt-
ml*T);

else

end

if
(ml*T<=tt) & (tt<ml*T+t191)
xxx19 =wx194+v* (tt-ml*T) ;
slxxx19 =slwx19+v* (tt-
ml*T) ;

52xxx19 =s2wx19+v* (tt-
ml*T) ;

s3xxx19 =s3wx19+v* (tt-
ml*T);

else
end

if
(m1*T<=tt) & (tt<ml*T+t201)
xxx20 =wx20+v* (tt-ml*T) ;
slxxx20 =slwx20+v* (tt-
ml*T) ;

$2xxx20 =s2wx20+v* (tt-
ml*T) ;

s3xxx20 =s3wx20+v* (tt-
ml*T) ;

o

[

% 20 tmhma kinisis

o

o©

f
(m*T+tll<=t) & (t<m*T+tll+t
12)

xx1 =x00+2+v* (t-tl1ll-m*T) ;
slxxl =sl1x00+24+v* (t-tll-
m*T) ;

s2xx1l =s2x00+2+v* (t-tll-
m*T) ;

s3xx1l =s3x00+2+v* (t-tll-
m*T) ;

sdxxl =s4x00+2+v* (t-tll-
m*T) ;

else

end

-

if
(M*T+t21<=t) & (E<m*T+t21+t
22)

xx2 =x00+2+v* (t-t21-m*T) ;
slxx2 =sl1x00+24+v* (t-t21-
m*T) ;

s52xx2 =s2x004+2+v* (t-t21-
m*T) ;

s3xx2 =s3x00+2+v* (t-t21-
m*T) ;

s4xx2 =s4x004+2+v* (t-t21-
m*T) ;

else

end

if
(m*T+t31<=t) & (t<m*T+t 31+t
32)

xx3 =x00+2+v* (t-t31-m*T) ;
slxx3 =s1x004+2+v* (t-t31-
m*T) ;
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s2xx3 =s2x004+24+v* (t-t31-
m*T) ;

s3xx3 =s3x004+24+v* (t-t31-
m*T) ;

s4xx3 =s4x00+2+v* (t-t31-
m*T) ;

else

end

if
(m*T+tdl<=t) & (t<m*T+t41l+t
42)

xx4 =x00+2+v* (t-t41l-m*T) ;
slxx4 =s1x00+2+v* (t-tdl-
m*T) ;

s2xx4 =s2x00+2+v* (t-tdl-
m*T) ;

s3xx4 =s3x00+2+v* (t-tdl-
m*T) ;

sdxx4 =s4x004+2+v* (t-t4dl-
m*T) ;

else

end

if
(mM*T+t51<=t) & (L<m*T+t51+t
52)

xx5 =x00+2+v* (£t-t51-m*T) ;
slxx5 =s1x00+2+v* (t-t51-
m*T) ;

s2xx5 =s2x004+2+v* (t-t51-
m*T) ;

s3xx5 =s3x004+2+v* (t-t51-
m*T) ;

if (m*T+t81l<=t) & (t<m*T+t81+t82)

xx8 =x00+2+v* (t-t81-m*T) ;

slxx8 =s1x004+24+v* (£t-t81l-m*T

$2xx8 =s2x004+24+v* (£t-t81l-m*T
s3xx8 =s3x00+2+v* (£t-t81-m*T
s4xx8 =s4x004+24+v* (t-t81-m*T
else
end

if (M*T+t91l<=t) & (E<m*T+t91+t92)

xx9 =x00+2+v* (t-t91-m*T) ;
slxx9 =s1x004+24+v* (t-t91-
m*T) ;
s2xx9 =s2x004+24+v* (t-t91-
m*T) ;
s3xx9 =s3x00+2+v* (t-t91-
m*T) ;
s4xx9 =s4x004+24+v* (t-t91-
m*T) ;
else

)
)
)
)

’
’

I

I

s4xx5 =s4x00+2+v* (t-t51-
m*T) ;

else

end

if
(m*T+to6l<=t) & (t<m*T+to6l+t
62)

xx6 =x00+2+v* (t-t6l-m*T) ;
slxx6 =s1x00+2+v* (t-tol-
m*T) ;

s52xx6 =s2x004+2+v* (t-to6l-
m*T) ;

s3xx6 =s3x00+2+v* (t-tol-
m*T) ;

sdxx6 =s4x00+2+v* (t-tol-
m*T) ;

else

end

if
(mM*T+t71<=t) & (Et<m*T+t71+t
72)

xx7 =x00+2+v* (t-t71-m*T) ;
slxx7 =s1x00+2+v* (t-t71-
m*T) ;

s2xxX7 =s2x00+24+v* (t-t71-
m*T) ;

s3xx7 =s3x00+2+v* (t-t71-
m*T) ;

sdxx7 =s4x00+24+v* (t-t71-
m*T) ;

else

end

end

if
(m*T+t101<=t) & (t<m*T+t101
+t102)

xx10 =x00+2+v* (t-t101-
m*T) ;
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slxx10 =sl1x00+2+v* (t- if

t101-m*T) ; (m*T+tl41<=t) & (t<m*T+t141

s2xx10 =s2x00+2+v* (t- +t142)

£t101-m*T) ; xx14 =x004+2+v* (t-t1l41-

s3xx10 =s3x00+2+v* (t- m*T) ;

t101-m*T) ; slxx1l4 =sl1lx00+2+v* (t-

sdxx10 =s4x00+24+v* (t- t141-m*T) ;

t101-m*T) ; s2xx14 =s2x00+2+v* (t-

else t141-m*T) ;

end s3xx14 =s3x00+2+v* (t-
t141-m*T) ;

if sd4xx14 =s4x00+2+v* (t-

(M*T+t111<=t) & (t<m*T+t111 t141-m*T);

+t112) else

xx11 =x00+2+v* (t-t111- end

m*T) ;

slxx1ll =sl1x00+2+v* (t- if

tl111l-m*T); (m*T+t151<=t) & (t<m*T+t151

s2xx11l =s2x00+24+v* (t- +t152)

t111-m*T) ; xx15 =x00+2+v* (t-tl151-

s3xx1l =s3x00+2+v* (t- m*T) ;

tl111l-m*T); slxx15 =s1x00+2+v* (t-

sd4xx1l =s4x004+2+v* (t- t151-m*T) ;

t111-m*T) ; s52xx15 =s52x00+2+v* (t-

else t151-m*T) ;

end s3xx15 =s83x00+2+v* (t-
t151-m*T) ;

if sd4xx15 =s4x00+2+v* (t-

(M*T+t121<=t) & (t<m*T+t121 t151-m*T);

+t122) else

xx12 =x00+2+v* (t-t121- end

m*T) ;

slxx12 =sl1x00+2+v* (t-

£t121-m*T); if

s2xx12 =s2x00+2+v* (t- (M*T+t161<=t) & (E<m*T+t161

t121-m*T) ; +£162)

s3xx12  =s3x00+2+v* (t- xx16 =x00+2+v* (t-t161-

t121-m*T) ; m*T) ;

sd4xx12 =s4x00+2+v* (t- s1xx16 =s1x00+2+v* (t-

t121-m*T) ; £161-m*T) ;

else s2xx16 =s2x00+2+v* (t-

end t161-m*T) ;
s3xx16 =s3x00+2+v* (t-

if t161-m*T) ;

(m*T+t131<=t) & (t<m*T+t131 sdxx16 =s4x00+2+v* (t-

+t132) t161-m*T) ;

xx13 =x00+24+v* (t-tl131- exl6=2+v* (t-tl6l-m*T) ;

m*T) ; else

slxx13 =sl1x00+2+v* (t- end

t131-m*T) ;

s2xx13 =s52x00+2+v* (t- if

t131-m*T); (M*T+t171<=t) & (t<m*T+t171

s3xx13 =s3x00+2+v* (t- +£172)

t131-m*T); xx17 =x00+2+v* (t-t171-

s4xx13 =s4x00+2+v* (t- m*T) ;

t131-m*T) ; s1xx17 =s1x00+2+v* (t-

else t171-m*T) ;

end s2xx17 =52x00+2+v* (t-
t171-m*T) ;
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s3xx17 =s3x00+24+v* (t-

t1l71-m*T) ;

sdxx17 =s4x00+24+v* (t-
tl171-m*T) ;

else

end

if
(m*T+t181<=t) & (t<m*T+t181
+t182)

xx18 =x00+24+v* (t-tl1l81-
m*T) ;

slxx18 =sl1lx00+2+v* (t-
t181-m*T) ;

s2xx18 =s52x00+2+Vv* (t-
t181-m*T) ;

s3xx18 =s3x00+2+v* (t-
t181-m*T) ;

s4xx18 =s4x00+2+v* (t-
t181-m*T) ;

else

end

if
(m*T+t191<=t) & (t<m*T+t191
+t192)

xx19 =x00+24+v* (t-tl191-
m*T) ;

s1lxx19 =s1x00+2+v* (t-
£t191-m*T) ;

s$2xx19 =s2x00+2+Vv* (t-
t191-m*T) ;

s3xx19 =s3x00+2+v* (t-
£t191-m*T) ;

s4xx19 =s4x00+2+v* (t-
t191-m*T) ;

else

end

if
(m*T+t201<=t) & (t<m*T+t201
+t202)

xx20 =x00+24+v* (t-t201-
m*T) ;

slxx20 =sl1x00+2+v* (t-
£t201-m*T) ;

s2xx20 =s2x00+2+Vv* (t-
£t201-m*T) ;

s3xx20 =s3x00+2+v* (t-
£t201-m*T) ;

s4xx20 =s4x00+2+v* (t-
£t201-m*T) ;

else

end

if
(m1*T+tll<=tt) & (tt<ml*T+t
11+t12)

xxx1l =wx00+2+v* (tt-tll-
ml*T) ;

slxxxl =slwx00+24+v* (tt-
tll-ml1*T);

s2xxxl =s2wx00+24+v* (tt-
tll-ml1*T);

s3xxx1l =s3wx00+2+v* (tt-
tll-ml1*T);

else

end

if
(m1*T+t21<=tt) & (Lt<ml*T+t
21+t22)

xxx2 =wx00+2+v* (tt-t21-
ml*T) ;

slxxx?2 =slwx00+24+v* (tt-
t21-m1*T) ;

$2xxx2 =s2wx00+2+v* (tt-
t21-m1*T) ;

s3xxx2 =s3wx00+24+v* (tt-
t21-m1*T) ;

else

end

if
(M1*T+t31<=tt) & (tt<ml*T+t
31+t32)

xxx3 =wx00+2+v* (tt-t31-
ml*T) ;

slxxx3 =slwx00+2+v* (tt-

£31-ml*T) ;

s2xxx3 =s2wx00+2+v* (tt-
t31-ml1*T) ;

s3xxx3 =s3wx00+2+v* (tt-
£31-ml*T) ;

else

end

if
(m1*T+t4l<=tt) & (tt<ml*T+t
41+t42)

xxx4 =wx00+2+v* (tt-t4l-
ml*T) ;

slxxx4 =slwx00+24+v* (tt-
t41-m1*T) ;

s2xxx4 =s2wx00+2+v* (tt-
t41-ml1*T) ;

s3xxx4 =s3wx00+24+v* (tt-
t41-m1*T) ;

else

end

if

(m1*T+t51<=tt) & (tt<ml*T+t
51+t52)
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xxx5 =wx00+2+v* (tt-t51-

ml*T);

slxxx5 =slwx00+2+v* (tt-
t51-m1*T) ;

s2xxx5 =s2wx00+2+v* (tt-
t51-m1*T) ;

s3xxx5 =s3wx00+2+v* (tt-
t51-m1*T) ;

else

end

if

(m1*T+t6l<=tt) & (tt<ml*T+t
61+t62)
xxx6 =wx00+2+v* (tt-t6l-

ml*T) ;

slxxx6 =slwx00+2+v* (tt-
t6l-ml*T);

52xxx6 =s2wx00+2+v* (tt-
tol-ml*T);

s3xxx6 =s3wx00+2+v* (tt-
t6l-ml1*T) ;

else

end

if

(M1*T+t71<=tt) & (tt<ml*T+t
T71+t72)
xxx7 =wx00+2+v* (tt-t71-

ml*T);

slxxx7 =slwx00+2+v* (tt-
t71-m1*T) ;

s$2xxx7T =s2wx00+2+v* (tt-
t71-m1*T);

s3xxx7 =s3wx00+2+v* (tt-
t71-m1*T) ;

else

end

if

(m1*T+t8l<=tt) & (tt<ml*T+t
81+t82)
xxx8 =wx00+2+v* (tt-t81-

ml*T) ;

slxxx8 =slwx00+2+v* (tt-
t81-ml1*T) ;

s2xxx8 =s2wx00+2+v* (tt-
£t81l-ml1*T) ;

s3xxx8 =s3wx00+2+v* (tt-
£t81-ml1*T);

else

end

if

(m1*T+t91<=tt) & (tt<ml*T+t
91+t92)

xxx9 =wx00+2+v* (tt-t91-
ml*T) ;

slxxx9 =slwx00+24+v* (tt-
£t91-ml1*T) ;

52xxx9 =s2wx00+2+v* (tt-
t91-ml1*T) ;

s3xxx9 =s3wx00+24+v* (tt-
t91-ml1*T) ;

else

end

if
(m1*T+t101l<=tt) & (tt<ml*T+
£101+t102)

xxx10 =wx00+2+v* (tt-t101-
ml*T) ;

slxxx10 =sl1lwx00+2+v* (tt-
t101-ml1*T) ;

$2xxx10 =s2wx00+2+v* (tt-
t101-ml1*T) ;

s3xxx10 =s3wx00+2+Vv* (tt-
t101-ml1*T) ;

else

end

if
(m1*T+tl1ll<=tt) & (Lt<ml*T+
t111+t112)

xxx1l =wx00+2+v* (tt-tl1lll-
ml*T) ;

slxxx1ll =slwxQ00+2+v* (tt-
t111-ml*T) ;

s2xxx11 =s2wx00+2+v* (tt-
t111-ml1*T) ;

s3xxx1l =s3wx00+2+v* (tt-
t111-ml1*T) ;

else

end

if
(M1*T+t121<=tt) & (tt<ml*T+
t121+t122)

xxx12 =wx00+2+v* (tt-tl21-
ml*T) ;

slxxx12 =slwx00+2+v* (tt-
t121-ml1*T) ;

s52xxx12 =s2wx00+2+v* (tt-
t121-ml1*T) ;

s3xxx12 =s3wx00+2+v* (tt-
t121-ml1*T) ;

else

end

if
(m1*T+t131<=tt) & (Lt<ml*T+
t131+t132)

xxx13 =wx00+2+v* (tt-t131-
ml*T) ;
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slxxx13 =slwx00+2+v* (tt-
t131-ml1*T) ;

s2xxx13 =s2wx00+2+v* (tt-
t131-ml1*T) ;

s3xxx13 =s3wx00+2+v* (tt-
t131-ml1*T) ;

else

end

if
(m1*T+tl41<=tt) & (tt<ml*T+
t141+t142)

xxx14 =wx00+2+v* (tt-t141-
ml*T);

slxxx1l4d =slwx00+2+v* (tt-
t141-ml1*T) ;

s2xxx14 =s2wx00+2+v* (tt-
t141-ml1*T) ;

s3xxx14 =s3wx00+2+v* (tt-
t141-ml1*T) ;

else

end

if
(M1*T+t151<=tt) & (tt<ml*T+
t151+t152)

xxXxx15 =wx00+2+v* (t-tl51-
ml*T) ;

slxxx1l5 =s1lwx00+2+v* (tt-
t151-ml1*T) ;

$2xxx15 =s2wx00+2+v* (tt-
t151-ml1*T) ;

s3xxx15 =s3wx00+2+v* (tt-
t151-ml1*T) ;

else

end

if
(Ml*T+t161<=tt) & (tt<ml*T+
tl6l+tl62)

xxx16 =wx00+2+v* (tt-tlo6l-
ml*T) ;

slxxx1l6 =slwx00+2+v* (tt-
t161-ml1*T);

s2xxx16 =s2wx00+2+v* (tt-
t161-ml1*T);

s3xxx16 =s3wx00+2+v* (tt-
t161-ml1*T) ;

else

end

if
(m1*T+tl71<=tt) & (tt<ml*T+
t171+t172)

xxx17 =wx00+2+v* (tt-tl171-
ml*T) ;

slxxx1l7 =slwx00+2+v* (tt-
t171-ml1*T) ;

s2xxx17 =s2wx00+2+v* (tt-
t171-ml1*T) ;

s3xxx17 =s3wx00+2+v* (tt-
t171-ml1*T) ;

else

end

if
(m1*T+t181<=tt) & (tt<ml*T+
£181+t182)

xxx18 =wx00+2+v* (tt-t181-
ml*T) ;

slxxx18 =slwx00+2+v* (tt-
t181-ml1*T) ;

s52xxx18 =s2wx00+2+v* (tt-
£181-ml1*T) ;

s3xxx18 =s3wx00+2+v* (tt-
£181-ml1*T) ;

else

end

if
(m1*T+t191<=tt) & (Lt<ml*T+
£191+t192)

xxx19 =wx00+2+v* (tt-t191-
ml*T) ;

s1lxxx19 =slwxQ00+2+v* (tt-
£191-ml1*T) ;

s52xxx19 =s2wx00+2+v* (tt-
t191-ml1*T) ;

s3xxx19 =s3wx00+2+v* (tt-
£191-ml1*T) ;

else

end

if

(m1*T+t201<=tt) & (Lt<ml*T+
£t201+t202)

xxx20 =wx00+2+v* (tt-t201-
ml*T) ;

s1xxx20 =slwxQ00+2+v* (tt-
t201-ml1*T) ;

52xxx20 =s2wx00+2+v* (tt-
£t201-ml1*T) ;

s3xxx20 =s3wx00+2+v* (tt-
£t201-ml1*T) ;

else

end

o o

fill (ypovx, ypovy, [0.9
0.9 0.91 ,...

basxl, basyl, [0.76 0.36
0] ,...

basbxl, basbyl, [0.6 0.2
01 ,...

bascxl, bascyl, [0.8 0.4
0] ,...

basx2, basy2, [0.76 0.36
01 ,...

107



[Ttuxlakn epyacio s Mapiag ABavaciov 2017
basbx2, basby2, [((0.6- s2xx4, s2y4, [0.4 0.8
0.9)*t/tol)+0.9 0.41,...
(0.2/tol)*t 0] ,... s3xx4, s3y4, [0.5 0.85
bascx2, bascy2, [0.8 0.4 0.51,...
0] PR sdxx4, sdy4, [0.6 0.9
xx1, yl, [0.2 0.7 0.61,...
0.21,... xxx4, wy4, [0.8 0 O], ...
slxxl, slyl, [0.3 0.75 slxxx4, slwy4, [0.9 0.2
0.3]1,... 0.2],...
s2xxl, s2yl, [0.4 0.8 s2xxx4, sz2wy4, [1 0.4
0.47,... 0.41,...
s3xx1l, s3yl, [0.5 0.85 s3xxx4, s3wy4, [1 0.7
0.5],... 0.71, ...
sdxx1l, s4dyl, [0.6 0.9 xx5, y5, [0.2 0.7
0.6],... 0.2],...
xxx1, wyl, [0.8 0 O],... slxx5, sly5, [0.3 0.75
slxxxl, slwyl, [0.9 0.2 0.31,...
0.2],... s2xx5, s2y5, [0.4 0.8
s2xxx1l, s2wyl, [1 0.4 0.471, ...
0.471, ... s3xx5, s3y5, [0.5 0.85
s3xxxl, s3wyl, [1 0.7 0.51,...
0.71, ... sdxx5, s4y5, [0.6 0.9
xx2, y2, [0.2 0.7 0.6],...
0.21,... xxx5, wy5, [0.8 0 0],...
slxx2, sly2, [0.3 0.75 slxxx5, slwy5, [0.9 0.2
0.3]1,... 0.2],...
s2xx2, s2y2, [0.4 0.8 s2xxx5, s2wy5, [1 0.4
0.47,... 0.41,...
s3xx2, s3y2, [0.5 0.85 s3xxx5, s3wy5, [1 0.7
0.5],... 0.71,...
sdxx2, s4dy2, [0.6 0.9 xx6, y6, [0.2 0.7
0.6],... 0.2],...
xxx2, wy2, [0.8 0 O0],... slxx6, sly6, [0.3 0.75
slxxx2, slwy2, [0.9 0.2 0.31,...
0.2],... s2xx6, s2y6, [0.4 0.8
s2xxx2, s2wy2, [1 0.4 0.471, ...
0.47,... s3xx6, s3y6, [0.5 0.85
s3xxx2, s3wy2, [1 0.7 0.51,...
0.71, ... sd4xx6, sdy6, [0.6 0.9
xx3, y3, [0.2 0.7 0.6],...
0.21,... xxx6, wy6, [0.8 0 O0],...
slxx3, sly3, [0.3 0.75 slxxx6, slwy6, [0.9 0.2
0.31,... 0.2],...
s2xx3, s2y3, [0.4 0.8 S2xxXxX6, s2wy6, [1 0.4
0.47,... 0.41,...
s3xx3, s3y3, [0.5 0.85 s3xxx6, s3wy6, [1 0.7
0.5],... 0.71, ...
sd4xx3, s4y3, [0.6 0.9 xx7, y7, [0.2 0.7
0.6],... 0.2],...
xxx3, wy3, [0.8 0 0],... slxx7, sly7, [0.3 0.75
slxxx3, slwy3, [0.9 0.2 0.31,...
0.21,... s2xx1, s2y7, [0.4 0.8
s2xxx3, s2wy3, [1 0.4 0.471, ...
0.471, ... s3xx7, s3y7, [0.5 0.85
s3xxx3, s3wy3, [1 0.7 0.51,...
0.71, ... sdxx7, s4dy7, [0.6 0.9
xx4, y4, [0.2 0.7 0.6],...
0.21,... xxx7, wy7, [0.8 0 0],...
slxx4, sly4, [0.3 0.75 slxxx7, slwy7, [0.9 0.2
0.31,... 0.2],...
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s2xxx7, s2wy7, [1 0.

0.41,...

s3xxx7, s3wy7, [1 0.

0.71, ...

xx8, y8, [0.2 0.7
0.21,...

slxx8, sly8, [0.3
0.31,...

s2xx8, s2y8, [0.4
0.471,...

s3xx8, s3y8, [0.5
0.51,...

s4xx8, s4y8, [0.6
0.61,...

.75

.85

xxx8, wy8, [0.8 0 0],...

slxxx8, slwy8, [0.9
0.2],...

s2xxx8, s2wy8, [1 0.

0.47,...

s3xxx8, s3wy8, [1 0.

0.71, ...

xx9, v9, [0.2 0.7
0.2],...

slxx9, sly9, [0.3
0.3]1,...

s2xx9, s2y9, [0.4
0.47,...

s3xx9, s3y9, [0.5
0.5],...

s4xx9, s4y9, [0.6
0.61,...

.75

.85

xxx9, wy9, [0.8 0 O0],...

slxxx9, slwy9, [0.9
0.2],...

s2xxx9, s2wy9, [1 0.

0.4],...

s3xxx9, s3wy9, [1 0.

0.71,...

xx10, yl10, [0.2 0.

0.2],...

slxx10, slyl0, [0.3
0.75 0.3],...
s2xx10, s2yl10, [0.4
0.41,...

s3xx10, s3yl1l0, [0.5
0.85 0.51,...
s4xx10, s4yl0, [0.6
0.61,...

xxx10, wyl0, [0.8 O
01,...

slxxx10, slwylO, [O.

0.2],...
s2xxx10, s2wylO, [1
0.47,...
s3xxx10, s3wylO0, [1
0.71,...

xx11, yl1, [0.2 0.

0.21,...
slxx1ll, slyll, [0.3
0.75 0.31,...

s2xx11,
0.41,...
s3xx11,
0.85 0
sdxx11,
0.6],...

s2yll, [0.4

s3yll, [0.5

.51, ...

sd4yll, [0.6

xxx11, wyll, [0.8 O

0],...

slxxx1l,
0.2],...
s2xxx11,
0.4],...
s3xxx11,
0.7],...

slwyll, [O.
s2wyll, [1

s3wyll, [1

xx12, yl2, [0.2 0.

0.2]1,...
slxx12,
0.75 0
s2xx12,
0.4],...
s3xx12,
0.85 0
sdxx12,
0.6],...

slyl2, [0.3

31, ...

s2yl2, [0.4

s3yl2, [0.5

.51, ...

sdyl2, [0.6

xxx12, wyl2, [0.8 O

0],...

slxxx12,
0.2],...
s2xxx12,
0.4],...
s3xxx12,
0.71, ...

slwyl2, [O.
s2wyl2, [1

s3wyl2, [1

xx13, yl13, [0.2 0.

0.2],...
slxx13,
0.75 0
s2xx13,
0.41, ...
s3xx13,
0.85 0
sdxx13,
0.6],...

slyl3, [0.3

31, ...

s2yl3, [0.4

s3y13, [0.5

5], ...

sd4yl3, [0.6

xxx13, wyl3, [0.8 O

0],...

slxxx13,
0.2],...
s2xxx13,
0.41,...
s3xxx13,
0.71,...

slwyl3, [O.
s2wyl3, [1

s3wyl3, [1

xx14, vyl4, [0.2 0.

0.2],...
slxx14,
0.75 0
s2xx14,
0.41,...
s3xx14,
0.85 0
sdxx14,
0.6],...

slyl4, [0.3

31,0

s2yl4, [0.4

s3yl4, [0.5

.51, ...

sdyl4, [0.6
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xxx14, wyld4, [0.8 O
01, ...

slxxx1l4, slwyld, [O.

0.2],...
s2xxx14, s2wyl4d, [1
0.47,...
s3xxx14, s3wyld, [1
0.71, ...

xx15, yl15, [0.2 0.

0.2],...

slxx1l5, slyl5, [0.3
0.75 0.31,...
s2xx15, s2yl5, [0.4
0.4],...

s3xx15, s3yl5, [0.5
0.85 0.5],...
sd4xx15, s4yl5, [0.6
0.6],...

xxx15, wyl5, [0.8 O
01, ...

slxxx1l5, slwyl5, [O.

0.2],...
s2xxx15, s2wyl5, [1
0.47,...
s3xxx15, s3wyl5, [1
0.71, ...

xx1l6, yl6, [0.2 0.

0.21,...

slxxl6, slyle, [0.3
0.75 0.3],...
s2xxl6, s2yle, [0.4
0.471, ...

s3xx1l6, s3yle, [0.5
0.85 0.5],...
sd4xx16, s4dyle, [0.6
0.6],...

xxx16, wyl6e, [0.8 O
01, ...

slxxx1l6, slwyle, [O.

0.21,...
s2xxx16, s2wyle6, [1
0.47,...
s3xxx16, s3wyl6, [1
0.71, ...

xx17, yl17, [0.2 0.

0.21,...

slxx17, slyl7, [0.3
0.75 0.31,...
s2xx17, s2yl7, [0.4
0.41,...

s3xx17, s3yl7, [0.5
0.85 0.57,...
sdxx17, s4yl7, [0.6
0.61,...

xxx17, wyl7, [0.8 O
0l1,...

slxxx17, slwyl7, [0.9 O

0.2],...

s2xxx17, s2wyl7, [1 0.4

0.41,...

.2

s3xxx17, s3wyl7, [1 0.7

0.71, ...

xx18, yl18, [0.2 0.
0.2],...

s1lxx18, slyl8, [0.3
0.75 0.3]1,...

s2xx18, s2yl8, [0.4
0.41, ...

s3xx18, s3yl8, [0.5
0.85 0.57,...
s4xx18, s4yl8, [0.6
0.61,...

xxx18, wyl8, [0.8 O
0l1,...

slxxx18, slwyl8, [O.

0.2]1,...

s2xxx18, s2wyl8, [1
0.41,...

s3xxx18, s3wyl8, [1
0.71, ...

xxx19, wyl9, [0.8 O
0],...

slxxx19, slwyl9, [O.

0.2],...
s2xxx19, s2wyl9, [1
0.41,...
s3xxx19, s3wyl9, [1
0.71, ...

xx19, yl19, [0.2 0.

0.2],...

slxx19, slyl9, [0.3
0.75 0.3],...
s2xx19, s2yl19, [0.4
0.47,...

s3xx19, s3yl1l9, [0.5
0.85 0.5],...
sd4xx19, s4yl1l9, [0.6
0.6],...

xxx20, wy20, [0.8 O
0],...

slxxx20, slwy20, [O.

0.2],...
s2xxx20, s2wy20, [1
0.41,...
s3xxx20, s3wy20, [1
0.71, ...

xx20, y20, [0.2 0.

0.2],...

s1xx20, sly20, [0.3
0.75 0.3],...
s2xx20, s2y20, [0.4
0.4],...

s3xx20, s3y20, [0.5
0.85 0.5],...
s4xx20, s4y20, [0.6
0.6],...

xcl,ycl, [0.2 0.7
0.2],...
slxcl,slycl, [0.3
0.31,...

.75
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s2xcl,s2ycl, [0.4 0.8 s3ax5, s3ayy5, [0.8 1
0.41,... 0.81,...
s3xcl,s3ycl, [0.5 0.85 ax6, ayyé6, [0.5 0.8
0.5],... 0.5],...
sdxcl,s4dycl, [0.6 0.9 slax6, slayy6, [0.6 0.9
0.6]1,... 0.6]1,...
xna,yna, [0.8 0 0], ... s2ax6, s2ayy6, [0.7 0.95
slxna,slyna, [0.9 0.2 0.71, ...
0.21,... s3ax6, s3ayy6, [0.8 1
s2xna,s2yna, [1 0.4 0.81,...
0.471, ... ax7, ayy7, [0.5 0.8
s3xna, s3yna, [1 0.7 0.51,...
0.71, ... slax7, slayy7, [0.6 0.9
axl, ayyl, [0.5 0.8 0.61,...
0.51,... s2ax7, s2ayy7, [0.7 0.95
slaxl, slayyl, [0.6 0.9 0.71, ...
0.6],... s3ax7, s3ayy7, [0.8 1
s2axl, s2ayyl, [0.7 0.95 0.81,...
0.71, ... ax8, ayy8, [0.5 0.8
s3axl, s3ayyl, [0.8 1 0.571,...
0.8],... slax8, slayy8, [0.6 0.9
ax2, ayy2, [0.5 0.8 0.6]1,...
0.5],... s2ax8, s2ayy8, [0.7 0.95
slax2, slayy2, [0.6 0.9 0.71, ...
0.61,... s3ax8, s3ayy8, [0.8 1
s2ax2, s2ayy2, [0.7 0.95 0.81,...
0.71, ... ax9, ayy9, [0.5 0.8
s3ax2, s3ayy2, [0.8 1 0.51,...
0.81,... slax9, slayy9, [0.6 0.9
ax3, ayy3, [0.5 0.8 0.61,...
0.5],... s2ax9, s2ayy9, [0.7 0.95
slax3, slayy3, [0.6 0.9 0.71, ...
0.6],... s3ax9, s3ayy9, [0.8 1
s2ax3, s2ayy3, [0.7 0.95 0.81,...
0.71, ... ax10, ayyl0, [0.5 0.8
s3ax3, s3ayy3, [0.8 1 0.51,...
0.8],... slax10, slayylO, [0.6 0.9
ax4, ayy4, [0.5 0.8 0.6],...
0.51,... s2ax10, s2ayyl0, [0.7
slax4, slayy4, [0.6 0.9 0.95 0.7], ...
0.6],... s3ax10, s3ayyl0, [0.8 1
s2ax4, s2ayy4, [0.7 0.95 0.5],...
0.71, ... fysx, fysy , [0.5 0.8
s3ax4, s3ayy4, [0.8 1 0.51,...
0.8],... slfysx, slfysy , [0.6 0.9
ax5, ayyb, [0.5 0.8 0.61,...
0.51,... s2fysx, s2fysy , [0.7
slax5, slayy5, [0.6 0.9 0.95 0.7], ...
0.6],... s3fysx, s3fysy , [0.8 1
s2ax5, s2ayy5, [0.7 0.95 0.81,...
0.71, ...
'LineStyle', 'none')
axis([1.7 3.2 0.75 2.51);

axis off

text (1.9 ,
text (1.85 ,
text (2.95 ,
text (2.85 ,

2.35

—~ e~~~

4

2.27,
2.35,
2.27,

'+','"FontSize',20)

'ANOAOY ', '"FontSize',12)
'-','"FontSize',22)
'KAGOAOY ', '"FontSize',12)
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text (2.1 , 1.02, 'ToupatneoUue tnv kivnon t6viwv o & L&AUNX
XAwpLoUyxou vaTtplou', 'FontSize', 9)

text (2.1 , 0.95, 'Ta 6etir& LO6VTa TOoU Na éAxovial amd Tnv
k&Bodo', 'FontSize', 9)

text (2.1 , 0.88, '"Ta apvnilx& Lé6vIa tou Cl éAxovIial omd Tnv
&vodo', '"FontSize',9)

text (2.1 , 0.81, 'duocaAidecg Cl epopovilovial oO1Inv

&vodo', '"FontSize',9)

text (2.4 , 2.3, 'Na','FontSize',12)

text (2.4 , 2.405, 'Cl','FontSize',12)

text (2.45 , 2.315, '+','FontSize',10)

text (2.45 , 2.43, '-','FontSize',16)

text (2.4 , 2.21, 'duocaAideg xAwplou', 'FontSize',10)
pause (ryte)

end

set (handles.pushbuttonb, 'enable', 'on')
set (handles.pushbutton6, 'enable', 'on')

% —--- Executes on button press in pushbutton3.

function pushbutton3 Callback (hObject, eventdata, handles)

% hObject handle to pushbutton3 (see GCBO)

% eventdata reserved - to be defined in a future version of
MATLAB

$ handles structure with handles and user data (see GUIDATA)

global stam;

if (stam==0)

set (handles.pushbutton3, 'string', "Suvéyeia')
set (handles.pushbutton5, "enable', 'on")

set (handles.pushbutton6, 'enable', 'on'")
stam=1;

elseif (stam==1)

set (handles.pushbutton3, 'string', "ALaxkonn")
set (handles.pushbutton5, "enable', "off")

set (handles.pushbutton6, 'enable', '"off")
stam=0;

else

end

guidata (hObject, handles);

oe

--- Executes on button press in pushbutton4.

function pushbutton4 Callback (hObject, eventdata, handles)
% hObject handle to pushbutton4 (see GCBO)

% eventdata reserved - to be defined in a future version of
MATLAB

% % handles structure with handles and user data (see
GUIDATA)

% global suv;

global stam;

suv=get (handles.pushbutton4, 'value');

stam=0;

o° oo

o\

o° o° o

oe

Q

% —--- Executes on button press in pushbuttonb5.
function pushbutton5 Callback (hObject, eventdata, handles)
% hObject handle to pushbutton5 (see GCBO)
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[

% eventdata reserved - to be defined in a future version of
MATLAB

$ handles structure with handles and user data (see GUIDATA)
global ryt;

global status;

status=1;

axes (handles.axesl)

cla

clear ryt;

set (handles.editl, 'enable', 'on', 'string', '5");
set (handles.pushbutton2, 'enable', 'on')

guidata (hObject, handles);

% —--—- Executes on button press in pushbuttoné6.

function pushbutton6 Callback (hObject, eventdata, handles)

% hObject handle to pushbutton6 (see GCBO)

% eventdata reserved - to be defined in a future version of
MATLAB

$ handles structure with handles and user data (see GUIDATAR)

global status;

global stam;

hfin=questdlg ('Efodoc and 1o mpdypapuo; ') ;
switch hfin

case 'Yes'

stam=1;

status=1;

closereq;

end

% —--- Executes on button press in pushbutton?.

function pushbutton?7 Callback (hObject, eventdata, handles)

% hObject handle to pushbutton7 (see GCBO)

% eventdata reserved - to be defined in a future version of
MATLAB

% handles structure with handles and user data (see GUIDATA)
! help eik 3 18.pdf;
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